Xingye Avenue No.1, East 3rd Road
Panyu, GZ, GD China

¢ +86-186 2010 7348

‘ P24 sales@viloppneumatic.com

Vilop

Vilop Pneumatic Co,, ltd

Vilop is a professional manufacturer and exporter that is
concerned with the design, development and production
of pneumatic products. The company started in 2014
with one engineer, one computer one machine. Got in-
vested by the first client in the end of 2014. Now, we
have over 50 employees, boast an annual sales figure
that exceeds $3,000,000 and currently export 85% of our
production worldwide.

Aim to free hands, save labor, and achieve high efficient
automation, Vilop is chasing better quality, better func-
tion, better future.

Contact us, let’s get your machines automatic.

http://vilop.en.alibaba.com/




‘ I P24 sales@viloppneumatic.com

‘ Q Xingye Avenue No.1, East 3rd Road
Panyu, GZ, GD China

¢, *86-186 2010 7348

% o

), Catelog
click the "model" will be on the model page

DNC 3
DNV 8
ADN 12
TADN 17
DN 20
MA 26
MAC 31
MALC 34
TN 43
CXS 47
MGP 49
SC,SU 54
SDA 61
CQ2 69
TCQ2 87
MSQ 90
Grippers 94
4V100 96
4V200 100
4V300 105
4V400 110
GC 113
AL 115

Fittings 116 ;
A SERIES

USA-Standard cylinder




ISO9001:2008 C€

.

DNC50x150-CA DNC80x50-FA

DNCD80x50

DNC Series

Standard Cylinder
(Conforms to ISO15552 Standard)

IOrdering Code

DNC: IS0 15552 StandardBlank: Standard double acting acting
cylinder D: Double-shaft double

s, DDt
c\&-ﬁ—'ﬁ g ‘@ﬁ’ Sey

J: Doxlgble -shaft with adjustable
t

stroke > Y\’
P

*All DNC series standard cylinder with magnet.

I Specification

Bore (mm)

Operation

10: 10mm S: With magnet  Blank: Basic mountings JEL-30Rtype type

100: 100mm

20: 20mm Blank: Without  LB: Front and back mounting
30:30mm  Mmagnet \i

50: 50mm * Standard wire is 1 meter,

75: 75mm FA: Front mounting flange please order for other length
FB: Back mounting flange

CA: Back clevis
(Single earring)

CB: Back hinge

(Double earr?ng) i/i\

YB: Back hinge ™.

<

63
.Double Acting.

Working Medium

Air

Mountings

Basic FA FB CA CB LB YB

Operating Pressure Range

1~9.0 Kgf/cm?

Proof Pressure

13.5 Kgf/cm?

Operating Temperature Range

-20~70°C

Operating Speed Range

50 ~800mm/s

Cushion

Adjustable Cushion

Adjustable Cushion Stroke

Port Size

G3/8"




DNC Series Vitdh

Standard Cylinder P
(Conforms to ISO15552 Standard) VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Stroke

Allowable
Stroke

32 200 250 300 350 400 1000 2000
40 200 250 300 350 400 600 700 800 1200 2000
50 200 250 300 350 400 600 700 800 900 1000 1200 2000
63 200 250 300 350 400 600 700 800 900 1000 1500 2000
80 200 250 300 350 400 600 700 800 900 1000 1500 2000
200 250 300 350 400 600 700 800 900 1000 1500 2000
200 250 300 350 400 600 700 800 900 1000 1500 2000

Bore Standard Stroke Max. Stroke

I Internal Structure

Name Name

Piston rod Piston

Hexagon nut Y ring

Shaft seal Magnet

Front cover Anti-friction ring

Copper tube Barrel

Cushion adjust screw Back cover

Cushion seal Oring




DNC Series

15O9001:2008  C€ Standard Cylinder
(Conforms to ISO15552 Standard)

IOveraII Dimension

A+Stroke §
C+Stroke |
2-Cushion Adj-.':sting Screw 8-L Depth M
X

——

0
N

A1 +Strokex2
C+Stroke

B, E+Stroke
2-Cushion Adjpisting Screw 8-L Depth M
F J

-=lo

&

A2+Strokex2 Adjustable Stroke
C+Stroke B  _Storke  _ Z1+Adidstable Stroke
G 2-Cushion Adjusting Screw 8-L Depth M

N, Ey
He

2

P

I Dimension

Bore/ Symbol

32 142 M10x1.25
40 159 M12x1.25
50 175 M16x1.5
63 190 M16x1.5
80 214 M20x1.5
100 229 M20x1.5
125 277 M27x2

Y
46

Bore/ Symbol | M (0] |
32 12
40 12
50 12
63 12
80 15
15
20

Nl A NS N




DNC Series Vitdh

Standard Cylinder Accessory p
(Conforms to ISO15552 Standard) VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

LB Foot

IOveraII Dimension I Dimension

Bore/Symbol| 32 40 63 | 80 100 125
AA 32 36 50 63 71 90
AB 30 35 45 45 55 60
AC 32 36 50 63 75 90
AD 38 72 89
AE 45 52 75 95
AF 24 28 32 41 41
AG 11 8 13 14 16
AH 17 27
Al 4 6
AJ
AK 11
AL 12

AJ+Stroke

lOveraII Dimension

Bore/Symbol| 32 40
BA 30.3
BB 10 10
BC 45 52
BD 32 36
BE 80 90
BF 64 72
BH 6.5 6.5
AJ
AK 6.5 6.5
BP 7 9

T 38




DNC Series

1509001:2008 C€ Standard Cylinder Accessory
(Conforms to ISO15552 Standard)

IOveraII Dimension I Dimension CA H i n g e

Bore/Symbol| 32 | 40 | 50 | 63 | 80 | 100 | 125

S 45 52 65 76 94

T 32.5 38 465 72 89

RR 6.5 6.5 9 95 11

DB 34 41 54 65 83

DC 22 25 27 32 36

DD 10 11 13 16 16

BOEHS) DE 10 12 12 16 16
DQ 26 28 32 40 50

6.5 6.5 8.5 8.5
14 17 17 22 24

CB Hinge

Bore/symbol| 32 | 40 | so | 63 | 80 | 100 | 125

S 45 52 65 76 94
T 325 38 46.5 72 89
D 6.5 6.5 8.5 8.5
E 14 17 17 22 24 25
RR 6.5 6.5 9 9.5 11
. CB 34 41 54 65 83
DCEHD) CcC 22 25 27 32 36
cD 10 11 13 16 46
CE 10 12 12 16 16
CcP 26 28 32 40 50
CcT 45 52 60 70 90
53 60 68 78

YB Hinge

Bore/Symbol| 32 | 40 | 50 | 63 | 80 | 100 | 125

AH 32 36 45 50 63 71 90
H 8 10 12 12 14 15 20
Ccb 10 12 12 16 16 20 25
Gl 31 35 45 50 60 70 90
G2 18 22 30 35 40 50 60
G3 21 24 33 37 47 55 70
CB 26 28 32 40 50 60 70
K1 38 41 50 52 66 76 94
K2 51 54 65 67 86 96
S1 11 11 14 14 17 17 20
6.6 6.6 9 9 11 11 14
1.6 1.6 1.6 16 2.5 25 3.2
10 11 13 15 15 19




DNV Series ‘,’i’\®

Economical Cylinder |0|)
(Conforms to ISO15552 Standard) VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IFeatures

Economical DNV series cylinder features with the
same installation dimension as SI series, conforms to
ISO15552 standard. New design of profile and
structure, compact and energy saving.

IOrdering Code

DNV: Economical standard 25-1000 mm 10 10mm 'S: With magnet magnet “Blank: Basic mounting mounting JEL-30R type
cylinder _ 40 20: 20mm Blank: Without  LB: Front and back mounting
— 50 30:30mm _ Megnet \i ,
63 50: 50mm

DNVD: Double-shaft 80 W FA: Front mounting flange * Standard wire is 1 meter,
©100: 100mm FB: Back mounting flange please order for other length

125

DNVJ: Double-shaft (CA Black clgvis)

ith adjustable strok single earring
with adjustable s ro _e{_/&_t_ é
i

CB: Back hinge
(double earring)

. . . YB: Back hinge o~
% Please contact with VILOP for special requirements. é

X All DNV series with magnetic.

IInstaIIationaI Dimension IBarreI of DNV Cylinder

All the dimension of DNV series are the same
as SI series. Please consult SI series for
accessories and sensor switch for applications.




DNV Series

15O9001:2008  C€ Standard Cylinder
(Conforms to ISO15552 Standard)

IOveraII Dimension

A+Stroke §
C+Stroke |
2-Cushion Adj-.':sting Screw 8-L Depth M
X

——

0
N

A1 +Strokex2
C+Stroke

B, E+Stroke
2-Cushion Adjpisting Screw 8-L Depth M
F J

-=lo

&

A2+Strokex2 Adjustable Stroke
C+Stroke B | _Storke  _ Z1+Adjdstable Stroke
G 2-Cushion Adjusting Screw 8-L Depth M

N, Ey
H=

2

P

I Dimension

Bore/ Symbol

32 142 M10x1.25
40 159 M12x1.25
50 175 M16x1.5
63 190 M16x1.5
80 214 M20x1.5
100 229 M20x1.5
125 277 M27x2

Y
46

Bore/ Symbol | M (0] I
32 12
40 12
50 12
63 12
80 15
15
20

Nl A NS N



https://vilop.en.alibaba.com/

DNV Series

Standard Cylinder Accessory
(Conforms to ISO15552 Standard)

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

'Il--VIII/II/A

AF

AJ+Stroke

IOveraII Dimension

I Dimension

Bore/Symbol
AA

32
32

40
36

LB Foot

63 | 80 | 100 | 125
50 63 71 90

AB

30

35

45 45 55 60

AC

32

36

50 63 75 90

AD

38

72 89

AE

45

52

75 95

AF

24

28

32 41 41

AG

11

8

13 14 16

AH

17

27

Al

4

6

A)

AK

11

AL

12

Bore/Symbol
BA

32
30.3

40
353

BB

10

10

BC

45

52

BD

32

36

BE

80

90

BF

64

72

BH

6.5

6.5

AJ

AK

6.5

6.5

BP

7

9

T

38

10



https://vilop.en.alibaba.com/
https://vilop.en.alibaba.com/

ISO9001:2008 (€

IOveraII Dimension

DDEMHS)

DCEMHS)

DNV Series

Standard Cylinder Accessory
(Conforms to ISO15552 Standard)

I Dimension

Bore/Symbol| 32 | 40 | 50

S

45

52

65

63
76

CA Hinge

80 100 125
94

T

325

38

46.5

72 89

RR

6.5

6.5

9

9.5

11

DB

34

41

54

65

83

DC

22

25

27

32

36

DD

10

11

13

16

16

DE

10

12

12

16

16

DQ

26

28

32

40

50

6.5

6.5

8.5

8.5

14

17

17

22

24

Bore/Symbol| 32 | 40 | 50

S

45

52

65

63
76

CB Hinge

80 100 125
94

T

325

38

46.5

72 89

D

6.5

6.5

8.5

8.5

E

14

17

17

22

24 25

RR

6.5

6.5

9

9.5

11

CB

34

41

54

65

83

CcC

22

25

27

32

36

CcD

10

11

13

16

46

CE

10

12

12

16

16

cp

26

28

32

40

50

cT

45

52

60

70

90

53

60

68

78

Bore/Symbol| 32 | 40 | 50

AH

32

36

45

63
50

YB Hinge

80 100 125
63 71 90

H

8

10

12

12

14 15 20

Ccb

10

12

12

16

16 20 25

Gl

31

35

45

50

60 70 90

G2

18

22

30

35

40 50 60

G3

21

24

33

37

47 55 70

CB

26

28

32

40

50 60 70

K1

38

41

50

52

66 76 94

K2

51

54

65

67

86 96

S1

11

11

14

14

17 17 20

6.6

6.6

9

9

11 11 14

1.6

1.6

1.6

16

2.5 25 3.2

10

11

13

15

15 19

11


https://vilop.en.alibaba.com/

ISO9001:2008 (€

ADN32x30-S

ADN Series

New Compact Cylinder
(Conforms to 1SO21287 Standard)

ADN40x30-S ADN50x30-S

Features

1. ADN series compact cylinder accord with 15021287 3. Both end use rubber gasket to absorb the remaining energy

standard.

of the high speed movement and the machine cycle.

2. ADN series cylinder with compact structure, derived lots 4. Every ammsebly way has large number of accessories, so it
of variety types, and wide range of applications.

IOrdeHng Code

is very sample.

ADN: Double acting

5-200mm

10: 10mm

S With magnet Blank: Female Blank Basic mountings D-Z73

28, 25
o+

40

ADND: Double-shaft 50

type e 63
52 —n

ADNJ: Double-shaft
with adjustable

stroke = % I .

ISpecﬁkaﬁon

Bore (mm)

Operation

20: 20mm

30: 30mm

thread

50: 50mm

75:75mm
100: 100mm

Blank: Without LB: Front and back * Standard wire is 1
mounting meter, please order
magnet for other length

B: Male
thread

FA: Front
mounting flange
FB: Back
mounting flange

CA: Back clevis
(Single earring)

CB: Back hinge
(Double earring)

YB: Back hinge

Double Acting

Working Medium

Air

Operating Pressure Range

0.1~1.0MPa

Proof Pressure

1.5MPa

Operating Temperature Range

-20~70°C

Operating Speed Range

30~500mm/s

Port Size

G1/8"




ADN Series ity
New Compact Cylinder 1nop
(Conforms to 1SO21287 Standard) VILOP PNEUMATIC CO., LTD

IInternaI Structure

I Parts

Number Name

7 Oring

Number Name

1 Piston rod

Shaft seal 8 Barrel

9 Oring

Cover screw

DU bearing 10 Piston seal

11 Anti-friction seal

Front cover

Anti-collision gasket 12 Back cover




ADN Series

1SO9001:2008 C€ New Compact Cylinder
(Conforms to ISO21287 Standard)

IOveraII Dimension

| ADN @20~@100 Without magnet / With magnet
KF Effective depth

| Standard BG OKA Depth T4 of thread AF (thread hole)
(Recessed Hole) .
female thread = L e ‘l Male Piston Rod Thread

©@20~363 E (7 ‘.‘b .
: : Mf(

i il -

2-EE WH

ZA+Stroke
ZB+Stroke

KF Effective
KA Depth T4 depth of thread
Standard (Recessed Hole) AF (thread hole)

female thread
@80~@100 9_ ‘@

2-EE

ZA+Stroke
ZB+Stroke

I Dimension

Stroke Range A AF KF

Bore/Symbol (i)

20
16 14 . M6x1 M8x1.25

19 16 . M8x1.25 M10x1.25

22 . M10x1.5 M12x1.25

28 8 M12x1.75 M16x1.5

100

Bore/Symbol L | RT WH
20
32
.
50
80

M5x0.8 . 6

M6x1

M8x1.25

M10x1.5




ADN Series ‘,‘i’}@’

New Compact Cylinder P
Conforms to ISO21287 Standard VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| ADND @20~@100 Without magnet / With magnet

KA Depth T4 KF Effective depth
Double shaft BG (Recessed Hole) of thread AF (thread hole)

with female | Male Piston Rod Thread
s

thread
220~263 (G ‘b A :(
B > 0O
E S

%

2-EE PL WH

B wH
ZA+Stroke +Stroke
ZM+2(Stroke)

KF Effective
DKA Depth T4 depth of thread
Double shaft (Recessed Hole) AF (thread hole)

with female LA

\
thread 2\ X
@80~@100 @} @
E 5

§ S

2-EE Sk

ZA+Stroke WH+Stroke
ZM+2 (Stroke)

I Dimension

Stroke Range A

Bore/Symbol [

M6x1 M8x1.25

M8x1.25 M10x1.25

M10x1.5 M12x1.25

M12x1.75 M16x1.5

100

Bore/Symbol RT TG WH ZA
20 22 37
25 26 39

a4

M6x1
38
45

M8x1.25
49

54
67

M10x1.5




ADN Series

1SO9001:2008 (€ New Compact Cylinder
Conforms to ISO21287 Standard

IOveraII Dimension

| ADNJ @20~@100 Without magnet / With magnet
KF Effective depth

Adjustable DKA Depth T4 of thread AF (thread hole)
. LA (Recessed Hole) .
with female Male Piston Rod Thread

thread -
@20~063 | :(
> e
>

%

PL 2-EE PL O+Stroke WH

-G -G O+Stroke+
ZA+Stroke Adjustable Strg

ZN+2 (Stroke) +Adjustable Stroke

KF Effective
H KA Depth T4 depth of thread
AdJUStabIe (Recessed Hole) AF (thread holel

with female —\

thread

@80~@100 } i / g
%
|

i

0O+Stroke SF

2.EE PL

G O+Stroke+
ZA+Stroke Adjustable Stroke

ZN+2 (Stroke) +Adjustable Stroke

I Dimension

Stroke Range
Bore/Symbol i A KF

20
16 . M6x1 M8x1.25

19 X M8x1.25 M10x1.25

M10x1.5 M12x1.25

80

M12x1.75 M16x1.5
100

Bore/Symbol WH
20
32
50
80

M5x0.8 . 6

M6x1

M8x1.25

M10x1.5




TADN Series
Guide Cylinder

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOrdering Code

TADN mnn-

TADN : Double

acting type guide I

32
40
50
63
80

I Specification

Bore (mm)

Operation

S: With magnet

Blank: Without ~ Dbz73

magnet * Standard wire is 1
meter, please order
for other length

Double Acting

Working Medium

Air

Standard Stroke

5~100mm

Operating Pressure Range

0.1~1.0MPa

Proof Pressure

1.5MPa

Operating Temperature Range

-20~70°C

Operating Speed Range

30 ~500mm/s

Port Size

G1/8

17



TADN Series

ISO9001:2008 (€

Guide Cylinder

Internal Structure

@ ® ® @© 6 O

I Parts

Number Name Number ’ NElE)

Fixed plate 11 Cring

Socket head screw 12 Anti-friction seal

Guide rod 13 O ring

Piston rod 14 Cover screw

Dust ring 15 Small gasket

Copper tube 16 Hexagon nut

Front cover 17 Piston

Bearing 18 Magnet

Anti-collision gasket 19 Back cover

Oring 20 Barrel

18



TADN Series

Guide Cylinder

IOveraII Dimension

B+Stroke

A+Stroke

B+Stroke

A+Stroke

I Dimension

With magnet

2XgHB

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

M4X0.7

17+0.02

M5X0.8

22+0.02

NPT1/8

M5X0.8

28+0.02

NPT1/8

M5X0.8

33+0.02

NPT1/8

M6X1.0

42+0.02

NPT1/8

M6X1.0

50+0.02

NPT1/8

M8X1.25

65+0.02

NPT1/8

M10X1.5

80+0.02




DN Series \,‘i’aif

VILOP PNEUMATIC CO., LTD

Stainless Steel Mini Cylinder
(ISO6432 Sta nda rd) Cylinder series/ Gas source series/ Valve series/ Other serises

Features

1. Improving for adapting wide range applications,
using precisepolishing of piston rod, more sense of
products quality and longer life of front seal.

2. Optima design and improve the production efficiency.

3. Combined with enterprise color planning and new
structure design,stainless steel series cylinder integrated
as the semicircular groove cramping.

4. Using embedded gasket, increase the pressured area of &}\\\\\\}\,

)]

. .. DN25X75
pistons after collision.

IOrdeHng Code

““ﬂ““-_-

m m m Adj ustable stroke Piston rod Material

DN : Double Acting Blank:Standard 8 S: With magnet  Blank : Carbon steel Blank: Basic JEL-03R
DS : Single acting, Spring-out With eye mounting 74 Blank: Without  E : Stainless steel _ mountings
DT : Single acting, Spring-in  CM:Standard with 12 magnet ;BOE;?mga“d back
DND : Double-shaft round back cover 16 FA: Front mounting
DNJ : Double-shaft with U:Standard with 20 flange
adjustable stroke flat back cover T FB: Back mounting
T3 flange .
a0 SDB: Back hinge

Specification

Bore(mm)

Operation Double Acting or Single Acting
Working Medium Air

Mountings Basic LB FA FB SDB

Operating Pressure 0.1~1.0Mpa

Proof Pressure 1.5 Mpa

Operating Temperature Range -20~70°C

Operating Speed Range 50 ~800mm/s

Cushion Gasket Cushion

Port Size M5x0.8 G1/8"




ce DN Series

1S09001:2008 Stainless Steel Mini Cylinder
(ISO6432 Standard)

IInternaIStructure

@ @& @ O

I Parts

Number Name Number ’ Name
1 Piston rod 9 O ring
2 Hexagon nut 10 Piston seal
3 Shaft seal 11 Anti-friction seal
4 Hexagon nut 12 Magnet
5 DU bearing 13 Piston
6 Front cover 14 Socket head cap screw
7 Cushion adjusting screw 15 Back cover
8 Cushion




DN Series v‘mif

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Stainless Steel Mini Cylinder
(ISO6432 Standard)

I Overall Dimension

|DN
CA A+Stroke @)
A1+Stroke
N G F, JP1(H9)
S1 M 2-x
S ‘\'/ Y %n——-n ===
AN % H D /ﬁ\‘\
Q
A g E:JL B4 \\%/
H D1 V
aP /|1 G ) T
Q B A2+Stroke C T
A3+Stroke
CM U
S1 2-X E1 S1 2-X E1
7 N N\

ke ke
& (= 7N e
)

aP W aP /N E

E c1 Length=A4+Stroke
Length=A5+Stroke g

=
\\c

Cylinder with or without magnet is the same size

IDimension

6 10 55 12 12
10 76 64 46 86 74 86 28 12 12 10 5.5 10 55 6 10 55 12 12
12 91 74 50 105 88 105 38 17 17 10 6 10 6 9 10 6 16 17
9
9

16 98 82 55 111 92 111 37 19 19 10.5 6 10.5 10.5 6 16 16
20 115 95 64 128 | 107 | 128 43 21 21 14 75 14 7.5 14 7.5 20 16
25 126 | 104 66 137 | 116 | 137 50 21 21 15 8 15 8 12 15 8 22 22
32 135 113 72 147 | 120 | 132 48 27 12 17 8.5 17 8.5 15 17 8.5 22 18
40 138 | 115 72 150 | 123 | 136 51 27 14 16 8 16 8 15 16 8 23 20

8 6 M4x0.7 M12x1.25 6 16 | 10 | 17 4 8 12 15 15 7 17 M5x0.8 4 9.3 -
10 6 M4x0.7 M12x1.25 6 16 | 10 | 17 4 8 12 15 15 7 17 M5x0.8 4 9.3 -
12 5 M6x1 M16x1.5 6 | 22 14 | 21 6 12 16 | 19 19 10 24 M5x0.8 6 14 5
16 5 M6x1 M16x1.5 6 | 21 13 | 21 6 12 16 | 19 19 10 24 M5x0.8 6 | 155 | 5
20 6 M8x1.25 M22x1.5 7 | 23 13 30 8 16 | 22 | 27 | 285 | 12 29 G1/8 8 | 175 | 6
25 6 M10x1.25 M22x1.5 7 | 28 11 30 8 16 | 22 | 27 | 285 | 17 29 G1/8 10 | 175 | 8
32 6 M10x1.25 M27x2 9 | 26 | 12 38 10 | 20 | 27 35 | 365 | 17 36 G1/8 12 8 10
40 8 M14x1.5 M33x2 9 | 28 12 | 45 10 | 20 | 33 | 42 | 435 | 22 45 Gl/4 16| 10 | 14

22



ce DN Series

1S09001:2008 Stainless Steel Mini Cylinder
(ISO6432 Standard)

I Overall Dimension

IDs
CA A+Stroke @]
A1+Stroke
N G _F| 2P 1(H9)
S1 M 2-X
Y o p _
SN - Q A /‘\
SVt B a7 ASHERNL
apP, = T/ G L‘TE'
a B A2+Stroke C T
A3+Stroke
CM u
S1 2-X E1 S 2-X Ex
s -
WD)k = ’
P #a W P e E
E c1 Length=A4+Stroke
Length=A5+Stroke
Cylinder with or without magnet is the same size
Dimension
8 101 - - 89 - - 71 - - 111 - - 99 - - 111 - -
10 101 - - 89 - - 71 - - 111 - - 99 - - 111 - -
12 116 - - 99 - - 75 - - 130 - - 113 - - 130 - -
16 123 148 - 107 132 - 80 105 - 136 161 - 117 142 - 136 161 -
20 140 165 190 120 145 170 89 114 139 153 178 203 132 157 182 153 178 203
25 151 176 201 129 154 179 91 116 141 162 187 212 141 166 191 162 187 212
32 160 185 210 138 163 188 97 122 147 172 197 222 145 170 195 157 182 207
40 163 188 213 140 165 190 97 122 147 175 200 225 148 173 198 161 186 211
8 28 12 12 10 5.5 10 5.5 6 10 5.5 12 12 6 M4x0.7 M12x1.25
10 28 12 12 10 5.5 10 5.5 6 10 5.5 12 12 6 M4x0.7 M12x1.25
12 38 17 17 10 6 10 6 9 10 6 16 17 5 M6x1 M16x1.5
16 37 19 19 10.5 6 10.5 6 9 10.5 6 16 16 5 M6x1 M16x1.5
20 43 21 21 14 7.5 14 7.5 9 14 7.5 20 16 6 M8x1.25 M22x1.5
25 50 21 21 15 8 15 8 12 15 8 22 22 6 M10x1.25 M22x1.5
32 48 27 12 17 8.5 17 8.5 15 17 8.5 22 18 6 M10x1.25 M27x2
40 51 27 14 16 8 16 8 15 16 8 23 20 8 M14x1.5 M33x2
8 6 16 10 17 4 12 15 15 7 17 M5x0.8 4 9.3 -
10 6 16 10 17 4 12 15 15 7 17 M5x0.8 4 9.3 -
12 6 22 14 21 6 12 16 19 19 10 24 M5x0.8 6 14 5
16 6 21 13 21 6 12 16 19 19 10 24 M5x0.8 6 15.5 5
20 7 23 13 30 8 16 22 27 28.5 12 29 G1/8 8 17.5 6
25 7 28 11 30 8 16 22 27 28.5 17 29 G1/8 10 17.5 8
32 9 26 12 38 10 20 27 35 36.5 17 36 G1/8 12 8 10
40 9 28 12 45 10 20 33 42 435 22 45 Gl/4 16 10 14




7 \N°
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

DN Series

Stainless Steel Mini Cylinder
(ISO6432 Standard)

I Overall Dimension

mipS &

|pT
A+Stroke X2 (@]
CA A1+Strokex2
N G1 E PP1(H39)
IS 2-X
Y Tl | _

" Tl{_ i L__% ? ﬁ'\

o v i AN\

FSUA)

UP [

d
T
T |C

L/ G
a B+Stroke A2+Stroke C T
A3+Strokex2
CM u
S1 2-X E1 S1 2-X E1
i L =
~ 4
o : |
aP - W P // E
E 1 Length=A4+StrokeX2
Length=A5+StrokeX2
Cylinder with or without magnet is the same size
I Dimension

8 101 - - 89 - - 71 - - 111 - - 99 - - 111 - -
10 101 - - 89 - - 71 - - 111 - - 99 - - 111 - -
12 116 - - 99 - - 75 - - 130 - - 113 - - 130 - -
16 123 148 - 107 132 - 80 105 - 136 161 - 117 142 - 136 161 -
20 140 165 190 120 145 170 89 114 139 153 178 203 132 157 182 153 178 203
25 151 176 201 129 154 179 91 116 141 162 187 212 141 166 191 162 187 212
32 160 185 210 138 163 188 97 122 147 172 197 222 145 170 195 157 182 207
40 163 188 213 140 165 190 97 122 147 175 200 225 148 173 198 161 186 211
8 28 12 12 10 5.5 10 5.5 6 10 5.5 12 12 6 M4x0.7 M12x1.25
10 28 12 12 10 5.5 10 5.5 6 10 5.5 12 12 6 M4x0.7 M12x1.25
12 38 17 17 10 6 10 6 9 10 6 16 17 5 M6x1 M16x1.5
16 37 19 19 10.5 6 10.5 6 9 10.5 6 16 16 5 M6x1 M16x1.5
20 43 21 21 14 7.5 14 7.5 9 14 7.5 20 16 6 M8x1.25 M22x1.5
25 50 21 21 15 8 15 8 12 15 8 22 22 6 M10x1.25 M22x1.5
32 48 27 12 17 8.5 17 8.5 15 17 8.5 22 18 6 M10x1.25 M27x2
40 51 27 14 16 8 16 8 15 16 8 23 20 8 M14x1.5 M33x2

8 6 16 10 17 4 8 12 15 15 7 17 M5x0.8 4 9.3 -
10 6 16 10 17 4 8 12 15 15 7 17 M5x0.8 4 9.3 -
12 6 22 14 21 6 12 16 19 19 10 24 M5x0.8 6 14 5
16 6 21 13 21 6 12 16 19 19 10 24 M5x0.8 6 155 5
20 7 23 13 30 8 16 22 27 28.5 12 29 G1/8 8 17.5 6
25 7 28 11 30 8 16 22 27 28.5 17 29 G1/8 10 17.5 8
32 9 26 12 38 10 20 27 35 36.5 17 36 G1/8 12 8 10
40 9 28 12 45 10 20 33 42 43.5 22 45 Gl/4 16 10 14




ce

DN Series

1S09001:2008 Stainless Steel Mini Cylinder
(ISO6432 Standard)

I Overall Dimension

IDND
M._ Gl o.x G1 M
L

M hTT o b

— )— T = iy T —( L8
RS IS

J \_r 1\_/

H C G G C

B | A1 +Stroke | B+Stroke

A+Strokex2

Cylinder with or without magnet is the same size

| DNJ

=T =T
Il [ 1l |

%

BRGRE

_'
N

B +Adistabe Sroke

T|C

2
J<
eIk
-bCI T ITk
av
X

A1+Stroke B +Stroke+Adjustable Stroke

A2+StrokeX2+Adjustable Stroke

Cylinder with or without magnet is the same size

Dimension
8 |102| 46 [1005| 16 |145| 93 | - | 10 | 55| 12 [ 12 | 6 | M4x07 | M12x1.25 7 |17 | 4 |M5x08
10 | 102 | 46 |1005| 16 |145| 93 | - | 10 [ 55| 12 | 12 | 6 | M4x07 | M12x1.25 7 |17 | 4 |M5x08
12 |126| 50 |126| 21 | 21| 14| 5 | 10| 6 |16 |17 | 5 | M6x1l | M16x15 10 | 24 | 6 | M5x0.8
16 129 | 55 | 129 | 21 | 21 13 5 [105] 6 16 | 16 5 M6x1 M16x1.5 10 | 24 6 | M5x0.8
20 |150| 64 [150| 27 | 25 |145| 6 | 14 | 75| 20 | 16 | 6 | M8x125 | M22x15 12|29| 8 | G1/8
25 |166| 66 |165| 28 | 27 |185| 8 | 15| 8 | 22 | 22 | 6 |M10x125| M22x15 17 | 29 | 10 | G1/8
32 |168| 72 |165|30 | 27 | 14 | 10| 17 | 85| 22 | 18 | 6 |M10x125| M27x2 17 |36 | 12 | G1/8
40 |174| 72 |172| 31| 29 | 16 | 14 | 16 | 8 | 23| 20 | 8 | M14x15 | M33x2 22 | 45 | 16 | G1/4

25



MA Series V,il\q:®

VILOP PNEUMATIC CO., LTD

Stainless Steel Mini Cylinder

Cylinder series/ Gas source series/ Valve series/ Other serises

Features

1. Improving for adapting wide range applications,using precise
polishing of piston rod, more sense of products quality and
longer life of front seal.

2. Optima design and improve the production efficiency.

3. Combined with enterprise color planning and new structure
design,stainless steel series cylinder integrated as the
semicircular groove cramping.

4. Using embedded gasket , increase the pressured area of pistons
after collision.

MA16X100

IOrdeﬁng Code

—--mmn-—-

Adj ustable stroke Piston rod Material

MA : Double Acting  Blank:Standard 12 S: With magnet  Blank: Carbon steel Blank: Basic mountings  JEL-03R
MCA - Cimmla At With eye mounting

MSA : Single Acting 16 Blank: Without ~ E: Stainless steel LB: Front and back
Spring-ou CM:Standard with 54 magnet mounting

MTA : Single Acting round back cover ——— FA: Front mounting
Spring-in — 25 flange

AR . mm - aom UStandard with — -

MAD : Double-shaft flat back cover 32 FB: Back mounting
MAJ : Double-shaft —————————— 49 flange

with adjustable stroke

SDB: Back hinge

Specification

Bore(mm)

Operation Double Acting 6r Single Acting
Working Medium Air

Mountings Basic LB FA FB SDB
Operating Pressure Range 0.1~1.0Mpa

Proof Pressure 1.5 Mpa

Operating Temperature Range -20~70°C

Operating Speed Range 50 ~800mm/s

Cushion Gasket Cushion

Port Size

M5x0.8 G1/8"

26



ce
ISO9001:2008

I Internal Structure

ONOBNOIONON0,

\Y AT

Stainless Steel Mini Cylinder

O ® QOO @ & @

I Parts

Number Name Number Name
1 Piston rod 9 Oring
2 Hexagon nut 10 Piston seal
3 Shaft seal 11 Anti-friction seal
4 Hexagon nut 12 Magnet
5 DU bearing 13 Piston
6 Front cover 14 Socket head cap screw
7 Anti-collision gasket 15 Back cover
8 Barrel

27



MA Series \fiﬁ‘;

Stainless Steel Mini Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

IMA
A+Stroke
CA B C+Stroke
E E G G
H AR G/2 2-X G/2
J
= !"
| >
i
WS ara=s il <1 A
| ¥ T
w/ AT
CM u
A1 +Stroke A1 +Stroke
C+Stroke D1 C+Stroke
G G

\\ _ (_ |
(]

[]6]

A
(¥

ja]8]

-
L

Cylinder with or without magnet is the same size

IDimension

16 114 98 38 60 16 12 22 16 12 8 16 10 5 M6x1

20 137 116 40 76 21 12 28 12 18 13 20 12 6 M8x1.25
25 141 120 44 76 21 14 30 14 16 11 22 17 6 M10x1.25
32 147 120 44 76 27 14 30 14 16 115 22 17 6 M10x1.25
40 150 123 46 77 27 14 32 14 16.7 12 24 19 7 M12x1.25

16 M16x1.5 6 12 9 21 6 5 M5x0.8 6 27.8 24 6

20 M22x1.5 8 16 12 27 8 6 G1/8 7 335 29 8.5
25 M22x1.5 8 16 12 30 10 8 G1/8 7 335 29 9.5
32 M24x2 10 16 15 35 12 10 G1/8 9 37 32 115
40 M30x2 12 20 15 42 16 14 Gl/4 9 46 40 14




G MA Series

1509001:2008 Stainless Steel Mini Cylinder

I Overall Dimension

I MSA A+Stroke
B C+Stroke D AY
CA E FE = G G S [
H /2 2-X arP
N AR G/2 Vo
N 1
R =S ot O
w/ Lf
CM U
A1+Stroke A1+Stroke
C+Stroke Da C+Stroke
G G
G2 Ea
2 Jan | ( M2
% } Yla
Cylinder with or without magnet is the same size
A+StrokeX2
I MTA CA B+Stroke C+Stroke D AY
E+Stroke F G G S |
H AR 152 2-X [Q/E /@
J N I / |
— 8 ”R\
Vfé A g y = a ! i 3 J/KJ}\\ X
i/ T t % N <
| / L
Y/ L
CM u
A1 +Strokex2 A1 +StrokeX2
C+Stroke D1 _ C+Stroke _|
= G
2 Jan Dl 2
8 Ny - T ®
Cylinder with or without magnet is the same size
Dimension
16 139 164 - 123 148 - 38 85 110 - 16 12 22 16 12
20 162 187 212 141 166 191 40 101 126 151 21 12 28 12 18
25 166 191 216 145 170 195 44 101 126 151 21 14 30 14 16
32 172 197 222 145 170 195 44 101 126 151 27 14 30 14 16
40 175 200 225 148 173 198 46 102 127 152 27 14 32 14 16.7
16 16 10 5 M6x1 M16x1.5 6 12 9 21 6 5 M5x0.8 6 278 | 24
20 20 12 6 M8x1.25 M22x1.5 8 16 12 27 8 6 G1/8 7 335 | 29
25 22 17 6 M10x1.25 M22x1.5 8 16 12 30 10 8 G1/8 7 335 | 29
32 22 17 6 M10x1.25 M24x2 10 16 15 35 12 10 G1/8 9 37 32
40 24 19 7 M12x1.25 M30x2 12 20 15 42 16 14 Gl/4 9 46 40




MA Series ‘,‘mi,@

Stainless Steel Mini CyIinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

IMAD
A+StrokeX2

B C+Stroke B+Stroke

E F G § . G F E+Stroke
H AR G/2 2-X G/2| AR H
J | \ J

p Y >
e S o ==t

-,
H
W, L/ L

Cylinder with or without magnet is the same size

IMAJ

A+StrokeX2

B C+Stroke B1 +Stroke+Adjustable Stroke AY
E F G _ G F_ E+StroketAdjustable Stroke ]
G/2 2-X ’ G/2

L Ttren, 7o)
s S —@H— Bw {ehh
iy 5

E1 tAdjustable Stroke

X

4

Cylinder with or without magnet is the same size

IDimension

16 |114|135(38|37|60(22|21|16|12| 8 (16|10 | 5 M6x1 M16x15|21| 6 | 5 [M5x0.8| 6 (27824 | 6

20 [137|153|40 |37 |76|28|25|12 |18 |13 |20|12| 6 | M8x1.25 |M22x15|27| 8 | 6 | G1/8 | 7 |335|29 |85

25 141|161 44 (41|76 |30 |27 |14 |16 |11 | 22|17 | 6 | M10x1.25|M22x15|30|10| 8 | G1/8 | 7 [335]|29 |95

32 147|161| 44 |41 |76 | 30|27 |14 | 16 (11.5/22 |17 | 6 | M10x1.25| M24x2 | 35|12 |10 | G1/8 | 9 | 37 |32 |115

40 |150|165|46 (42|77 (32|28 |14 (16.7| 12 |24 |19 | 7 | M12x1.25| M30x2 (42|16 |14 | G1/4 | 9 | 46 |40 | 14




ce MAC Series

ISO9001:2008

Stainless Steel Mini Cylinder

MAC16X100

MAC20X100
MAC25X100

IFeatures

1. Improving for adapting wide range applications,using precise
polishing of piston rod, more sense of products quality and
longer life of front seal.

2. Optima design and improve the production efficiency.

3. Combined with enterprise color planning and new structure
design,stainless steel series cylinder integrated as the
semicircular groove cramping.

4. Change processing technology of cylinder cushion structure to
ensure buffering function in stabilization.

5.Improved the range of buffering fine-tune, enable customers
to more easily adjust the buffer throttling speed.

MAC32X100

IOrdering Code

Adjustable stroke Piston rod Material

MAC : Double Acting  Blank:Standard 16 S: With magnet  Blank: Carbon steel Blank: Basic mountings  JEL-03R
MACD : Double-shaft thheyeﬂ 20 Blank: Without  E: Stainless steel h?éllj;c%ir:]tgand back
. _ CM:Standard with magnet mounting
MAC) : Double-shaft "/ 2 A over 25 EEEE— FA: Front mounting
with adjustable stroke ————— 55 flange
—— U:Standard with 2 -
flat back cover 40 FB: Back mounting
flange
SDB: Back hinge
I Specification
Bore(mm) 16 20 25 | 32 | 4
Operation Double Acting
Working Medium Air
Mountings Basic LB FA FB SDB
Operating Pressure Range 0.1~1.0Mpa
Proof Pressure 1.5 Mpa
Operating Temperature Range -20~70°C
Operating Speed Range 50 ~800mm/s
Cushion Adjustable Air Cushion
Port Size M5x0.8 G1/8"

31



. &\ ©
MAC Series Vilop
Stainless Steel Mini Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Internal Structure

® ® ® © OO 6 G

I Parts

Number Name Number Name
1 Piston rod 9 Barrel
2 Hexagon nut 10 Piston
3 Shaft seal 11 Piston seal
4 Hexagon nut 12 Anti-friction seal
5 DU bearing 13 Magnet
6 Front cover 14 Socket head cap screw
7 Cushion adjusting screw 15 Cushion
8 Cushion 16 Back cover




ce

ISO9001:2008

I Overall Dimension

| MAC

CA

Z TN
I

Stainless Steel Mini Cylinder

MAC Series

A+Stroke
B C+Stroke
E E [E] G S
H AR 2-X G1 arP
J G2 G/2 a
> l
all * )
AR i ﬁ,x 3
t N N 8
W, L
CM u
A1+Stroke A1+Stroke
C+Stroke | D1 _C+Stroke |
G G
G G 1
NeE =
(ST NE
3 AL Al
iR J17e

Cylinder with or without magnet is the same size

Dimension

AX

16 114 98 38 60 16 12 22 16 12 8 16 10 5 Mé6x1

20 137 116 40 76 21 12 28 12 18 13 20 12 6 M8x1.25
25 141 120 44 76 21 14 30 14 16 11 22 17 6 M10x1.25
32 147 120 44 76 27 14 30 14 16 115 22 17 6 M10x1.25
40 150 123 46 77 27 14 32 14 16.7 12 24 19 7 M12x1.25

16 M16x1.5 6 12 9 21 6 5 M5x0.8 6 27.8 24 6

20 M22x1.5 8 16 12 27 8 6 G1/8 7 335 29 8.5
25 M22x1.5 8 16 12 30 10 8 G1/8 7 335 29 9.5
32 M24x2 10 16 15 35 12 10 G1/8 9 37 32 115
40 M30x2 12 20 15 42 16 14 Gl/4 9 46 40 14

33



ce MAL Series

1509001:2008 Aluminum Alloy Mini Cylinder

MAL16X100

Features MAL25X100

1. Improving for adapting wide range applications,using precise polishing of
piston rod,more sense of products quality and longer life of front seal.

2. Optima design and improve the production efficiency. MAL32X100

3. Combined with enterprise color planning and new structure design.

4. Using embedded gasket , increase the pressured area of pistons after
collision.

IOrdering Code

—n-mmn-—-

Adjustable stoke Piston rod Matera

MAL : Double Acting  Blank:Standard 16 S: With magnet  Blank: Carbon steel Blank: Basic mountings  JEL-03R
MSAL : Single Acting  With eye mounting —— Blank: Without E: Stainless steel  LB: Front and back
Spring-out” " CpiStandard with 25 magnet mounting
g/ITAL Single Acting  round back cover <2 - FIA. Front mounting
ring-in _—
m UsStandard with 32 fange
: Double-shaft g2+ pack cover 40 FB: Back mounting
MALJ : Double-shaft flange "
with adjustable stroke SDB: Back hinge

I Specification

Bore(mm) 16 ’ 20 25 32 40
Operation Double Acting or Single Acting

Working Medium Air

Mountings Basic LB FA FB SDB

Operating Pressure Range 0.1~1.0Mpa

Proof Pressure 1.5 Mpa

Operating Temperature Range -20~70°C

Operating Speed Range 50 ~800mm/s

Cushion Gasket Cushion

Port Size M5x0.8" G1/8" G1/4"

34



MAL Series \,’“}P@

Aluminum A”Oy Mini Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Internal Structure

I Parts

Number Name Number Name
1 Piston rod 9 Barrel
2 Hexagon nut 10 Oring
3 Shaft seal 11 Piston seal
4 Hexagon nut 12 Anti-friction seal
5 DU bearing 13 Magnet
6 Front cover 14 Piston
7 Oring 15 Socket head cap screw
8 Anti-collision gasket 16 Back cover




ce
ISO9001:2008

I Overall Dimension

MAL Series

Aluminum Alloy Mini Cylinder

| MAL
A+ Stroke
B C+Stroke D AY
CA E = G G S) |
H AR G/2 2-X G/2 aP
Ce) = e T
TS aaal s o RRAENE
NHY/ N7 8% \w»
W, L '
CM U
A1 +Stroke A1 +Stroke
C+Stroke C+Stroke
G G
G/2 ]%
— J |
B / ) A2
8 ) v - ) U8

Cylinder with or without magnet is the same size

Dimension

6 | 105 | 9 | 38 | s2 | 15 | 12| 24 | 14| 11 | 65| 16| 10| 5 M6x1
20 | 131|100 4 | 70 | 22 | 12| 28| 12| 16| 12| 2] 12]S%s M8x1.25
25 | 135 | 114 | 44 | 70 | 21 | 14 | 30 | 14 | 16 | 1| 22| 17| 6 | mioxi2s
322 | 141|114 | a4 | 70 | 27 | 14 | 30 | 14| 16 |15 22| 17| 6 | mioxi2s
40 | 165 | 138 | 46 | 92 | 27 | 14 | 32 | 14 | 22 | 15 | 24 | 19 | 7 | wmiz2x12s
S)B/‘r;[gél L p Q S U vV | w X AR | AX | AY Y
16 M16x1.5 6 12 6 21 6 5 M5x0.8 6 | 278 | 2 6
20 M22x 15 8 6 | 12 | 27 8 6 G1/8 7 | 335 | 20 9
25 M22x15 8 6 | 12 | 32 | 10 8 G1/8 7 | 335 | 20 9
32 M24x2 10 | 16 | 15 | 395 | 12 | 10 G1/8 9 37 | 32 | 115
40 M30x2 12 | 20 | 15 | 47 | 16 | 14 G1/4 9 4 | 40 | 14

36



MAL Series \,‘mi,@

Aluminum A“Oy Mini Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| MSAL At Soroke
cA B C+Stroke D AY
E E G G 1S |
H AR G2 22X G/2 P
J i $ / ,
2 |
|
() aeedlls e ©)
K w/ Lf
CM @]
A1+Stroke A1 +Stroke
C+Stroke C+Stroke
G G
e cE
2 Jan Y=
N ) LT ) (NPAR
Cylinder with or without magnet is the same size
A+Strokex2
I MTAL B+Stroke C+8Stroke D AY
CA E+Stroke E G G S |
H G/2 2-X apP
; 28 )
> ==y
1 3 \\
BHAE Y == /ﬁ/ C) 3 fQD\\ X
w, v/
CM u
A1+StrokeX2 A1+Strokex2
C+Stroke C+Stroke
€] G
G/2 G/2
— W
2 D _ M2
e T
Cylinder with or without magnet is the same size
I Dimension
16 130 155 - 115 140 - 38 77 102 - 15 12 24 14 11
20 156 181 206 135 160 185 40 95 120 145 21 12 28 12 16
25 160 185 210 139 164 189 44 95 120 145 21 14 30 14 16
32 166 191 216 139 164 189 44 95 120 145 27 14 30 14 16
40 190 215 240 163 188 213 46 117 142 167 27 14 32 14 22
16 16 10 5 M6x1 M16x1.5 6 12 6 21 6 5 M5x0.8 6 |278| 24
20 20 12 6 M8x1.25 M22x1.5 8 16 12 27 8 6 G1/8 7 [335] 29
25 22 17 6 M10x1.25 M22x1.5 8 16 12 32 10 8 G1/8 7 |335] 29
32 22 17 6 M10x1.25 M24x2 10 16 15 (395 | 12 10 G1/8 9 37 32
40 24 19 7 M12x1.25 M30x2 12 20 15 47 16 14 Gl/4 9 46 40




C€ MAL Series

ISO9001:2008

Aluminum Alloy Mini Cylinder

I Overall Dimension

| MALD

A+Strokex2

B C+Stroke B+Stroke
E F G G F E+Stroke
:' AR G/2 2-X G/2 AR

C|T

\\
) Fy
=/

zB'_"V“ d i

Cylinder with or without magnet is the same size

| MALJ
A1+StrokeX2
B C+Stroke B1+Stroke+Adjustable Strcke AY
E E ] G E E1+Stroke+Adjustable Stroke |
:' AR G/2 2-X G/2) AR E1+Adjustabl Stroke
1

SRS p HL e 72N
s e o= (O
in &

Cylinder with or without magnet is the same size

Dimension

16 |128(125|38|35|52(24|21|14|11|65|16(10| 5 M6x1 |M16x15|21| 6 | 5 [M5x0.8| 6 |27.8|24 | 6

20 | 150|147 (40|37 (70|28 |25|12|16|12 |20 (12| 6 |M8x1.25|M22x15|27 | 8 | 6 | G1/8 | 7 |335(29| 9

25 158 |155|44 (41|70|30(27|14|16| 11 |22|17| 6 |M10x1.25|M22x15|32|10| 8 | G1/8 | 7 [335]29| 9

32 158 | 155| 44 (41|70 |30| 27 |14 |16 |115/ 22 |17 | 6 |M10x1.25| M24x2 |395(12 |10 | G1/8 | 9 | 37 | 32 |11.5

40 184|180 | 46 42|92 |32 (28|14 |22 | 15|24 |19 | 7 |M12x1.25| M30x2 (47 |16 |14 | G1/4 | 9 | 46 | 40 | 14




MALC Series

Vilop

Aluminum Alloy Mini Cylinder VILOP PNEUMATIC CO., LTD

Features

1. Improving for adapting wide range applications,
using precise polishing of piston rod, more sense of
products quality and longer life of front seal.

2. Optima design and improve the production efficiency.

3. Combined with enterprise color planning and new

structure design.

4. Change processing technology of cylinder cushion
structure to ensure buffering function in stabilization.

5. Improved the range of buffering fine-tune, enable
customers to more easily adjust the buffer throttling

speed.

Cylinder series/ Gas source series/ Valve series/ Other serises

MALC32X100

IOrdeﬁng Code

nmmmn-—-

Adistabl sioke Piston rod Mateial

MALC : Double Acting Blank:Standard

MALCD : Double-shaft W

MALCJ : Double-shaft CM:Standard with

with adjustable stroke
————— U:Standard with
flat back cover

round back cover

Specification

Bore(mm)

16 S: With magnet  Blank: Carbon steel Blank: Basic mountings  JEL-03R
20 Blank: Without ~ E: Stainless steel LB: Front and back
S magnet ~_ mounting
25 FA: Front mounting
32 flange 7
40 FB: Back mounting
flange

SDB: Back hinge

Operation

Double Acting or Single Acting

Working Medium

Air

Mountings Basic LB FA FB SDB
Operating Pressure Range 0.1~1.0Mpa
Proof Pressure 1.5 Mpa
Operating Temperature Range -20~70°C
Operating Speed Range 50 ~800mm/s

Cushion

Adjustable Air Cushion

Port Size

M5x0.8" G1/8" G1/4"

39



G MALC Series

1509001:2008 Aluminum Alloy Mini Cylinder

Internal Structure

I Parts

Number Name | Number Name
1 Piston rod 9 Barrel
2 Hexagon nut 10 Piston
3 Shaft seal 11 Piston seal
4 Hexagon nut 12 Anti-friction seal
5 DU bearing 13 Magnet
6 Front cover 14 Screw
7 Cushion adjusting screw 15 Oring
8 Cushion 16 Back cover




I‘\ ®
Vil op
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

MALC Series

Aluminum Alloy Mini Cylinder

I Overall Dimension

IMALC
A+Stroke
B C+Stroke D AY
E E G G S |
CA H AR G1 2-X G1 aP
J | 16/2 G2|
8 i ’*\
WL I A2 A >3 AN
N\ g i £
W,
CM u
A1+Stroke A1+Stroke
C+Stroke C+Stroke
€] G
G1 G1
- i
Py /_ '
5 AL o
8 ) ¢ U8

Cylinder with or without magnet is the same size

IDimension

16 105 90 38 52 15 12 24 14 11 6.5 16 10 5 M6x1
20 131 110 40 70 21 12 28 12 16 12 20 12 6 M8x1.25
25 135 114 44 70 21 14 30 14 16 11 22 17 6 M10x1.25
32 141 114 44 70 27 14 30 14 16 115 22 17 6 M10x1.25
40 165 138 46 92 27 14 32 14 22 15 24 19 7 M12x1.25
S';g{g/ol L P Q S u Vv W X AR | AX | AY Y
16 M16x1.5 6 12 6 21 6 5 M5x0.8 6 27.8 24 6
20 M22x1.5 8 16 12 27 8 6 G1/8 7 335 29 9
25 M22x1.5 8 16 12 32 10 8 G1/8 7 335 29 9
32 M24x2 10 16 15 39.5 12 10 G1/8 9 37 32 115
40 M30x2 12 20 15 47 16 14 Gl/4 9 46 40 14

41



ce MALC Series

ISO9001:2008

Aluminum Alloy Mini Cylinder

I Overall Dimension

| MALCD
A+Strokex2
B C+Stroke B+Stroke AY
E F G G F E+Stroke |
H G1 2-X G/2 H
J AR fep Eiﬂ- J
@
— |8 N4 f ﬁ\\
v r?_ I Y A _ N 11}y %\\ X
* Q)
- s \&
w/ L/ \ G1 L

Cylinder with or without magnet is the same size

| MALC
A1 +StrokeXx2+Adjustable Stroke
B C+Stroke B1 +Stroke+Adjustable Stroke AY
E F G €] F  E1:Stroke+Adjustable Stroke |
‘JH AR 52’[ 2-X G/2 AR £1+Adjustatle Stroke
> HL 9 >
N ==
&l 8 Q\
e 0 O i 1 Y, E@ 1X
! \ s <
R
tr & j \
W, L G1 \L

Cylinder with or without magnet is the same size

Dimension

16 |128(125(38|35(52(|24|21|14|11|65|16|10| 5| M6x1 |M16x15|21| 6 |5 |M5x08 | 6 [278|24 | 6

20 [150(147|40 37|70 |28 |25|12|16 (12|20 |12| 6 | M8x125 |M22x15|27| 8 | 6 | G1/8 | 7 [335[29| 9

25 |158|155(44(41|70(30|27|14|16|11|22|17| 6 |M10x125|M22x1.5|32|10| 8 | G1/8 | 7 [335|29| 9

32 158 155|44 | 41|70 30|27 |14 |16 |11.5( 22 | 17 | 6 | M10x125| M24x2 [39.5{12|10| G1/8 | 9 | 37 | 32 |115

40 |184|180|46 (4292|3228 |14 |22 |15|24 |19 |7 |M12x125| M30x2 |47 |16|14| G1/4 | 9 | 46 | 40 | 14




ce
ISO9001:2008

Features

Double rod with double force for higher
anti-bending and anti-twisted strength
ensured durable life and perfect

directional characteristic.

TN Series
Double Rod Cylinder

Ordering Code Symbol
TN: Double-shaft 10 CsI-J - .
_ doubleacting 16 * Standard wire is 1 meter,
20 please order for other length
25
32 * TN Series attached magnetic ring
Specification
Working Medium Air
Operation Double Acting
Operation Pressure Range 0.1~0.9 MPa
Ensure Pressure Resistance 1.35 MPa
Operation Temperature Range 0~70 °C

Operation Speed Range

100~500 mm/s

Adjustable Stroke -10~0 mm

Cushion Not Available Cushion Gasket

Presion Of Non-rotating 0.4° 0.3°

Port Size M5 x 0.8 PT 1/8"

The Max. operating pressure is subject to the Max. load of hydralic buffer.

Stroke
10 10 20 30 40 50 60 70 70 100
16 10 20 30 40 50 60 70 80 90 100 125 150 150 200
20 10 20 30 40 50 60 70 80 90 100 125 150 150 200
25 10 20 30 40 50 60 70 80 90 100 125 150 150 200
32 10 20 30 40 50 60 70 80 90 100 125 150 150 200

43



TN Series

Double Rod Cylinder

Internal Structure

7 \°

'}

P

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Parts
1 Fixing plate 8 Front cover
2 Piston rod 9 Anti-collision washer
3 Anti-collision head 10 Piston seal
4 Cylinder body 11 Piston
5 Hole cir-clip 12 Magnet
6 Shaft seal 13 Anti-friction ring
7 O ring 14 Back cover

44



ce TN Series

1509001:2008 Double Rod Cylinder

IOveraII Dimension

TN
PA
| @16~225 ==
— i o
L H | — =
-8 e+ = =yl
_____ r Jkﬁ _ 1 = H]
/ i E—
e et
PH PE 2.PC %Z} /
w L]
o | JH'f P S5l 1
] £ s :
L’JJ_ —
o
I Dimension
Bore / Symbol | PA | PB P1 PD PE PF PG P2
10 18 | 0.5 |®6.2 deep 3.5 mm, Through Hole: ®4.5 5.2 3 5.2 M3 x 0.5 deep 5 mm
16 24 1 |[®7.8 deep 4.6 mm, Through Hole: ®4.5 6.2 8 3 6.2 M4 x 0.7 deep 46 mm
20 28 1 |®11 deep 6.8 mm, Through Hole: ®4.5 8.2 10 3 8.2 M6 x 1 deep 48 mm
25 34 1 |®11 deep 6.8 mm, Through Hole: ®4.5| 10.2 12 3 10.2 M6 x 1 deep 48 mm
32 42 2 | ®17 deep 12 mm, Through Hole: 4.5 14 16 3 14 M10 x 1.5 deep 14 mm
IOveraII Dimension
N
19,6232
Allowable size load
\IV 14.7
==+ ¢
% Side Load W 87"
jzi=le)
4.9578 —
= 210 —
*1Kgf = 9.81IN —
20 40 80 80 100
Stroke (mm)
I Dimension
O-ring List
(e Dlameter Front cover seal Piston O-ring Rear cover O-ring Piston rod O-ring
Quantity
10 PDU-6 APA-10 10x1.5 P12
16 PDU-8 APA-16 16x1.5 P16
20 PDU-10 APA-20 20%x1.5 P20
25 PDU-12 APA-25 25x1.5 P20
32 PDU-16 APA-32 32x1.5 P25

45



TN Series \,‘i'fo\lf

Double Rod Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Overall Dimension

TN A+Stroke
B+Stroke, C+Stroke
1 15 D+0.2+Stroke
@10 17 Stroke 71 E+0.2
EI=E 5.2 Through Hole2-33.4
it Both Side Both Side@BDepthB. 2Fixed Hole rom—e
£5 : 1
o T o @
JE A (41 H H———o————— — =0
NN 0} | . 4 gy
'@' a i LDT 1 _@\ i @
N&-M3x0.5 2-M3x0.5 N Through Hole2-@3.4
Both Side@BDepth3. 3Installation Hole
20 10
I~
_______ L:'r___@\_._.___.___@_
ol \2-M5x0.8
Port
A+S ki
@16”@25 B+Strokeg tgsethoke
1 15 D+0. 2+Stroke
T F ,/Stroke H E+0.2 [=N=¥]
M - r\w/g/n | Installation Hole
v oth Side ——
é o / © / @
Y Q Sl E“_
Tl of == 6—1o
@ e | ° )
Los= ( >X L —@—
5.MAaxO.7 2-J/ 8 \2-P2Installation Hole
N1 N2
— A L
=T +
[} 2-M5x0.8
Port
A+Stroke
B+Strok C+S k
632 4Q 1 £ 17 DiD.+2+t£SF§k3
as 1.7 JStroke] g E+0.2,
|=—m| 14 | Through Hole2-05.5
Both Side Both Side@3Depth13. 2Installation Hole,
52 T v ARV
T Al == #= ¢
Lak W |
\2-MBx1 2-M8x1.25 8 \Thr‘ouqh Hole2-95.5
Depth10 Both Side@3Depth5. 4installation Hole
a I‘l
P I 4
7 = AN
o 2-PT1/8
Port
Dimension
16 68 15 53 | 20 30 35 40 45 50 55 60 65 70 75 | 875 (100 | 8 | 47 | 6 | 24
20 78 | 20 | 58 | 20 35 35 40 45 50 55 60 65 70 75 | 8751]1100 | 10 | 55| 9 | 28
25 81 19 | 62 | 30 | 40 40 45 50 55 60 65 70 75 80 | 925105 | 10 | 66 | 8 | 34

16 |M4x0.7 deep 5(47 |53 | 20 | 22 | 10 | Double side: ®7.5 Deep: 7.2 mm, Through Hole: 4.5 | Double side: ®8 Deep: 4.4 mm, Through Hole: ®45 {34 | 3 [54(21| 8 | 6.2
20 |M4x0.7 deep 5|55 |61 | 24 | 25 | 12 | Double side: 7.5 Deep: 7.2 mm, Through Hole: ®4.5 | Double side: ®8 Deep: 44 mm, Through Hole: 45 |44 |13.5|62(25/10| 8.1
25  [M4x0.8 deep 6{66 |72 | 27 | 30 | 12 | Double side: ®7.5 Deep: 7.2 mm, Through Hole: ®4.5 | Double side: ®8 Deep: 44 mm, Through Hole: ®4.5 |56 | 7 | 73|30(12|10.2

10 63 12 51 10 30 30 35 40 45 50 55
10 20 30 40 50 60 70 80 90 | 100 | 125 | 150
45 50 55 60 65 70 75 80 85 90 |102.5| 115

32 108 30 78 35




ce CXS Series (06 ~ @32)

1S09001:2008 Twin Rod Cylinder/Basic Type

Features

Double rod with double force for higher
anti-bending and anti-twisted strength
ensured durable life and perfect directional
characteristic.

Ordering Code Symbol Stroke/Sensor Switch Model
. . . L 6 10, 20, 30, 40, 50
10 10, 15, 20, 25, 30, D-Z73L
M: Slidable bearing 6 20  AsS/M chart D-Z73 40, 45,50, 60, 70,75, D-Z76L
L: Ball bearing 10 25 * Standard wire is 1 meter, 15 D-Z80L
15 32 please order for other length 20 o 10, 15, 20, 25, 30, D-Y59AL
e 40, 45,50, 60, 70, D-Y59BL
25 | 75,80, 90,100
* CXS Series attached magnetic ring 32
Cylinder body can be fixed, position
Spedﬁcation port can be choosed
Tpfiing [ e I &
Z LY
Operation Fulid Air Bottom fixing [ T |[46- ﬁ’l &)
Operation Double Acting = g XX
Proof Pressure 1.05 MPa = &mm
- Side fixing  4-H}-—@~--—-—@~ Sameas
Max. Operation Pressure 0.7 MPa L i otherend
=
Ambient and fluid temp 5~60 °C
Cushion Both end Rubber Gasket Cushion
Piston Speed 30~800 mm/s|30~800 mm/s| 30~700 mm/s |30~600 mm/s
*Lubrication Non-lub
Adjustable stroke range Returned Stroke 0~ -5 mm
Bearing Slidable bearing/Ball Bearing
Non-rotating | Slidable bearing +0.1°
rod precision | Ball Bearing +0.1°
Port Size Rc M5 x 0.8 1/8
Structure Double Cylinder (Double force)
. . Suitable bore size @6 Max. Allowable Load
Suitable Bore Size @6 o ieotie B Sime « D1 D-BBBI Below A indicates type of mouting,
T et o and below B indicates type of
""""""""""""""" installation.
20 W
A %:1
CXSM6 0.8 0.66 0.54 0.46 0.40 1sft ]
CXLM6 108 | 088 | 069 | 059 | 049 R I

Max. Load WIN)
o

-l - +
A Hd—rQ|
20 40 B 80 100 *E
Cylinder Strcke mm 2-M5x0. 8 Depth Screw
4.5 Port Inlet

47



CXS Series (06 ~ 32 V.Dif

Twin Rod CyIinder/Basic Type VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Overall Dimension

CXS Stroke 58. 5+Stroke
16 5.5 8 A45+Stgroke
@6 M3X0.5X5! .75 15|10+ 1/BStroke | 2-@93. AThrough Hole
e i N 2-@B6. 5Recessed Hole3. 3
= Hex Socket Fastening Screw™y, N -76. }
a - a BN SRS
. . =
INI¢ ] o . i 9/
PEEE ol e @6 -
o 08} [
Q -- a !
%
2-M3x0 | \ME.5x0.45x8 2-M3x0.5t MBX0. 5X12. 5 M3X0.5
- xS, (Hex Socket) (Through Hole) = -
x Nut
(Through Hole) (Hex Socket) (He )
10 ,13+Stroke 2-M3x0. Sthread length4. 5
M — [ Same the other side
== -é- -—-—<;- D
@ 2-M5x0.8 thread lengsh 4.5Port
@10, @15 320, B25.032 ,.ELI I_"_'L Same the other side
I ! I I
s zz
L K 5SS B
Yhex Socket Fastening Screw| L Z M D
= N
.
3 i / & &)
ol h] B @ Q N
+ M ©) @ < H o
o LT Y &
7 p4 2 5"
Z OO0 (Hex Screw) PP (Hex Nut) IEEIANN
N
Owidth E_\ \X(Hex Screw)
L) _ @ v U Ny w ) w
b2 f o
P4 . i
ol v+ Fmp b
g B ] |- —
- ) z) _ v 0|9 - -
= v
o s Py = 4
b [ T
0 AN (i
R \uu O Ul
Dimension
CXS010-10 10| 65 [ e 0|2
€X5010-20 | 2034 | ;m3 M4 20175 Thread | 205 | 1 | M3 | M3 92
CX$010-30 2-M4 Port | 05 X M4 3085 length | length | 07 | X | x 102
{46|17]44|15|7.5| x07 |35|20| 4| 8| 9 [20| 2665 |Thread | @6 | 5| 0.7 [336] x |85 7 |30] 7 | 58| (poney | 45 |Thread [ 05| 05 -
CXS0O10-40 | (Port) Thread Iensgth X 07 40 | 95 (Same (Slfme |en7gth x| x |40 112
length 3.3 14.5L the the 10L | 5L
CXS010-50 50 [ 105 other | Sther 122
side ) side )
10| 70 ams |, 89
g | 25 from
| 2043 | 5mg M4 20180 Thread | pycaq | 2-ms | M5 | M4 2
CXsO15-30 2-Ms port | 07 X M4 30|90 length | length | x08 | x | x 109
il 58120(56|18| 9 | x0.8 |45(25|5(10[ 9 {30 208 |Thread | @8 | 6| 07 |48 | x | 10 | 10(385] 10 | 5|8 sy | 5 |Thread | 0807 .
CXSO15-40 | (Port) Thread Ienegth X 07 40 |100 (Same (fﬁme Iensgth x | x |35 119
length 4.4 1451 the e 10L | 4L
CXS015-50 50 |110 other | other 129
side ) side )
CX5020-10 | 10 | 80 s 50|20
€X5020-20 | " 20 | 90 08 by v | 114
CX5020-30 | M5 e | 2w ol I IV 30 100 engen | Toeea | 2 | M8 N 154
CXS020-40 |64 |25|62| 23|115| x08 |50|28| 6 |12(12|30| 2095 | Thread |G10| 8 | 10 | 53 | x |125/125| 45 |7.76| 40 |110| 95| 65 | 8 oo |8 Thread | 10 | 08 {40134
XS0 ] > 4
X$020-50 | (Port) read | 15 10 50120 (same | Core | gR | X [ X | [14e
CX5020-75 ’ 75 | 145 other | ofher 601169
X$020-100 100170 side) 194
CX5025-10 10 | 82 50|20
OX5025-20 | " 20| 92 Trrend | 508 vie | e Lol 116
26 T | 20 | ms 30102 engh | s | 20 | 10\ N8 a2
14 | x10 |60|35|6[12|12|30| 2-011 'Ifhréarc‘i 212(10| 10 | 64 | x | 15 [ 15|46 | 15 |40 [112[ 13 | 9 | 9] (Port) | 75 Thr'eaﬁ 10 [ 1040|136
> 36
| (Port) oread i 1851 10 50 |122 e | Goae | g e 146
CXS0O25-75 ) 75 | 147 S?‘tjr;e)r st?[tjfée;' o 191
CXS025-100 100(172 19
CX5032-10 10| 92 20122
OX5032-20 | " 20 |102 Trrendt | 508 v | g Lo 132
26 T | 20 el e 30112 engh | s | 20 | 1\ NP a2
CXS032-40 | 98 [38|96(36| 18 | x1.0 75|44 8 [16]14|30| 2011 'Ifhréag 216(13| 125 | 76 | x | 19 [ 19|56 | 19 |40 [122 20 [115|10] (Port) | 75 Thr'eaﬁ 1.25[1.25|50 152
XS0 ] > 2
CXS032-50 | Port |e12'(iags 3 2L 12 30 1132 o i 160 8L 162
CXS032-75 75 | 157 gher | thr N
CXS032-100 100|182 212




ce
ISO9001:2008

Features

o Light weight and compact.

e Strong transverse load capaci
e Strong torque capacity.

o High Non-rotating precision.

o Either ball joint or slide joint are
available for directional bearing

for directional rod.
e Easy for installation.

o Position of both side ports are changeable.

MGP New Compact
Tri-rod Cylinder (220 ~ ©100)

ty.

Ordering Code

[ mcPm M 32 8 50 B wmr | *
\'/ o\ - - U - Vi

Ordering Code: (examples)

Cylinder dia needed: 12,

stroke: 50, slid able bearing.

Right model number: MGPM 12-50
Cylinder dia needed: 40, stroke: 100 ,

M: Slidable bearing 12 16
L: Ball bearing 20 25
32 40
50 63
80 100

Specification

Ball bearing with two sensor switches,
lead wire length 0.5 m.
Right model number: MGPL 40-100-MT2

MT2

* Standard wire is 1 meter,
please order for other length

Operation Fluid

Air

Operation

Double Acting

Anti-pressure testing pressure

1.5 MPa (15.3 kgf/cm?)

Max. Operation Pressure

1.0 MPa (10.2 kgf/cm?)

Min. Operation Pressure

0.12 MPa (1.2 kgf/cm?)

Ambient and fluid temperature

5 ~+60 °C

Piston Speed

50~500 mm/s 50~400 mm/s

Buffer Rubber Buffer

Stroke Tolerance +3"5 mm

*Lubrication Non-lub

Bearing Slidable bearing/Ball Bearing

Non-rotating rod | Slidable bearing +0.08° + 0.07° + 0.06° + 0.05° +0.04°
precision Ball Bearing +0.10° +0.09° +0.08° + 0.06° + 0.05°
Port Size Rc (PT) M5 x 0.8 1/8" 1/4" 3/8"

*If lubricant is demanded, please choose clear No.1 lubricant, ISOVG32.

Stroke
12,16 10,20, 30, 40, 50, 75, 100 57731 D-776L D-Z80L
20, 25 20,30,40,50, 75,100, 125, 175, 200 ) ; .

D-Y59AL D-Y59BL

32,40, 50, 63,80, 100

20,50, 75,100, 125, 150, 175, 200

* Strokes ( from 5, 10, 20, 30, 35

...... ) are added with 5, 10, 15, 20 mm thick gasket respectively,

ex: MGPM50-10 is with 15 mm thickness gasket (MGPM50-25).

** Please refer to sensor switch s

eries pages in this catalog for spec. and characteristic. Code for lead wire length as follow:

Blank - 0.5 m, L-3 m. Example: D-Y59AL, D-Y59AL.

49



MGP New Compact Vileh

Tri-rod Cylinder (@20 ~ @100) VILOP PNEUMATIC CO., LTIE,)

Cylinder series/ Gas source series/ Valve series/ Other serises

Load and Torque

F
E i Torgue: T(N)
i
L1 N
— Y@
12 MGPM 24 19 - 17 14 13 26 22 - - - -
MGPL 37 27 - 22 35 30 23 18 - - - -
16 MGPM 38 31 - 27 23 21 37 32 - - - -
MGPL 54 40 32 54 47 35 28 - - - -
20 MGPM - 49 - 43 38 35 87 75 66 59 54 49
MGPL - 58 - 48 101 90 70 58 62 54 48 43
25 MGPM - 69 - 60 54 49 116 100 88 79 71 65
MGPL - 82 - 68 132 118 93 77 80 70 62 55
32 MGPM - - 203 - - 164 182 159 142 127 116 106
MGPL - - 113 - - 78 130 107 130 114 101 90
40 MGPM - - 203 - - 164 182 159 142 127 116 106
MGPL - - 113 - - 78 129 106 130 114 101 90
50 MGPM - - 296 - - 245 273 241 216 195 179 164
MGPL - - 120 - - 83 178 148 148 129 114 102
MGPM - - 296 - - 245 273 241 216 195 179 164
63 MGPL - - 117 - - 81 176 145 145 126 111 99
MGPM - - 352 - - 297 368 329 298 272 251 232
80 MGPL - - 125 - - 99 281 240 208 184 163 147
100 MGPM - - 515 - - 445 498 450 410 377 349 325
MGPL - - 138 - - 108 395 340 297 263 235 211
0.39 0.32 - 0.27 0.24 0.21 0.43 0.36 - - - -
0.78 0.66 - 0.57 0.93 0.85 0.69 0.58 - - - -
0.69 0.58 - 0.49 0.43 0.38 0.69 0.58 - - - -
1.23 1.06 - 0.92 1.53 140 1.16 0.99 - - - -
- 1.05 - 0.93 0.83 0.75 1.88 1.63 144 1.28 116 1.06
- 170 - 1.52 3.06 2.87 247 2.17 2.38 2.16 1.98 1.82
- 176 - 1.55 1.38 1.25 2.96 2.57 2.26 2.02 1.83 1.67
- 2.80 - 2.53 4.67 4.39 3.81 3.36 3.65 3.31 3.02 278
- - 6.35 - - 5.13 5.69 4.97 442 3.98 3.61 331
- - 4.76 - - 3.86 6.53 5.75 7.10 6.46 5.92 5.47
- - 7.00 - - 5.66 6.27 5.48 4.87 4.38 3.98 3.65
- - 5.24 - - 4.25 7.19 6.33 7.81 7.11 6.52 6.02
- - 13.0 - - 10.8 12.0 10.6 9.50 8.60 7.86 7.24
- - 7.02 - - 5.76 12.3 10.9 11.2 10.2 9.40 8.69
- - 14.7 - - 121 135 12.0 10.7 9.69 8.86 8.16
- - 71.7 - - 6.35 13.7 12.2 125 114 10.5 9.65
- - 220 - - 18.6 229 20.5 18.6 17.0 15.6 14.5
- - 10.3 - - 9.35 24.8 227 209 19.4 18.0 16.9
- - 38.8 - - 335 375 33.8 30.9 284 26.2 244
- - 13.6 - - 12.2 41.1 37.9 35.1 327 30.5 28.6




ce MGP New Compact
509001:2008 Tri-Rod Cylinder (@20 ~@100)

IOveraII Dimension

4-YY Depth YL

| MGP
| @12~@25 ) 1
/ I}
A o AN
L4 Q
o]
|| 0
XL %H' ................ . g g
\ ) g Q 1 \\
) P
L XA,
wB , Depth XL xc
2 £
4-NN Through Hole 4-20A Through Hole 4-MM Depth ML
z WA 4-208 Recessed Hole OL L
4
559 A o8
m 1574 7
0 O
H alo > ) = 'E 8 78 g gt
7 I 1= >S5
SR\ E\E I . 2 KRJ 5
H X j
i @
:] 9 §| o =Y ) -
1 © g i [ /&
M/[L S N ePr 2o /] |55 DA DX
[PA+Stroke| | [CB] JBT JA
IEAIFB C+Stroke J K<
B+Stroke | E G
At+Stroke
I Dimension

MGPM, MGPL (212 ~ @25)

Bore | randard Stroke | B | C IDA FA|FB| G GA|GB H|HA[J [K|L| MM |[ML| NN |OA|OB|OL| P PAIPB PW| Q

(mm)
12 | 10,20,30,40, 42129 |6|8|5/|26| 11 |7.5/58|M4|13[13|18|M4x0.7|10|M4x0.7[4.3| 8 |4.5|M5x0.8| 13 | 8 | 18 |14
16 50,75,100 46 |33 |8 |8|5(|30| 11| 8 |64|M4|15|15[22|M5x0.8|12|M5x0.8[4.3| 8 [4.5|M5x0.8| 15 | 10 | 19 |16
20 53 | 37 |10|10| 6 |36|10.5|8.5|83|M5|18|18|24|M5x0.8| 13 |[M5x0.8|5.6 |9.5|5.5| Rc1/8 |12.5/10.5| 25 |18
20,30,40,50,75,100,
25 | 125150,175200 |53.5/37.5|12|10| 6 |42|11.5| 9 |93|M5|21|21|30|M6x1.0 |15 [M6x1.0|5.6 [9.5|5.5| Rc1/8 |12.5(13.5/28.5|26

WA WB
30st | 100st | orabove | 30st | to100st |or below
20 40 - 15 25 -
24 44 17 27

10,20,30,40, 3135|316
50,75,100 54125|62|46|56|38 - - 24|13 135/ 3|6 | M5x0.8 |10| 5
20,30,40,50,75, 70(30|81(54|72(44| 24 44 120 29 39 77 128| 3135/ 316| M6x1.0 (12|17
100,125,150,175,200 | 7838|91|64(82|50| 24 44 120 29 39 77 34| 4 |45/ 36| M6x1.0 (12|17

MGPM (Slidable Bearing) MGPL (Ball Bearing)

Bore _ .w_ A E
DB Bore
(mm) | Below 50st | Above 50st Below 50st | Above 50st (mm) | Below 30st 30st to 100st or 30st to 100st or
100st Above 100st Above
12 42 60> 8 0 18 12 43 55 85 6 1 13 43
16 46 645 |10 0 18.5 i 5 o o 5 3 i 25
20 >3 845 12 0 315 20 63 80 104 10| 10 27 51
25 53.5 85 16 0 315
25 69.5 80.5 1045 |13| 16 32 51

51



MGP New Compact Viloh

Tri-rod Cylinder (020~ 3100) VILOP PNEUMATIC CO., LTI:

Cylinder series/ Gas source series/ Valve series/ Other serises

Overall Dimension

MGP
@32 ~@D63 4-YY Depth YL
XA, ,.Depth XL
l’/
7 1
=Y
T Y Q H
g §
X ) o | v\
¥ (M m!
4 N X 9%
—I _//-
l XA, XC
— XL
wB =
Z WA
4-NN Through Hole 4 WA 4-POA Through Hole L 4-MM Depth ML
4-@0B Recessed Hole OL
f ¢ $J _l— 5 NS 4 P
/- I
[ = Orl
ol 5 E @I | g =
|z NN ‘ & X m|m
: EJ‘ S . —F — is 2 - E)I @k,j dis :
X A A il X
L \=4 &
] I fan)
@9 @l [ £D: = V\§>A\
& I /nfﬁ:l ¢
XA, ,DepthXL. Q GA PB XA, ;Dept XL
s -_EA+8t:r‘oke GBE 2:-F ltl_. K
FA|FB| C+Stroke G
B+Stroke E
A+Stroke
Dimension
MGPM, MGPL (332 ~ @63)
32 | 59.5(37.5|16(12(10(48(12.5[112| 9 |112| M6 |24|24|34|M8x1.25|20 | M8x1.25|6.6|11|7.5|Rc1/8| 7 | 15 |34 |30
40 | 10205:15205'7155;0 66 | 44 |16|12|10|54| 14 [120] 10 |120| M6 |27|27|40|M8x1.25| 20 | M8x1.25 |6.6| 11 |7.5|Rc1/8|13| 18 | 3830
50 [T 175200 | 72 | 44 [20|16|12(64| 12 [148| 11 |148| M8 |32|32|46|M10x1.5| 22 | M10xL5(8.6|14| 9 |Rcl/4| 9 |21.5|47 40
63 77 | 49 [20|16|12|78|16.5/162|13.5|162|M10|39 |39|58|M10x1.5| 22 | M10x15|8.6|14 | 9 |Rcl/4|14| 28 |55 |50
32 | 96 |44(110| 78 | 98 | 63 | 24 48 124 |33 45 83 |42]4|45|3|6|M8x1.25]16 |21
40 | 255075 1104]44/118] 86 [106] 72| 24 | 48 124 | 34| 46 84 50(4(45|3 |6 M8x1.25| 16 |22
50 |150,175,200|130/60|146(110|130{ 92 | 24 48 124 | 36 48 8 |66|5|6|4|8|M0xL5|20 |24
63 130|70(158(124|142|110| 28 52 128 | 38 50 88 |80|5| 6 |4|8|M0xL5|20 |24
MGPM (Slidable Bearing) MGPL (Ball Bearing)
32 97 102 |20 375 425 32 | 81 98 118 16| 215 385 58.5
40 97 102 |20 31 36 40 | 81 98 118 16| 15 32 52
50 | 1065 | 118 |25 345 46 50 | 93 114 134 20| 21 42 62
63 | 1065 | 118 |25 295 41 63 | 93 114 134 20| 16 37 57




ce MGP New Compact
509001:2008 Tri-Rod Cylinder (@20 ~@100)

IOveraII Dimension

| MGP
I @80 ~ @100 4-YYDepthYL
/ @XA DepthXL
1
/'/ ]
7 J
A D
o
x g
]
&
O-RQ o
o T
I /__/
LI XA,
wWB XC
z | wa XA, Depth XL XL
4-NN Through Hole Z _ WA 4-POA Through Hole L _, 4-MM Depth ML
4-70B Recessed Hole OL
I @ 1
Fe? ==
L @y [ a
o Tl 0
H T g ?m é’ 53 x| 5 o EI
g &/ = 2 X
[ o o
& & -
o, 1 2]
o QY =i ' -
;3 A!Gc o.p .0 @XA,Depth XL
PA+Stro (E1=]
FAFB C+Stroke
B+Stroke E
A+Stroke
I Dimension
MGPM, MGPL Dimension (@80 ~ @100)

Standard |

|

Stroke

80 | 255075, |965[56.5] 25 [22[18| 915 | 19[15.514.5202|M12[45.5[38| 7.5 |46 |54|M121175 | 30 [M12x1.75[ 10,6 17.5| 8 [Re3/8|14.5]25.5] 74 |52
1100,125,150,
100 |00 |116| 66 |30 |25|25|111.5| 23| 19 | 18 |240|Ml4|55.5|45|10.5|56 62| M14:20 |32 | M14:20 |12‘5| 2 | 8 Rc3/8|17‘5|32‘5| 89 |e4

Standard

WA WB
Stroke 25st|50,75,100st 50,75,100st
52 128 | 42 54 92

80 | 2550,75 |[174|75|198|156|180|140]| 28 100| 6 | 7 | 5 |10|M12x1.75 |24| 28
100,125,150,

100 | "7 76 500 |210[90|236|188| 210|166/ 48 72 148 35 47 85 124 6 | 7 | 5 |10| M14x20 (28|11
MGPM (Slidable Bearing) MGPL (Ball Bearing)

Bore A DB E Bore A DB E

(mm) (mm) | 2550st | 75,100st | Above 100st 25,50st | 75,100st | Above 100st
80 | 115 142 |30 185 455 80 | 109.5 130 160 25| 13 335 63.5
100 | 137 162 |36 21 46 100 | 121 147 180 30 5 31 64

53



SC / SU Series
Standard Cylinder

ISO9001:2008 C€

SCJ40x75-50 SC40x100-S SC80x50-S SC100x150

SU50x100-FA

I Ordering Code

AdjustabIeStrOke

SC: Tie rod type Blapk Standard double 32 10: 10mm S: With magnet  Blank: Basic mounting JEL-21R Type

g acting 9 20: 20mm Blank: Without  LB: Foot
= r’ “aman magnet %

50 30: 30mm !
SU: Profile type D: Double-shaft double 63 50: 50mm SC: Bracket for switch

»,3 acting = 30 W FA: Front flange
- e FB: Back flange
100 100: 200mm ety

J: Double-shaft with
adjustable stroke 125 SU: Bracket for swnch

type ﬁ 160 CA: Back hinge »
= 200 ‘ "

250
320 CB: Back hinge

* Standard wire is 1 meter,

l please order for other length

TC-M: Center
trunnion

I Specification

Bore (mm)

Operation . . . . Déuble Actihg

Working Medium Air

*Mountings Basic FA FB CA CB LB TC TC-M
Operating Pressure Range 1~9.0Kgf/cm?

Proof Pressure 13.5Kgf/cm?

Operating Temperature Range -20~70°C

Operating Speed Range 50 ~800mm/s

Cushion Adjustable Cushion
Adjustable Cushion Stroke 20mm | 26mm 52mm | 66mm
Port Size G1/8" G1/4" G3/8" G1/2" G1"

* SCD, SCJ mountings: FA, FB, LB, TC and TC-M type.




SC / SU Series \,’i.\.','f

Standard Cy|inder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Stroke

Bore Standard Stroke Max. Stroke| Allowable Stroke
32 25 50 75 80 100 125 150 160 200 250 300 350 400 1000 2000
40 25 50 75 80 100 125 150 160 200 250 300 350 400 1200 2000
50 25 50 75 80 100 125 150 160 200 250 300 350 400 1200 2000
63 25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000
80 25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000

25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000

25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000

25 50 75 80 100 125 150 160 200 250 300 350 1500 2000

25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000

25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000

25 50 75 80 100 125 150 160 200 250 300 350 400 1500 2000

I Internal Structure

M‘ -

,,,;m”

W 32:‘

ot

I Parts

Number Name Number Name

Piston rod 9 Piston seal

Hexagon nut 10 Magnet

Shaft seal 11 Anti-friction ring

Front cover 12 Barrel

Copper tube 13 Pull rod

Cushion adjust screw 14 Back cover

Cushion seal 15 Oring

Piston




SC / SU Series

1S09001:2008 C€E ]
Standard Cylinder

IOveraII Dimension

A+Stroke
C+Stroke

2-Cushion Adusting Screw,

A1 +Strokex2
C+Stroke B+Stroke
G E+Stroke

2-Cushion Adusting Screw Q

A2+Strokex2+Adjustable Stroke

C+Stroke
G G_|F,_ Stroke

Q]
T

\2-Cushion Adusting Screw Z+Adjustable Stroke

I Dimension

Bore/ Symbol| A Al
32 140 187 M10x1.25
40 141 191 M12x1.25
50 150 207 M16x1.5
63 153 210 M16x1.5
80 183 258 M20x1.5
189 264 M20x1.5
226 330 M27x2
291 414 M36x2
347 514 M36x2
389 578 M42x2
436 652 M48x2

Bore/ Symbol

N IS N SN IS N IS NN
NN SN NN IN N NN




SC / SU Series

1S09001:2008 C€ :
Standard Cylinder Accessory

LB Foot

IOveraII Dimension I Dimension

~ \Cylinder Axial line Bore/Symbol| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200

N AA 153 | 169 | 173 | 184 | 200 | 210 | 249 | 328 | 380
AC+Stroke AC 134 | 140 | 149 | 158 | 168 | 174 | 249 | 288 | 320

AA+Stroke AD 95 | 145 | 12 12 16 18 18 20 30
AE 50 57 68 80 97 112 | 140 | 180 | 220
AF 33 36 47 56 70 84 90 115 | 135

©
AG 28 31 30 30 45 60 70
©

AJ 28 30 41 49 57 90 115 | 135
AP 9 12 12 12 14 14 16 18 22
AT 3 3 3 3 4 4 7 8.5 9

FA / FB Flange

Bore/Symbol| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
BA 283 | 323 | 383 | 383 | 473 | 473 | 56 63 81
BB 10 10 10 12 16 16 20 20 25
BC 47 52 65 76 95 115
BD 33 36 47 56 70 84 90
BE 72 84 162
BF 58 70 86 98 138
BH 6.5 6.5 6.5 8.5 10.5
AJ 16.6
AK 6.5 6.5 6.5 8.5 10.5
BP 7 7 9 9 12
T 33 37 47 56 84

CA Clevis

Bore/Symbol| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200

S 45 50 62 75 94 112 | 140 | 180 | 220

T 33 37 47 56 70 84 110 | 140 | 175
DC 34 34 34 34 48 48 50 55 60
DD 14 14 15 15 20 20 25 30 30
DE 12 14 14 14 20 20 25 30 30
DJ 14 14 15 15 20 20 25 30 30
DQ 16 20 20 20 32 32 70 90 90

D 6.5 6.5 6.5 8.5




SC / SU Series \,‘iﬁi,@

Standard Cylinder Accessory VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

CB Double Earring

IOveraII Dimension I Dimension

Bore/Symbol| 32 | 40 | 50 | 63 | 80
CcC 19 19 19 19 32
Ccb 5 5 3 3 8
CE 12 14 14 14 20
a 13 13 15 15 21
cp
cT 32 44 52 52 64
41 53 61 61 75
34 46 54 54 66
48 50 62 75 94
33 37 47 56 70
6.5 | 65 | 6.5 8.5

TC Center Trumion

IOveraII Dimension

Bore/Symbol | 32 40 50 63 80 | 100 | 125 | 160 | 200
EB 87 | 113 | 126 | 138 | 164 | 182 | 210 | 264 | 316
EC 53 | 63 | 76 | 88 | 114 | 132 | 160 | 200 | 233
ED 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
EE 55 | 63 | 76 | 88 | 114 | 132 | 160 | 200 | 233
EG 16 | 25 | 25 | 25 | 25 | 25 | 25 | 32 | 35
EP 16 | 25 | 25 | 25 | 25 | 25 | 30 | 32 | 32
ET 30 | 30 | 30 | 30 | 35 | 40 | 38 | 38 | 46
S




ISO9001:2008 (€

IOveraII Dimension

I Dimension,

Bore/Symbol| NA | NB | NC | ND

32 19 20

10

40

NE
52

NF
15

(\[€}
20

Y/I Knuckle

NH
M10x1.25

40 24 | 24

12

48

67

24

20

M12x1.25

50 32 32

16

64

89

32

23

M16x1.5

63 32 32

16

64

89

32

23

M16x1.5

80 40 40

20

80

40

30

M20x1.5

40 | 40

20

80

40

30

M20x1.5

62 49

20

99

54

50

M27x2

70 61

30

43

70

M36x2

70 61

30

43

70

M36x2

I Dimension

Bore/Symbol NH
20 CK-M6x1

KK
M6x1

25 CK-M8x1.25

M8x1.25

32 CK-M10x1.25

M10x1.25

40 CK-M12x1.25

M12x1.25

50/63 CK-M16x1.5

M16x1.5

80/100 CK-M20x1.5

M20x1.5

59


Administrator
插入号


lOveraII Dimension

I Dimension

Bore/Symbol PA

32

11

PG
M10x1.25

HSA Universal Piston Rod Eye

40

12

M12x1.25

50

15

M16x1.5

63

15

M16x1.5

80

18

M20x1.5

18

M20x1.5

IOveraII Dimension

I Dimension

Bore/Symbol |  MA

32

58

MB
22

MC
7

-DJT Piston Floating Jiont

MD

21

ME

26

MI
M10x1.25

MJ
M10x1.25

40

58

22

8

21

28

M12x1.25

M12x1.25

50

90

27

10

41

M16x1.5

M16x1.5

63

90

27

10

41

M16x1.5

M16x1.5

80

29

13

46

M20x1.5

M20x1.5

29

13

46

M20x1.5

M20x1.5

60



SDA Series v’iﬁ}f

Compact Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

SDA16X30

SDA32X5

SDA50X60

SDA25X60-B DA50X60-B
Features SDAS0X60

1. Improving for adapting wide range applications,using precise polishing of piston rod, more sense of
products quality and longer life of front seal.

2. Adjust the structure to the optimal state, and ensure the smooth operation of the product.

3. The piston rod and the back cover cramping technology, improving product quality.

4. Combined with enterprise color planning,it is redesigned by new color system and precise treatment

of particulars. The back cover cramping

IOrdering Code

Adjustable Stroke Thread Type

SDA : Double acting 12 16 5-130mm S : With magnet Blank : Female thread JEL-11R
SSA : Single acting, spring-out 20 25 Blank : Without magnet B : Male thread

STA : Single acting, spring-in 32 40 N : No thread

SDAD : Double-shaft type 50 63

SDAJ : Double-shaft with 80 100

adjustable stroke

Specification

Bore(mm)
Double Acting

Operation

Single Acting Spring-out/Single Acting Spring-in ‘ -
Working Medium Air
Operating Double Acting 0.1~1.0Mpa
Pressure Range | gjngle Acting 0.2~0.9Mpa ‘ -
Proof Pressure 1.5 Mpa
Operating Temperature Range -20~70°C
Operating Speed | Double Acting 30~500 mm/s ‘ 30~ 350 mm/s ‘ 30~250 mm/s
Range Single Acting 50 ~ 500 mm/s -
Port Size M5x0.8 | e | e G3/8"




ce
ISO9001:2008

I Internal Structure

SDA Series

Compact Cylinder

I Parts

Number Name Number ’ Name
1 Piston rod 8 Magnet
2 Front cover 9 Piston seal
3 Cclip 10 Anti-friction seal
4 Shaft seal 11 Magnet base
5 DU bearing 12 Anti-collision gasket
6 Oring 13 Back cover
7 Piston 14 Body

62



SDA Series "‘imi’@

Compact Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| SDA12-16 Female thread | SDA20-100 Female thread
A+Stroke A+Stroke
B1_ C+Stroke B1 C+Stroke D
M P33 P3 M P3, P3 S R
P4 P4 Pa 4 T1
fraa) Zan)
- - ©
M>TRLA A = /f of -
!SIJ&_ Q P - H O sl o S J ¢)§“ Bt
o K - W
\ K1Depth £ K1Deptn E_PZ o
w / w \ ) e
Fll.1G\2.0 2-p1 IR 4:P1
NE N2 ] - \a
| SDA12-16 Male thread | SDA20-100 Male thread
B+Stroke B+Stroke
AtStroke H _[B1 Aé?éliiie D
H_|B1_ C+Stroke s VERBES 55 S =
M P3 P3] T 1) = = TK1
Pa P4 K *_l*
frad) /a
mll=2 J )
8 =09 D afs] 2 D) X C|w
iR SEE i e— &
| / I/ w ) ran)
W \ 4-P1 & 9
= G\o.0 [=INE] 5.0
N1 NE) N1 N
I Dimension
12 22 32 34 44 17 27 5 - 6 | 4|2 |12| M5x08 | 4 M3x0.5 |10 | 3 7.5 5
16 24 34 36 46 185 | 285 |55| ~ 6 |4 |2 (12| M5x08 | 4 M3x0.5 |11 | 3 8 5 | 5.5
20 25 35 40 50 195 | 295 (5536 | 8 | 4 [15]|15| M6x10 | 5 | 10 | M4x0.7 |13 | 3 85 5.5
25 27 37 44 54 21 31 6 |42 (10| 4| 2 |17 |M8x1.25| 6 |14 | M5x0.8 |17 | 3 5.5
32 315 | 415 | 495 | 595 | 245 | 345 | 7 | 50 (12| 4 | 3 |18 |[M10x125| 6 |17 | M6x1.0 |22 | 3 6.5 | 8
40 33 43 61 71 26 36 | 7 |585|12| 4 | 3 |28 |MI14x15| 8 |22 | M8x125 |28 | 3 7.5
50 37 47 65 75 28 38 9 |715|15| 5| 4 |28 | M18x15| 9 | 27 | M10x15|38 | 3 | 8 |10.5| 8 |10.5
63 41 51 69 79 32 42 9 [845|15| 5| 4 |28 |M18x15| 9 |27 | M10x15|40| 3 | 95| 11 |95 ]| 11
80 52 62 85 95 41 51 |11 (10420 | 6 | 5 |33 |M22x15| 13 | 32 | M14x15|45| 4 |115| 14 |115] 14
100 63 73 101 111 51 61 [12|124 |20 | 7 | 5 |38 |M26x15| 12 |36 | M18x15 |55 4 | 15| 20 | 15 | 18
12 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 12 | 45 B 25 | 163 | 23 6 5 B -
16 M5x0.8 Double Side: 6.5, Cog: M5x0.8. Through Hole: ®4.2 12 | 45 - 29 | 198 28 6 5 - -
20 M5x0.8 Double Side: ®6.5, Cog: M5x0.8, Through Hole: ®4.2 14 | 45 2 34 | 24 - 8 6 |[11.2| 10
25 M5x0.8 Double Side: ®8.2, Cog: M6x1, Through Hole: ®4.6 15 | 55 2 40 | 28 - 10 8 12 | 10
32 G1/8 Double Side: ®8.2, Cog: M6x1, Through Hole: ®4.6 16 | 55 6 44 | 34 - 12 | 10 | 18 | 14
40 G1/8 Double Side: 10, Cog: M8x1.25, Through Hole: ®6.7 20 | 75 | 65 | 52 40 - 16 14 21 14
50 Gl/4 Double Side: 11, Cog: M8x1.25, Through Hole: ®6.7 25 | 85 | 95 | 62 | 48 - 20 | 17 | 295| 19
63 G1/4 Double Side: ®11, Cog: M8x1.25, Through Hole: ®6.7 25 | 85 | 95 | 75 | 60 - 20 | 17 | 26 | 19
80 G3/8 Double Side: ®15, Cog: M12x1.75, Through Hole: 9.2 25 |105| 10 | 94 | 74 - 25 | 22 | 36 | 26
100 G3/8 Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3 30 13 10 | 114 | 90 - 32 27 | 355 26




ce SDA Series

ISO9001:2008

Compact Cylinder

I Overall Dimension

| SSA12-16 Female thread | SSA20-63 Female thread
A+Stroke A+Stroke
B C+Stroke B1 C+Stroke
VRL=<F L3 v P3 S} D
P4 P4 P4 P4 S =
I T
= -
Q& #-@ b E 0
& K1Depth E | >I N N
w / NS i P
Fl_. G\2-0 2-P1
N1 NE| wW \
[SIINE] 2.0
| NI INE|
| SSA12-16 Male thread | SSA20-63 Male thread
B+Stroke B+Stroke
A+8troke A+Stroke
H_|B C+Stroke s H  [B1 C+Stroke g =
M| 22 £33 (T13 v =P3 P3 T4
g} P4 4 5 B4 P4 K
- }3 @ J 1\ {}
Jt 2 5 5 7 Sl = ~
(S g P " N —
% K &2 € &l =100 5 ) AR o
‘l/J NS TR D i Xl -
W = e~/ 7 J
L 2-0 S
N1 NZ) vV w \\ @
I=AE] 2.0
N1 N2|
Dimension
12 32 42 42 52 44 54 54 64 27 37 37 47 5 B 6| 4 2 |12 | M5x08 |4 |8 | M3x05
16 34 44 44 54 46 56 56 66 | 285 | 385 | 385 | 485 [55| 6 | 4|2 |12| M5x08 |4 |8 | M3x05
20 35 45 45 55 50 60 60 70 | 295 | 395 | 395|495 (55| 36 | 8 | 4 |15|15| M6x10 |5 |10 M4x0.7
25 37 47 47 57 54 64 64 74 31 41 41 51 6 |42 (10| 4 2 |17 | M8x1.25 | 6 |14| M5x0.8
32 415 | 51.5 | 51.5 | 61.5 | 59.5 | 69.5 | 69.5 | 795 | 345 | 445 | 445 | 545 | 7 50 |12 | 4 3 |18 | M10x1.25| 6 |17| M6x1.0
40 43 53 53 63 71 81 81 91 36 46 46 56 | 7 | 585 |12 | 4 | 3 |28 | M14x15 | 8 [22| M8x1.25
50 47 57 57 67 75 85 85 95 38 48 48 58 | 9 | 715 |15 | 5 | 4 | 28 | M18x1.5 | 9 |27 | M10x1.5
63 51 61 61 71 79 89 89 99 42 52 52 62 | 9 |845|15| 5 | 4 | 28| M18x15 | 9 (27| M10x1.5
80 62 72 72 82 95 105 105 115 51 61 61 71 11104 |20 | 6 5 | 33| M22x1.5 |13|32| M14x15
100 73 83 83 93 111 121 121 131 61 71 71 81 121124120 | 7 5 | 38| M26x1.5 (12|36 M18x1.5
12 10| 3 7.5 5 M5x0.8 | Double Side: ®6.5. Cog: M5x0.8, Through Hole: ®4.2 | 12 | 45| - | 25 (16323 | 6 | 5 - -
16 11| 3 8 5 |5.5 M5x0.8 | Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 | 12 | 45| - | 29 |198| 28 | 6 5 - -
20 13| 3 8.5 5.5 M5x0.8 | Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 | 14 [ 45| 2 | 34 | 24 | - 8 6 |11.2| 10
25 17| 3 9 55 M5x0.8 Double Side: 8.2, Cog: M6x1, Through Hole: ®4.6 15|55 2 | 40| 28 - 10 ( 8 | 12| 10
32 22| 3 9 6‘5| 8 | G1/8 Double Side: ®8.2, Cog: M6x1, Through Hole: ®4.6 16 55| 6 |44 |34 | - | 12|10 |18 | 14
40 28| 3 9 7.5 G1/8 | Double Side: @10, Cog: M8x1.25, Through Hole:®6.7 | 20 | 75 | 65| 52 | 40 | - | 16 | 14 | 21 | 14
50 38| 3 | 8 (105 8 |105| Gl/4 Double Side: ®11, Cog: M8x1.25, Through Hole: ®6.7 | 25 | 85| 95| 62 | 48 | - | 20 | 17 |29.5| 19
63 40| 3 [95|11|95| 11| G1/4 | Double Side: 11, Cog: M8x1.25, Through Hole: ®6.7 | 25 [ 85| 95| 75 [ 60 | - |20 | 17 | 26 | 19
80 45| 4 |115| 14 |115| 14 | G3/8 | Double Side: 15, Cog: M12x1.75, Through Hole: ®9.2 | 25 (10.5| 10 | 94 | 74 | - | 25 | 22 | 36 | 26
100 |55| 4 [ 15|20 | 15|18 | G3/8 | Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3 | 30 | 13 | 10 |114| 90 | - | 32 | 27 |355| 26




SDA Series \,‘i'[o\lf

Compact Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| STA12-16 Female thread | STA20-63 Female thread
A+Strokex2 A+Strokex2
B1+Stroke _ C+Stroke B1+Stroke C+Stroke D
P3 P3 P3 P3
M ] | S
P4 P4 M Pa P4 T‘? B
T D [ _rL
1 J ! fan)
sRE o . | L © ©
NS g g &) / \
\ > N N &Q A0
w/ 8e X hd J) S+
F+Stroke G R X
NE 2-0 w 7/ \ K" Depth E & @
\ 4-P1 1
FiStroke| | G o.0
X h2
| STA12-16 Male thread | STA20-63 Male thread
B+Strokex2
A-Strokex2 2 Seoke 2
A+Strokex2
H_|B14Stroke . C+Stroke i [B1rewoke C:Stroke
M P3 P3 T1) v 53 B
3 2 =2 LS Pa Pa
=  — It
—‘t> £ D 5 < 777 =
Q18L& \.\ 9O f
> A vl s
Vw /| alsHE @ 3 & Bt
FiStroke|| TG\ 5 g _|/l Xt R
N NE w \ o @ @ '
FiStroke|| G >0
] e
I Dimension
12 32 42 42 52 44 54 54 64 27 37 37 47 5 - 6|4 ]2]|12| M5x08 | 4| 8 | M3x05
16 34 44 44 54 46 56 56 66 | 285 | 385 | 385 | 485 [55| - |6 |4 |2 |12| M5x08 |4 | 8 | M3x0.5
20 35 45 45 55 50 60 60 70 | 295 | 395 | 395 | 495 |55| 36 | 8 | 4 [15[15| M6x1.0 |5 10| M4x0.7
25 37 47 47 57 54 64 64 74 31 41 41 51 6|42 |10 4| 2|17 | M8x1.25 | 6 |14 | M5x0.8
32 415 | 515 | 515 | 615 | 595 | 69.5 | 69.5 | 795 | 345 | 445 | 445 | 545 | 7 | 50 |12| 4 | 3 |18 |M10x1.25| 6 |17 | M6x1.0
40 43 53 53 63 71 81 81 91 36 46 46 56 | 7 [585|12| 4 | 3 |28 | M14x15 | 8 |22 | M8x1.25
50 47 57 57 67 75 85 85 95 38 48 48 58 9 |715|15( 5| 4 | 28| M18x15 | 9 |27 | M10x1.5
63 51 61 61 71 79 89 89 99 42 52 52 62 9 |845|15| 5 | 4 |28 | M18x1.5 | 9 |27 | M10x1.5
80 62 72 72 82 95 105 105 115 51 61 61 71 11104 |20| 6 | 5|33 | M22x1.5 |13|32| M14x15
100 73 83 83 93 111 | 121 | 121 | 131 61 71 71 8l |12(124|20| 7 |5 |38| M26x1.5 |12|36| M18x1.5
12 10| 3 75 5 M5x0.8 | Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 | 12 45| - | 25 [16.3| 23 5 - -
16 11| 3 8 5 | 5.5 | M5x0.8 | Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 | 12 | 45| - | 29 |19.8| 28 5 - -
20 13| 3 85 5.5 M5x0.8 | Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 | 14 |45 2 |34 | 24 | - 8 6 |11.2| 10
25 1713 9 55 M5x0.8 | Double Side: 8.2, Cog: M6x1. Through Hole: ®4.6 15 (55| 2 (40|28 | - |10 | 8 |12 |10
32 22| 3 9 6.5| 8 | G1/8 Double Side: 8.2, Cog: M6x1, Through Hole: ®4.6 16 |55| 6 |44 |34 | - (12|10 |18 | 14
40 28| 3 9 7.5 G1/8 Double Side: ®10, Cog: M8x1.25, Through Hole: ®6.7 | 20 | 75 |65| 52 |40 | - |16 | 14 | 21 | 14
50 38| 3 | 8 (105 8 |10.5| G1/4 | Double Side: @11, Cog: M8x1.25, Through Hole: ®6.7 | 25 |85 (95| 62 | 48| - | 20 | 17 |29.5| 19
63 40| 3 |95|11 (95|11 | G1/4 | Double Side: 11, Cog: M8x1.25, Through Hole: ®6.7 | 25 | 85|95 |75 |60 | - |20 | 17 | 26 | 19
80 45| 4 |115| 14 [115| 14 | G3/8 | Double Side: ®15, Cog: M12x1.75, Through Hole: ®9.2 | 25 |10.5| 10 | 94 | 74 | - [ 25| 22 | 36 | 26
100 55(4|15|20| 15|18 | G3/8 | Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3 | 30 | 13 | 10 (114| 90 | - | 32 | 27 |35.5| 26




ce

ISO9001:2008

I Overall Dimension

|SDAD12-16 Female thread

A+Strokex2

B1+Stroke

C+Stroke_ 81

<

123
P4

==

23

aL
av
|

A

F+Stroke

| SDAD12-16 Male thread

N

SDA Series

Compact Cylinder

|SDAD20-100 Female thread

A+Strokex2
B1+Stroke C+Stroke B1
P3 P M R
M
- b4
. —
Bl e———o i P
W \ K1DegthE
Y 4-p1
F+Stroke || T3 5.0 G ||F|
N1 N1

| SDAD20-100 Male thread

B+Strokex2
B+Strokex2 A+Strokex2
A+Strokex2 H _[B1+Stroke C+Stroke B81_H D
H [B1+Stroke, _ C+Stroke_B] " P3 EIRDY = =
P3 P3 Pa B <
M B3| A L=
J Tz J J (7 A
4 f —td PSRN A
—‘Ft N N[l BN S7 - /K?/‘\ =l
NSRS, “& hd N 8 e \? 16 H N’N Qg gé (0
U W 4 X R
J F+Stroke G\o.0G vw \\ 4-p1 @
N N1 F+Stroke| | N G |IF
[l il
Dimension
12 27 37 51 61 17 27 5 - 6 4 2 12 M5x0.8 4 8 M3x0.5 | 10 | 3 | 55 | 65
16 29.5 395 535 63.5 185 285 | 55 - 6 4 2 12 M5x0.8 4 8 M3x0.5 | 11 | 3 | 65 | 75
20 30.5 40.5 60.5 70.5 195 295 | 55| 36 8 4 | 15| 15 M6x1.0 5 10 | M4x0.7 | 13 | 3 7.5
25 33 43 67 77 21 31 6 42 10 4 2 17 M8x1.25 6 14 M5x0.8 | 17 3 8
32 385 48.5 74.5 84.5 245 34.5 7 50 12 4 3 18 | M10x1.25| 6 17 M6x1.0 | 22 3 8 9
40 40 50 96 106 26 36 7 | 585 | 12 4 3 28 | M14x15 | 8 | 22 | M8x125| 28 | 3 8 10
50 46 56 102 112 28 38 9 | 715| 15 5 4 28 | M18x15 | 9 | 27 | M10x15| 38 | 3 8 |105
63 50 60 106 116 32 42 9 [ 845 | 15 5 4 28 | M18x15 | 9 | 27 | M10x15 | 40 | 3 | 95| 11
80 63 73 129 139 41 51 11 | 104 | 20 6 5 33 | M22x15 | 13 | 32 | M14x15 | 45 | 4 |115]| 14
100 75 85 151 161 51 61 12 | 124 | 20 7 5 38 | M26x15 | 12 | 36 | M18x15 | 55 | 4 | 15 | 20
12 M5x0.8 Double Side: ®6.5, Cog: M5x0.8, Through Hole: ®4.2 12 45 - 25 16.3 23 6 5 - -
16 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 12 4.5 B 29 19.8 28 6 5 - -
20 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 14 4.5 2 34 24 - 8 6 11.2 10
25 M5x0.8 Double Side: 8.2, Cog: M6x1, Through Hole: 4.6 15 5.5 2 40 28 - 10 8 12 10
32 G1/8 Double Side: ®8.2, Cog: M6x1. Through Hole: ®4.6 16 55 6 44 34 - 12 10 18 14
40 G1/8 Double Side: ®10, Cog: M8x1.25, Through Hole: ®6.7 20 75 6.5 52 40 - 16 14 21 14
50 G1/4 Double Side: ®11, Cog: M8x1.25, Through Hole: ®6.7 25 8.5 9.5 62 48 - 20 17 29.5 19
63 Gl/4 Double Side: ®11, Cog: M8x1.25, Through Hole: 6.7 25 8.5 9.5 75 60 - 20 17 26 19
80 G3/8 Double Side: @15, Cog: M12x1.75, Through Hole: 9.2 25 10.5 10 94 74 - 25 22 36 26
100 G3/8 Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3 30 13 10 114 90 - 32 27 35.5 26

66



SDA Series u’i'f}i,@

Compact Cy|inder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| SDAJ12-16 Female thread

A+Strokex2+Adjustable Stroke

Msmke C+Stroke B1
G+Adustable Stroke | | P 3 P3 M
F’fl P{4
! 1 1 1
0 - ERe- OB 3
~ K1Depth E = K
L W
2-P1 i—{—— 2.0 & F
[N N
| SDAJ12-16 Male thread |
B+Strokex2+Adjustable Stroke
A+Strokex2+Adjustable Stroke
s Q:StroketAdjustable Stroke  C+Stroke B1_H
T1) O+Adjustedle Stroke | | P3 P3 M
K Pi4 P‘,4
| 1 J
"k oo B
E = “’K ~
! W |
G 2.0 G_||IF
N1 N1
I Dimension
12 41 51 53 63 17 27 5 - 6 4 2 |12 M5x0.8 4 8 M3x0.5 [ 10 | 3 | 55| 65
16 43 53 55 65 18.5 285 | 55 - 6 4 2 | 12 M5x0.8 4 8 M3x05 |11 | 3 | 65| 75
20 475 57.5 62.5 725 19.5 295 | 55| 36 8 4 |15 15 M6x1.0 5|10 | M4x07 |13 | 3 7.5
25 53 63 70 80 21 31 6 | 42 |10 | 4 2 | 17 | M8x125 | 6 | 14 | M5x08 |17 | 3 8
32 61.5 715 79.5 89.5 24.5 345 7 50 | 12 | 4 3 | 18 [ M10x125| 6 | 17 [ M6x1.0 | 22 | 3 8 9
40 64 74 92 102 26 36 7 |585|12 | 4 3 | 28 | M14x15 | 8 | 22 | M8x1.25 | 28 | 3 8 | 10
50 70 80 98 108 28 38 9 |715| 15| 5 4 | 28 | M18x15 | 9 | 27 | M10x15 |38 | 3 8 | 105
63 74 84 102 112 32 42 9 |845| 15| 5 4 | 28 | M18x15 | 9 |27 | M10x15 [ 40| 3 [ 95| 11
80 92.5 1025 | 1255 | 1355 41 51 11 | 104 | 20 | 6 5 | 33 | M22x15 | 13 | 32 | M14x15 | 45 | 4 |115| 14
100 110.5 | 1205 | 1485 | 1585 51 61 12 | 124 | 20 | 7 5 | 38 | M26x15 | 12 | 36 | M18x15 | 55 | 4 | 15 | 20
12 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 12 4.5 17 - 25 (163 | 23 6 5 - -
16 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 12 45 17 - 29 | 198 | 28 6 5 - -
20 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 14 | 45 21 2 34 24 - 8 6 112 | 10
25 M5x0.8 Double Side: 8.2, Cog: M6x1, Through Hole: ®4.6 15 5.5 24 2 40 28 - 10 8 12 10
32 G1/8 Double Side: 8.2, Cog: M6x1, Through Hole: ®4.6 16 5.5 27 6 44 34 - 12 10 18 14
40 G1/8 Double Side: @10, Cog: M8x1.25, Through Hole: ®6.7 20 7.5 28 6.5 52 40 - 16 14 21 14
50 Gl/4 Double Side: @11, Cog: M8x1.25, Through Hole: ®6.7 25 8.5 29 9.5 62 48 - 20 17 | 295 | 19
63 Gl/4 Double Side: @11, Cog: M8x1.25, Through Hole: ®6.7 25 8.5 29 9.5 75 60 - 20 17 26 19
80 G3/8 Double Side: @15, Cog: M12x1.75, Through Hole: ©9.2 25 | 105 | 355 | 10 94 74 - 25 22 36 26
100 G3/8 Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3 30 13 [ 425 | 10 | 114 | 90 - 32 27 | 355 | 26




ce SDA Series

1503001:2008 Compact Cylinder

I Overall Dimension

|SDAJ20-1OO Female thread

A+Strokex2+Adjustable Stroke

D G+Stroke+Adjustable Stroke C+Stroke B1
Q+Adjustable Stroke P3 P33
R S M
=1 P4 P4
.|
- q A =
0 g i Dy Sl
\ w
Y
G 50 G ||H
N1 N7
|SDAJ20—100 Male thread
B+Strokex2+Adjustable Stroke
D A+Strokex2+Adjustable Stroke
=) S O+StrokerAdustable Strake C+Stroke B1l. H
T G+Adjustable Stroke | [_P3 P3 M
< P4 P4
ey J
NP =N\ = =
2N
NEY ff“\ %\ q D N N>t
o] 5 >.E & d & (v Wy RN
D
© \ w
G 2.0 G_||F|
N1 INT]
Dimension
12 41 51 53 63 17 27 5 - 6 4 2 12 | M5x08 | 4 8 M3x05 | 10 | 3 | 55| 65
16 43 53 55 65 18.5 285 | 55 - 6 4 2 12 | M5x0.8 | 4 8 M3x05 | 11 | 3 | 65| 7.5
20 47.5 575 62.5 725 19.5 295 | 55| 36 8 4 | 15|15 | M6x10 | 5 | 10 | M4x0.7 | 13 | 3 7.5
25 53 63 70 80 21 31 6 42 |10 | 4 2 17 | M8x125| 6 | 14 | M5x0.8 | 17 | 3 8
32 61.5 715 79.5 89.5 245 345 7 50 | 12 | 4 3 18 (M10x1.25| 6 | 17 | M6x1.0 | 22 | 3 8 9
40 64 74 92 102 26 36 7 | 585 |12 | 4 3 | 28 | M14x15 | 8 | 22 | M8x1.25 | 28 | 3 8 10
50 70 80 98 108 28 38 9 | 715 | 15 5 4 | 28 | M18x15| 9 | 27 | M10x1.5| 38 | 3 8 [105
63 74 84 102 112 32 42 9 | 845 | 15 5 4 | 28 | M18x15| 9 | 27 | M10x15 | 40 | 3 | 95| 11
80 92.5 102.5 | 1255 | 1355 41 51 11 [ 104 | 20 | 6 5 | 33 | M22x15 | 13 | 32 | M14x15| 45 | 4 |115| 14
100 1105 | 120.5 | 1485 | 1585 51 61 12 | 124 | 20 | 7 5 | 38 | M26x15 | 12 | 36 | M18x15| 55 | 4 | 15 | 20
12 M5x0.8 Double Side: ®6.5, Cog: M5x0.8, Through Hole: ®4.2 12 4.5 17 - 25 | 163 | 23 6 5 - -
16 M5x0.8 Double Side: 6.5, Cog: M5x0.8, Through Hole: ®4.2 12 45 17 - 29 | 198 | 28 6 5 - -
20 M5x0.8 Double Side: ®6.5, Cog: M5x0.8, Through Hole: ®4.2 14 45 21 2 34 24 - 8 6 112 | 10
25 M5x0.8 Double Side: 8.2, Cog: M6x1, Through Hole: ®4.6 15 5.5 24 2 40 28 - 10 8 12 10
32 G1/8 Double Side: 8.2, Cog: M6x1, Through Hole: ®4.6 16 5.5 27 6 44 34 - 12 10 18 14
40 G1/8 Double Side: @10, Cog: M8x1.25, Through Hole: ®6.7 20 7.5 28 6.5 52 40 - 16 14 21 14
50 Gl/4 Double Side: @11, Cog: M8x1.25, Through Hole: ®6.7 25 8.5 29 9.5 62 48 - 20 17 | 295 | 19
63 G1/4 Double Side: ®11, Cog: M8x1.25, Through Hole: ®6.7 25 8.5 29 9.5 75 60 - 20 17 26 19
80 G3/8 Double Side: @15, Cog: M12x1.75, Through Hole: ®9.2 | 25 | 105 | 355 | 10 94 74 - 25 22 36 26
100 G3/8 Double Side: ®17.5, Cog: M14x2, Through Hole: ®11.3 | 30 13 | 425 | 10 | 114 | 90 - 32 27 | 355 | 26




CQ?2 Series v?.}.f
Thin Type Cylinder

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Features

1. Changed coopper bearing and use DU bearing. cover use snap ring structure).

2. Changed NBR seal and use PU seal. 6. Gasket use SDA anti-collision gasket structure.

3. Changed anti-friction seal and use new POM anti-friction seal. 7. Barrel appearance is same with SMC new type-CQ?2 series,
4. Using new SDA rolling technique for the piston rod and piston. easy to install the sensor and save material.

5. Using SDA rolling technique for the tail barrel (S>100, end

IOrdering Code

“ﬂﬂm““-

magnet Standard (Standard) 20: 20mm M: Male thread * Standard
Double Double acting 5= wire is 1
A: Both end 30: 30mm meter,

thread hole 50: Somm foroter

75: 75mm length

T: Single é 100: 100mm
actlng, _—
spring-in S

Blank Without Blank o ; B: Thru hole 10: 10mm Blank: Female thread ~ D-A73

D: With magnet

S: Single
acting,
sprlng -out

W: Double
shaft

JAdJustabI ] 5

I Specification

Bore (mm)
Double Acting

Operation - - - - - e
Single Acting Spring-out / Single Acting Spring-in

Working Medium Air

Operating Double Acting 0.1~1.0MPa

Pressure Range | Single Acting 0.2~0.9MPa

Proof Pressure 1.5MPa

Operating Temperature Range -20~70°C

Operating Speed | Double Acting 30~500mm/s | 30~350mm/s | 30 ~250mm/s
Range Single Acting 50 ~500mm/s -
Port Size M5x0.8 | G1/8 | G1/4 G3/8




ISO9001:2008 C€

Internal Structure

@

®

® @

Name

Piston rod

CQ2 Series

Thin Type Cylinder

Name

Piston

Shaft seal

Magnet

Front cover

Magnet base

Cclip

Piston seal

DU bearing

Anti-friction seal

Oring

Back cover

Anti-collision gasket

Body

70



CQ?2 Series "I“\"I'@
Thin Type Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

| @12~@25 Without magnet

H Effective depth 4-@N
| Standard (Thru hole) / CQ2B of thread C Through hole
8-00
BEw Recessed hole
a1

2-M5X0.8

/

A
7/

B+Stroke
A+Stroke

Male Piston Rod Thread Both Ends of Thread / CQ2A

01 Thread
MM

Hexagonal

across flats B1 &[

I Dimension

Stroke Range

Bore/Symbol T

32

38

47

52 28

Bore/Symbol | N o MM ‘ X o1 ’ R

12 35 6.5 deep 3.5 . M5x0.8 10.5 M4x0.7 7

16 35 6.5 deep 3.5 M6x1 12 M4x0.7 7

20 5.5 9 deep 7 M8x1.25 14 M6x1 10

25 5.5 9 deep 7 M10x1.25 M6x1 10




CQ2 Series

1S09001:2008 CE : :
Thin Type Cylinder

IOveraII Dimension

| @12~@25 Without magnet

i 4-BN
H Effective depth
of thread C Through hole

I Spring-out (Thru hole) a 820

R d hol
CQZSB - ecessed hole

B+Stroke
A+Stroke

Male Piston Rod Thread Both Ends of Thread / CQ2SA

01 Thread

Hexagonal

across flats B1 m
X

I Dimension

Stroke Range
(mm)

5/10
15/20
5/10
15/20
5/10
15/20/25/30
5/10
15/20/25/30

Bore/Symbol

Bore/Symbol

6.5 deep 3.5 . M5x0.8

6.5 deep 3.5 M6x1

9 deep 7 M8x1.25

9 deep 7 M10x1.25




. 7N\ ®
CQZ Serles mﬁ},
Thin Type Cyllnder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

| ©12~@25 Without magnet H Effective depth 4-UN
of thread C Through hole
8-00

Recessed hole

| Spring-in (Thru hole) = -
CQ2TB

-/

i

2
&

2N
=y

L+Stroke B+Stroke
A+2XStroke

Male Piston Rod Thread Both Ends of Thread / CQ2TA

01 Thread

Hexagonal :

across
flats B1 2
——_¢c1

X

L1 +Stroke

I Dimension

Stroke Range
(mm)

5/10
15/20
5/10
15/20
5/10
15/20/25/30
5/10
15/20/25/30

Bore/Symbol

Bore/Symbol I\ (0] MM
12 35 6.5 deep 3.5 . M5x0.8

16 35 6.5 deep 3.5 M6x1
20 5.5 9 deep 7 M8x1.25
25 5.5 9 deep 7 M10x1.25




CQ2 Series

[SO9001:2008 (€

Thin Type Cylinder

IOveraII Dimension

| @12~@25 Without magnet H Effective depth '?F\Ecl)\ilgh hole
8-d0

a Recessed hole

| Standard (Thru hole)
CQ2wB

_
i

B+Stroke L+Stroke
A+2(Stroke)

01 Thread

Both Ends of Thread / CQ2WA \

Male Piston Rod Thread FV[

¢ @

1D
Hexagonal
across 07 Hexagonal
flats B1 across flats B1
C1

X
B+Stroke L1+Stroke

A1+2(Stroke)

I Dimension

Stroke Range
(mm)

12 5~30 32 . 35

Bore/Symbol

16 5~30 33 38 . 35

20 5~50 35 47 . 5.5

25 5~50 39 52 28 5.5

Bore/Symbol (6] ’ (0] MM ’ X o1 ’ R

12 6.5 deep 3.5 9 M5x0.8 10.5 M4x0.7 7

16 6.5 deep 3.5 . M6x1 12 M4x0.7 7

20 9 deep 7 M8x1.25 14 M6x1 10

25 9 deep 7 M10x1.25 M6x1 10

74



CQ?2 Series ‘,’ifo\P@
Thin Type Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

4-0N
~ i H Effective depth
| @12~@25 Without magnet orive cept gj[;cglgh hole
a Recessed hole

| Standard (Thru hole) e
CQ2JB 2-M5X0.8

(

R —

G+Adjustable Sgroke

G+Stroke+
Adjustable Stroke

B+Stroke

A+2(Stroke) + Adjustable Stroke

01 Thread

Both Ends of Thread / CQ2JA

Male Piston Rod Thread

Hexagonal

across

flats B1 G:Adjustable Stroke
G+Stroke+Adjustaple Stroke

B+Stroke

A1+2(Stroke) +Adjustable Stroke

I Dimension

Stroke Range A

Bore/Symbol (mnm)

32

38

47

52 10

Bore/Symbol o ’ (0] MM ‘ X

12 6.5 deep 3.5 9 M5x0.8 10.5

16 6.5 deep 3.5 . M6x1 12
20 9deep 7 M8x1.25 14
25 9 deep 7 M10x1.25




ISO9001:2008 (€

IOveraII Dimension

| @12~@25 With magnet

01 Thread

I Both Ends of Thread

/ CDQ2A

| Standard (Thru hole) / CDQ2B

216~@25

2-M5X0.8

CQ2 Series

Thin Type Cylinder

H Effective depth
of thread C

2-@N Through hole
4-0 Recessed hole

B+Stroke

A+Stroke

Male Piston Rod Thread
@12

-

Hexagonal
across flats B1

I Dimension

Stroke Range

Bore/Symbol (mm)

H Effective depth
of thread C

2-0ON Through hole
4-70 Recessed hole

Bore/Symbol

6.5 deep 3.5

M5x0.8

6.5 deep 3.5

M6x1

9deep 7

M8x1.25

9deep 7

M10x1.25




CQ?2 Series \,m},@

VILOP PNEUMATIC CO., LTD

Thin Type Cylinder Cylinder series/ G ies/ Valve series! Other seri

IOveraII Dimension

I @12~@25 With magnet 01 Thread

I Both Ends of Thread w

CDQZSA H Effective depth
of thread C

ISpring-out (Thru hole) BN Th b hol
- rough hole
CDQZSB 4-0 Recessed hole
216~025

2-ME5X0.8

el

B+Stroke

A+Stroke £
016~025

. H Effective depth
Male Piston Rod Thread of thread C

2-@N Through hole
MM 4-00 Recessed hole

N

Hexagonal
across flats B1

I Dimension

Bore/Symbol Stl’O}(;rF:Snge
5/10
15/20
5/10
15/20
5/10
15/20/25/30 . : 55
5/10
15/20/25/30 . ) 55

12

16

20

25

L1 MM
14 M5x%0.8
M6x1
M8x1.25
M10x1.25

Bore/Symbol | N (0]
12 3.5 | 6.5deep 3.5

16 3.5 | 6.5deep 3.5

20 5.5 9 deep 7

25 5.5 9 deep 7




ISO9001:2008 (€

IOveraII Dimension

| @12~@25 With magnet 01 Thread

I Both Ends of Thread

CDQ2TA

I Spring-in (Thru hole)

CDQ2TB
?16~@25

]

D

L+Stroke

2-M5X0.8

¢ @

o

F

B+Stroke

A+2XStroke

Male Piston Rod Thread

I Dimension

Bore/Symbol

12

MM

N

Hexagonal

across flats B1

Ho—
Wy

Stroke Range
(mm)

5/10

C1

X

L1+Stroke

15/20

H1 <

H Effective depth
of thread C

2-0N Through hole

CQ2 Series

Thin Type Cylinder

4-g0 Recessed hole

H Effective depth
of thread C

2-@N Through hole

L\\WJJ
v
Z
u
s

2

K
-
M
E

016~025

4-@0 Recessed hole

o

=

N7

4 QJ
p
NG

m <

@12

M3x0.5

16

5/10

15/20

M4x0.7

20

5/10

15/20/25/30

6.8

5.5

M5x0.8 8

25

5/10

15/20/25/30

6.8

5.5

M6x1 10

Bore/Symbol
12

N
35

(0]
6.5 deep 3.5

H1

L1
14

o1

MM | X
105

M5x0.8

16

35

6.5 deep 3.5

M6x1 12

20

55

9 deep7

M8x1.25 14

25

55

9 deep7

M10x1.25

78



CQ2 Series AN

Thin Type Cylinder VILOP PNEUMATIC CO., LTI:

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

| @12~@25
With magnet 01 Thread R

I Both Ends of Thread
CDQ2WA

H Effective depth

f th dC
I Standard (Thru hole) / CDQ2WB orkhrea
016~@25 2-0N Through hole
4-0 Recessed hole =)
0 _ N __M.D0 { w
] \AY IR \S
@ ‘ 2.M5X0.8 ¢
= o R
L B+Stroke L+Stroke \\/_5_
A+2(Stroke) M
E
J16~D25
i H Effecti depth
Male Piston Rod Thread :s::sg:nal ng gﬁrezg a
8

flats B1 2-@N Through hole

MM 4-@0 Recessed hole
MM O
M (s
E - - N & ©p—o
Hexagonal ¥ ) J\& /
across \d%ﬁ/
flats B1 H1
o < -
o 5 o | aMexa8||_cq
X X O K
L1 B+Stroke L1 +Stroke VRS
A1+2(Stroke) E
212

I Dimension

Stroke Range A

Bore/Symbol )

12 . . 6.5 deep 3.5

16 . . . 6.5 deep 3.5
20 . . . 9 deep 7
25 . . 9deep?

Bore/Symbol |  Q MM

12 M5x0.8

16 . M6x1

20 M8x1.25

25 M10x1.25




ISO9001:2008 (€

IOveraII Dimension

| @12~@25

With magnet 2%.Threed

| Both Ends of Thread
CDQ2JA

| Standard (Thru hole) / CDQ2JB
?16~225

CQ2 Series

Thin Type Cylinder

H Effective depth

G+Stroke+ of

Adjustable Stroke
G+Adjustable 2-ON

thread C

Stroke Through hole

4-00

hole

I

B+Stroke

2-M5X0.8
=

A+2(Stroke) +Adjustable Stroke

Male Piston Rod Thread

MM

G+Stroke+

Recessed

EA
EB

=

K
i
M

E

016~025

. H Effective depth
Adjustable Stroke of thread C

G+Adjustable
Stroke

I

Hexagonal
across
flats B1

2-M5X0.8

B+Stroke

A1+2(Stroke) +Adjustable Stroke

I Dimension

Stroke Range A

Bore/Symbol .

2-ON
Through hole
4-@0
Recessed
hole

8

Bore/Symbol

6.5 deep 3.5

M5x0.8

6.5 deep 3.5

M6x1

9 deep 7

M8x1.25

9 deep 7

M10x1.25

80



CQ?2 Series Vildh

Thin Type Cylinder VILOP PNEUMATIC CO., LT|:

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

| @32~@100 Without magnet / With magnet

| Standard (Thru hole) 5 - e e O 4-BN Through hole
CQ2B/CDQ2B i i / 8-20 Recessed hole
2-P flan
&ég\
\
0 Pan N A \ NEW
N N\ 4
a\
S
L B+Stroke ‘ K
A+Stroke M
E J
W
Male Piston Rod Thread I Both Ends of Thread
CQ2A / CDQ2A
MM
01 Thread
—} & -® BN l
U A - 1
Hexagonal Y=/
across flats B1 HA1
c1.| M _
X
L1

I Dimension

Bore/Symbol Stroke Range Without magnet With magnet

32 . M8x1.25

40 . . E . 13 16 52 M8x1.25 14

50 48.5 . . . 15 20 64 M10x1.5 17

14

63 15 54 46 . 15 15 20 77 M10x1.5 17

80 125 16 63.5 53.5 . 16 21 25 98 M16x2 6 22

100 2 2 13 3 | 75 | 63 23 | 27 | 32 | 117 | m20x25 | 65 | 27

Bore/Symbol | L M N o P | W| Z H1 MM X o1 R

32 34 5.5 9 deep 7 1/8 14 22 8 M14x1.5 M6x1 10
40 40 5.5 9 deep 7 1/8 57 15 22 8 M14x1.5 M6x1 10
50 50 6.6 11 deep 8 1/4 71 19 27 11 M18x1.5 M8x1.25 14
63 60 9 14 deep 10.5 1/4 84 19 27 11 M18x1.5 M10x1.5 18
80 77 11 17.5deep 135 | 3/8 25 32 13 M22x1.5 M12x1.75 22
100 94 11 17.5deep 135 | 3/8 25 41 13 M26x1.5 M12x1.75 22




CQ2 Series

ISO9001:2008 (€

Thin Type Cylinder

IOveraII Dimension

| @32~@100 Without magnet / With magnet

i 4-@N
H Effective depth
of thread C Through hole

| Spring-out (Thru hole) /8-B0
CQ2SB / CDQ2SB Recessed hole

2-pP S
2

[
N

B+Stroke
A+Stroke

Male Piston Rod Thread | Both Ends of Thread
CQ2SA / CDQ2SA

MM 01 Thread R

"o

Hexagonal
across
flats B1

I Dimension

Stroke Range Without magnet With magnet
(mm)

5/10 4
32 15/20/25/30 : . M8x1.25

5/10
40 15/20/25/30 : : . . 52 M8x1.25

5/10
0 15/20/25/30 : : 10,5 ) 64 | M10x15

5/10 i
63 15/20/25/30 : e[ 105 77 | M10x15

Bore/Symbol

Bore/Symbol M A Bl | C1 | H1 | L1 MM X o1
12 34 . 9 deep 7 14 | 22 | 205| 8 | 285 | M14x15 M6x1

16 40 . 9 deep 7 15 22 | 205| 8 |285 | M14x15 M6x1

20 50 . 11 deep 8 19 27 | 26 11 | 335 | M18x15 M8x1.25

25 60 14 deep 10.5 19 27 | 26 11 | 335 | M18x15 M10x1.5




CQ2 Series

Thin Type Cylinder

IOveraII Dimension

| @32~@100 Without magnet / With magnet

=

Spring-out (Thru hol
Iprlng out (Thru hole) op

CQ2TB / CDQ2TB

S h

L +Stroke B+Stroke

A+2XStroke

Male Piston Rod Thread

Hexagonal

across

flats B1

L1+Stroke

I Dimension

Stroke Range Without magnet
(mm)

32 RE 7.5

Bore/Symbol

I\ ®
Vil op
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

i 4-BN
H Effective depth
of thread C Through hole

8-d0
Recessed hole

§
L

I Both Ends of Thread
CQ2TA / CDQ2TA

01 Thread R

With magnet

7.5 M8x1.25

15/20/25/30

40 >0 7.5

7.5 . 13 16 52 | M8x1.25 14

15/20/25/30

5/10

0 15/20/25/30 105

10.5 . 15 20 64 | M10x1.5 17

63 >/10 M LE 1105 15

64

56

105 | 15 15 20 77 | M10x1.5 7 17

15/20/25/30 54 46

74

66

Bore/Symbol M | N (0] P |W| Z | Bl |Cl|HL|Ll MM IX o1 R

12 34 | 55 9 deep 7 1/8 | 495

14

22 |205| 8 |285| M14x15 | 235 M6x1 10

16 40 | 55 9 deep 7 1/8 | 57

15

22 |205| 8 |285| M14x15 | 235 M6x1 10

20 50 | 66 | 1ldeep8 | 1/4 | 71

19

27 26 11 | 335 | M18x15 | 285 | M8x1.25 | 14

25 60 9 | 14deep105 | 1/4 | 84

19

27 26 11 | 335 | M18x15 | 285 | M10x15 | 18




CQ2 Series

1S09001:2008 CE€ . :
Thin Type Cylinder

IOveraII Dimension

| @32~@100 Without magnet / With magnet

| Standard (Thru hole) 4-BN
CQ2WB / CDQ2WB H Effective depth Through hole

Q Q of thread C 8-20
Recessed hole

2-p

0 D _ L _d _

N &q} N E[E w

L+
L B+Stroke Stroke
A+2(Stroke)
| Male Piston Rod Thread I Both Ends of Thread
-E _O8_ Hexagonal CQ2WA / CDQ2WA

across
flats B1

2-P
MM \ MM
% 01 Thread
>f {\ _ rea R =)
NV

N
L % P . z .
Hexagonal ' :
across flats B1 H1
C1.] C1 N~ Y Y,
X X
L1 B+Stroke L1 +Stroke

A1+2(Stroke)

I Dimension

ol Stroke Without magnet With magnet

32 445 87.5 30.5 ] : ] M8x1.25 X . 9 deep 7

40 M8x1.25 14 . 9 deep 7

50 : ; ¢ . . M10x1.5 17 . 11 deep 8

63 M10x1.5 17 14 deep 10.5

80 M16x2 22 17 deep 13.5

100 : : 2 . M20x25 | 65 | 27 17 deep 13.5

Bore/Symbol H1 | L1 MM o1 R

32 ) . 8 | 285 | M14x15 ) M6x1 10
40 8 M14x15 M6x1 10
50 11 M18x15 M8x125 | 14
Stroke 5mm: 14.5
63 Stroke10~50mm and 50~100mm: 16 1 M18x1.5 M10x15 | 18
80 16 13 M22x15 M12x175 | 22

100 20 16 M26x1.5 M12x1.75 22

84



CQ2 Series \,‘ifl}',
Thin Type Cylinder VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| @32~@100 Without magnet / With magnet

| Standard (Thru hole)

CQ2JB / CDQ2JB _ 4-@N
H Effective depth Through hole

a of thread C 3-20
Recessed hole
-

G+Adjustable Stroke

G +Adjustablg Stroke
L B+Stroke +Stroke

A+2(Stroke) +Adjustable Stroke

Male Piston Rod Thread | Both Ends of Thread
Q CQ2JA / CDQ2JA

——

01 Thread R

Hexagonal
across ‘

flats B1 H1
oY G+Adjustable Stroke

X G+Adjustable Stroke
L1 B+Stroke +5troke

A1+2(Stroke) +Adjustable Stroke

I Dimension

Without t With t
Bore/Symbol Strozir?]a)mge ithout magne ith magne

32 82382, . 202 ! ) 16 | 45 | 28 | M8x125 | 45 | 14

40 : . 16 52 28 M8x1.25 14

50 - - . 20 64 29 M10x1.5 17

63 : . 20 | 77 | 29 M10x1.5 17

80 - 21 25 98 | 35.5 M16x2 22

100 - . 27 32 | 117 | 425 | M20x25 . 27

Bore/Symbol (0] Bl | C1 | H1 | L1 MM I X o1
32 9 deep 7 . 22 20.5 8 285 M14x1.5 235 M6x1
40 9 deep 7 22 20.5 8 28.5 M14x1.5 235 M6x1
50 11 deep 8 27 26 11 335 M18x1.5 285 M8x1.25
Stroke 5~50mm : 14.5
63 14 deep 10.5 o e DO 27 26 11 335 M18x1.5 285 M10x1.5
80 17 deep 13.5 16 32 13 435 M22x1.5 35.5 M12x1.75

100 17 deep 13.5 20 41 16 435 M26x1.5 35.5 M12x1.75




ISO9001:2008 (€

IOveraII Dimension

| @32~@100 Without magnet / With magnet

| Both Ends of Thread
CQ2A / CDQ2A
Q

CQ2 Series

Thin Type Cylinder

Cylinder with or without magnet is the same size

H Effective depth

of thread C

8-0 Effective
depth of
thread R

B+Stroke

Q
| ﬂz
\ Y%

A+Stroke

Male Piston Rod Thread
MM

Hexagonal

across flats B1

I Dimension

Stroke Range A

Bore/Symbol (i

E
45

H
M8x1.25

52

M8x1.25

64

M10x1.5

100~300

77

M10x1.5

98

M16x2

117

M20x2.5

Bore/Symbol
32

L1 ’ MM

385

M14x1.5

(0]

M6x1

40

385

M14x1.5

M6x1

50

435

M18x1.5

M8x1.25

63

43.5

M18x1.5

M10x1.5

80

53.5

M22x1.5

M12x1.75

100

535

M26x1.5

M12x1.75




TCQ?2 Series
Guide Cylinder

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOrdering Code

- c Doz _ ﬂ m -

Thin type with  Blank: Without magnet

guide cylinder  D: With magnet

5-50
75,100

AR-07R

* Standard wire is 1

Counterbore with
thread type 40

I Specification

Bore (mm)

Operation

meter, please order

50 for other length

63
80

50 I 63

Double Acting

Working Medium

Air

Operating

Pressure Range Double Acting

0.1~1.0MPa

Proof Pressure

1.5MPa

Operating Temperature Range

-20~70°C

Operating Speed
Range

Double Acting

30~500mm/s

30 ~350mm/s

30 ~250mm/s

Port Size

G1/8

G3/8

87



TCQ2 Series

ISO9001:2008 C€

Guide Cylinder

IInternaI Structure

3 @

I Parts

Number Name ’ Number Name

Copper tube 9 Piston rod

Socket head screw 10 Barrel

Fixed plate 11 Magnet base

Guide rod 12 Back cover

Dust ring 13 Piston

Circlips for holes 14 Magnet

Oring 15 Cring

Anti-collision gasket




TCQ2 Series Vilop
Guide Cylinder

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

IOveraII Dimension

B+Stroke
A+Stroke

2X2Xg0B

I Dimension

Bore/ Stroke Without magnet With magnet

e I I
2ymbol | nm) “nmmn FlQI—=TI]
55 | 115 - -
40 23
50 33

5 M5X0.8
32 10-50
75.100 | 50 | 33

5-50
40 75100 11 G1/8 | PT1/8 | NPT1/8|56.5 | 39.5 G1/8 | PT1/8 | NPT1/8 | 52

50 755_51000 . 5| Gl/4 | PT1/4 |NPT1/4| 565 |39.5 105|105 | G1/4 |PT1/4 | NPT1/4 | 62 | 61

63 755_5::)00 . 15 G1/4 | PT1/4 |NPT1/4| 66 | 46 .5| 15 | G1/4 | PT1/4 | NPT1/4 | 77 | 76

5-50
80 257100 . 16 G3/8 | PT3/8 | NPT3/8 . . 5| 15 | G3/8 | PT3/8 | NPT3/8 | 98 | 97

5-50 79
100 T 13 | 23 | G3/8 | PT3/8 |NPT3/8| 89 23 | G3/8 | PT3/8 | NPT3/8 | 117 | 116

7.5 |10.5| G1/8 | PT1/8 | NPT1/8

75 1105| G1/8 | PT1/8 |NPT1/8

Bore/SymboIl HA OA HB | IA | IB KA KB N |OB|RA|RB| V |W| Z
32 M5X0.8 | M6XL.0 60 5 | 28+0.02 550 9 |17 | 7 | 35 |10 | 14
40 M5X0.8 | M6XL.0 69 33£0.02 550 9 |17 | 7 | 42 |10 | 14
50 M6XL1.0 | MB8X1.25 86 42+0.02 66 | 11 | 22 | 8 12 | 19
63 M6X1.0 | MIOXLS5 50+0.02 9 | 14 12 | 19
80 M8X1.25 | M12X1.75 65+0.02 11 14 | 25
M10X15 | M12X1.75 5 | 80£0.02 11 16 | 25




7 \°
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

MSQ Series

Rotational Platform (Gear Type)

Features

1. High precision balls used in bearing, vertical and
horizontal precision are up to £0.01 mm.

2. Rotational type is easy for installation.

3. Rolling bearing design, load is 3 to 4 times
larger than CRQ series.

4. Rotation is smooth and accurate.

5. Hollowed center rods for wire or tube to go through.

6. Standard angle adjusting device for wider angle
adjustment (0° ~ 190°).

7. With magnet ring for sensor switch application.

Stroke / Sensor Switch Model

Ordering Code

LA
| Model M Bore @  Twe B sensor | 20 D-A90L
- - 30 D-A93L
10 70  A:With angle Blank: Without sensor 50 D-A96L
20 100 adjusting screw *'[(t) ﬁho?se pro| ertsensor B /) D-FONL
30 200 Eijﬁlit:nhé’:\:iachec :m)ﬁe) r;e(?\assfrrs,?/v?{chochart. 10 D-F9BL
50 —_— 200
Specification
Operation Fulid Air ( Non-lub)
Operation Double Acting
With angle
Max. Operation | adjusting screw 1 MPa
Pressure With hydralic
Cushio)r,1 0.6 MPa
Min. Operation Pressure 0.1 MPa
Ambient and fluid temperature 0~60 °C
Cushion Rubber Buffer (Standard) / Hydralic Cushion device (Optional)
‘;‘(’j'jtj‘sggg'i crew 0.007) 0025) 0.048 J 0.081J 0.24) 0.32J 0.56
Function With bodrai
Cushioyaratic 0.039) 0.116) 0.294) 1.1 1.6 2.9)
Angle adjusting range 0~190°
Max. rotating angle 190°
With angle o o o o
Steady rotating | adjusting screw 0.2~1.05/90 0.2~1.55/90° | 0.2~2.05/90° | 0.2~2.55/90
Timerange | With hydralic 0.2~0.75/90° 0.2~1.05/90°
Bore 15 18 021 25 28 | 32 | o040
Port Size M5 x 0.8 Rc1/8

Max. operation pressure is subject to the Max. load of hydraulic Cushion device.

90



ce MSQ Series

1SO9001:2008 :
Rotational Platform (Gear Type)
Max. Load
(a) I l (b)
[ — = B
MSQO100d 78 74 78 24
MSQO2001 147 137 137 4.0
MSQO300J 196 197 363 53
MSQO5000 314 296 451 9.7
MSQO7001 333 296 476 12.0
MSQOJ1000J 390 493 708 18.0
MSQ[J20000 543 740 1009 25.0

Overall Dimension

MSQA
DA
08
20C
2
N @ MSQA100 46h8 45h8 20H8 15H8 10 185 | 525
%’ L MSQA200] 61h8 60h8 28H8 17H8 15.5 26 63
g MSQA300 67h8 65h8 32H8 22H8 16.5 27 67
I MSQAS500 77h8 75h8 35H8 26H8 17.5 30 76

200D



MSQ Series v‘ﬁ\op@

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Rotational Platform (Gear Type)

Overall Dimension

8E Depth FFor 8 Hole)

M SQ B 4-G Depth8
22-H Through Hole
010, 20, 30, 50 MSQEB10/20/30R MSGEB50R 2l Recessed Hole J
(Hydralic cushioning device) (Hydralic cushioning device)
TT L |
i — =
S: j=is) [
(Max.=RR) (Max.=RR)

MSQB100 Aboves 10.2°
MSQB200 Aboves 7.2° EE 17 St
MSQB3001 Aboves 6.5° : a7
MSQB500] Aboves 8.2° B
oP =
In case of angle adjusting screw or hydraulic cushion [ngv_f's = ,Z\‘D = §
twisting one circle. §

Dimension

MSQB10CI| 60 |27 | 15
MSQB20C1| 76 |34 (20.5
MSQB30C1| 84 |37 | 23
MSQB5001 (100 | 50 26.5

M5x0.8 | 8 | M5x0.8 | 6.8 [11| 6.5 [3H9|3.5|32| 92 [15H9| 5 | 9.5| 8.6 |17.7|47|34|45| 3 |13| 8 | 4
Mé6x1 [10| Méxl |8.6 (14|85 [4H9|4.5|43|117|17H9| 9 | 12 |10.6| 25 |54|37|6.5(2.5(17|10| 6
M6x1 [10| Méxl |86 |14|8.5 [4H9|4.5|48|127|22H9|9 | 12 |10.6| 25 |57|40(6.5| 3 |17|10(4.5
M8 x 1.25 | 12| M8x1.25 {10.5|18 [10.5|5H9| 5.5 [55|152|26H9|10(15.5| 14 [31.4|66|46|7.5| 3 |20|12| 5

27.8|15.5|345| 9 |[13|M5x0.8|31.5| 86| M8x1l | RBA0805-X692
28.8| 16 | 51 | 10 |12|M5x0.8|34.7|10.6/ M10x1 | RBA1006-X692
32 |18.5| 50 [11.5{14| 1/8 |34.7|10.6| M10x1 | RBA1006-X692
37.5| 22 | 63 |14.5|/15| 1/8 |51.7| 14 |M14x 15| RBA1411-X692

MSQB1001 | 46|45 20| M8x1.25|12| M8x 1 [50|45| 20 |12
MSQB2001| 61|60 |28 | M10x15 |15/ M10x1|65|60|27.5| 14
MSQB3001 |67 |65 (32| M10x15 |15/ M10x1|70(65| 29 |14
MSQB5001 |77 |75 |35 |M12x 1.75|18M14x 1.5/80 | 75| 38 | 19

(o) IR U, B RV, B RN N

Max. measurement is at Max. rotation angle (190°)

Overall Dimension

(Hydralic cushioning device)

n
Q \9 P90 §
@70 N %2 2-M12x1.75 288n9 E o
75 2-Rc1/8 Depth18 ]
/Port ] I‘w%, -
I ] 2M5x0. B(Screw) ow==:n &
[ % Port ! —
- 518 o m @
8-M8x1.25 Depth12.5 & I s Um) N
4-M8x1.25 Depth10 N 2 o - ) 3 :
2-10.4 Through Holg  \&7 25 > © 8 A16Tirdgn HOE;]F l i
(117.5 Recessed Hole10.5 . K < 42, 8 17 [ N==
% 79 1z |
r 84 (Max.=34.8) 170
= B S0 é
)
EH- ° 2 RBAR015 xB821 39, 2
hd I M 'Q-Q Hydralic cushioning device
F 110 S |
je Adusting Nt
Lo © o
0
8 Eﬂ 2
(Max.=55.4 §
MSQB70R é




ce
ISO9001:2008

Overall Dimension

MSQB
@100

MSQ Series

Rotational Platform (Gear Type)

8-M8x1.5 Dep
4-M8x1.25 Depth10

2-710.4 Through Hole
17.5Recessed Hole10.5

QQ
2-M20x1.5 130 2>
Aande Adusting Nut
©
21009 §
102 2M12¢1.75 Depifl 8 2989 o
85 5-Rc1/8 2-MBx0. B(Screl) 5610 g
Port Port =] | iy <
L) uuly o mm R[
&, :
- 4 I
f 10 f t 3 o
a
g Y8 ===
8 g1s Hae)||
8 17 Do4-g
17
(Max. =34.3 189

2-BBA2015 x821

(Hydr‘ali: cushioning device

VN
| 2

ul

8

(Max. =55. 5

MS

QB 100R
Hydralic cushioning device

MSQB
@200

120

103

2-Rc1/8

g

2-BRBA2725 x821

\ Hydralic cushioning device

8

(Max. =74. 2

MSQB200R

Hydralic cushioning device

BHOEective Depthd.5  Effective Deoth3 5

8-M12x1.75 Depth186.5
(For 8 Hole)

4-M12x1.75 Depth13

2-@14.2Through Hole
P20 Recessed Hole12.5

=i

QL
2-M27x1.5 150 S
‘Aande Adustirg Nt .
2118h9 §
211819 2l
B 2643 | @
1 2
EMIEE Depth B2 e ¥
T @
L o
H. +: : N =
==
2-M5x0.8 Screw [ fedfmhrouh Ho “ B
Port 8 24 [ zEeHg i
24 [
(Max. =40.2 240 §
n
o
54, 2 g
fa}
a

Bl —=—
o ©

93



Ce MHZ2/MHC2/MHY2 Series

1503001:2008 Pneumatic Gripper

Features

e Built-in magnetic ring, can install magnetic
switch.

e 180° open-close, simplify pick-and-place
action.

e Can be suitable for use under special
circumstances, the special design of finger
open and close can prevent the tiny
objects to enter.

e Easy mounting, location hole attached.

MHC2 Series MHY2 Series

Pneumatic Grlppers
(Parallel opening-closing)

Ordering Code

m Finger optional brand l§_Gripper optional brand m

MHZ: Standard D: Double action No mark:

MHZA: Small size 10 ~ s:Single action E‘O mark: No mark: l |’1 non-magnetic switch
- I . — t .

MHZAJ: Small size 16 (normally open) Pasictype N Basic type B o JEL-30R:

3 T [ o hole :

with dust cover 20 c: singl " © a’
- e ey : Single action - S o g3

MHZL: Long stroke 25 (normally closed) 2593. m_’gf

. S — E:End stage .

MHZJ: With dust cover 32 side piping small size(A.AJ) with no

N S S 1: Side screws (Double action magnetic switch
40 7 installation [g /Single action)

2: Open and close
direction
through-hole
installation

M:End stage axial
direction M5 hole
(Single action)

H:End stage axial
3: Flat finger hole with 4

flexible pipe

connectors

. —— (Single
action)hole

Pneumatic Grippers(Fulcurm open- Pneumatic Grippers(Fulcrum open-
close) /Standard close) /Cam 180° open close

Ordering Code Ordering Code

MHC: Standard 10 D: Double action No mark. 10 D: Double action No mark: Screw N04rk
MHCA: Small size 16 S:Single action non-magnetic switch 16 installation(Standard) non-magnetic switch

(®6) (normally open) : dcl
20 y op 2: Open and close _30R:
JEL30R: a’ 20 direction JEL-30R
25 25 through-hole /

installation




CKS Series \llul\op®

Pneumatic Gripper VILOP PNEUMATIC CO., LTD
Cylinder series/ Gas source series/ Valve series/ Other serises

CKS4#&%)

CKS2%&%) CKS3%&%)

I Features

e Heavy-duty, precision T-slot for gripper jaws.
e High gripping force with compact size.

e Max. repetition accuracy.

e |[deal for very harsh enviornment.

CKS2 Series Pneumatic ~ CKS3 Series Pneumatic
Gripper(Two fingers) Gripper(Three fingers)

I Ordering Code ' IOrdering Code
celalaod ol ggg_s;

pe S nsor

anE non- megnet|c

16 20 p. ‘ BlarMLegmancwwtch' Blank: Standard 16 20 p. SW|tch
25 32 DMQJEL_30R; " L: Long stroke 25 32 Doubleacting
20 30 40 50 JEL-30R:
- - -
63 63 80
' 100 125

CKS4 Series Pneumatic
Gripper(Four fingers)

IOrdering Code

Quy of Fingers

16 20 25 D: Double actlng Blank: non- megnetlc
32 40 50 switch

63 JEL-30R: ”

95



ce
ISO9001:2008

4A110-06

4\V/100 Series

Solenoid Valve, Air Piloted Valve

= ey
g

s
sV )

prersiliva
@ s

P
e,

4V120-06

4V130-06

IOrdering Code

_II-_“-_-_II

4V:5/2 (3) way solenoid valve 1:100 Series 10: Single coil

M5: M 5 x 0.8 Blank: Threaded DC12v  DC24V Blank: Without light terminal 1F-20F

4A: 5/2 (3) way air pilot valve

3V: 3/2 way solenoid valve

3A: 3/2 way air pilot valve

Specification

20: Double coil 06:1/8" B: Sub-plated mounted ~ AC24V  50Hz/60Hz  LD: Brown with light terminal

30C: Mid-position closed
30E: Mid-position exhausted
30P: Mid-position pressed

(for 5/2,5/3 way only)

NC: 3/2 way normal close

AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
NO: 3/2 way normal open  AC380V 50Hz/60Hz

LD1: White with light terminal

W: Lead wire

Valve Type

5/2 way 5/3 way 5/2 way 5/3 way

Effective Cross Section Area

10 mm? (CV = 0.56)

7 mm? (CV = 0.40) 12 mm? (CV = 0.67) 9 mm? (CV = 0.5)

Valve Type 3/2 way

Effective Cross Section Area 10 mm? (CV = 0.56) 12 mm? (CV = 0.67)

Port Size Inlet, Outlet, Exhaust Port = M5 x 0.8 Inlet, Outlet, Exhaust Port = G 1/8"
Working Medium 40 Micron Filtered Air

Operation Internal piloted

Working-pressure 0.15~0.8 MPa

Max. Test Pressure 1.2 MPa

Ambient Temperature 5~50°C

Operating Voltage Tolerance + 10%

Power Consumption AC:28VA DC:28W
Connector Protection F Class, IP 65

Wiring / Connector Cable / Lead Wire or DIN Connector
Switching Frequency 5 Cycles / Sec.

Response Time 0.05 Sec.

96



3
n3.0

97

y y
et : :
3 o ; { , ,
o L,m m- o a [CoE | [ 87S ul [Toce™ | m 8PS
w5 — _ T 70 A 1 O
= S ol a2 ol 1o Hol | O i Jol s
— m 3 o 0 g
S St EE] j =] EE]
<z 0 0 o= 0 0
S|z 8 0 0 gz o
W m 086 a m 8
= |2 ov7 3= a o
o s & o] - 7 9BEL 9SSl
Wm m ............... |ﬂm Ov~ T 829 Ov [ 829
2|3 0|1 1. ol AR J <~ % 3
=i 29 I i iR o T T T g
5 0 0] 10|
g ° a 0l 0 ‘ ol “ Be-Jaolo il 1 al, e
: _ 99 T3 - i —
o l
E | | |
]
0 NEEN o o
S 4= DV S o S 9o 2
I e = | I AN _ 0 869 L o< ° 25
S K d 2 - ENEINI —H = — SV NEIN —H
b 82 vl — 4t AT — U
= = _ _ = _ _
< < 82 SIS < ge g
]
u
S - 0 0 0
a [ooe 1|0 o 0
K 0 q o N 0
m -|m|- |@|.@“ o a IEES 8vS 0 a [Tooe 8% O

180

RPS

o o
ol

535
2
325
I
25| |
T
.
I
|
I
|
|
o 5
27.Q
(O]
1
|
1
Il
|
l 0
| |
1 LED
I 0
i(}—[")
1
T )
Q
©
[Rammn|
5
27.0,
0
325
LT
0
|
Qe:m
|
S1— 10
T ®
ull
©
|mEmni
=]

Solenoid Valve, Air Pilot Valve

s
© mm——
r d
e m 0|10 { " % i — " 0}

.qu T m% ‘j | @ 1 ‘.54‘ A |
n 2 a =it

e | | | |
o E o : B m
O (a) > = B = 0 B

— | o ﬂ_v w ﬂ_U mB (a8 w
i © S N m O

— — oH_ 1 — RN | BN
g > «e svv > 0 Wm > m
o < < <




ce
ISO9001:2008

I Overall Dimension

| 4A110-M5
AB
| [3‘I/BJ
. | 3:mBx0.8 i | 2233
| | |
T T ?J T
g q—
ind S
al | 0 \ [ gl 1]o
1 © | \ —? U]
o 290 N 3 PG
- 9.5 \2-93.3 13.0
27.0 18.0
| 4A120-M5
AB
RPS
2-G1/8
: 5-M5x0.8 F:—: 1 2-93.3
| L s !
szd{ E | —
+9 0 0
6| & DOERTE
1
_¢€>m. | \\Lﬂ 0 ?:?
0 0 Q 0
NIl \” 8! o
Yl HK |
' ElE \2.23 3 hzo
27.0 18.Q
| 4A130-M5
30C 30P 30E
e\? A B A B
N AN AN -
RPS RPS RPS
2-G1/8
) Ei_‘: .
! 5-M5x0.8 h ! 2-93.3
! e |
=4 IEL: | —
@]
ol | & | o v 9 o
040 RE N
ol o .Y [ 1
NEREA; I \ o Tl
Yl HF [ u
EXE \2.z23 3 " hao
27.0 80

4\V/100 Series

Solenoid Valve, Air Piloted Valve

| 4A110-06
AB
RPS
G1/8
. — :
i | -B18 0 i 2.3 .3
| |
.| T —
0 N f
| *1Tg Q
81 . i o
ol e 5
g o 5| EF \e.z3.3 3
3 570 hso
18.0
| 4A120-06
AB
RPS
2.G1/8
i 5-G1/8 m i 2.93 3
1
LA +—0 !
= [ {__
N I o110 -] o
ol | ! - © o
|V | P o Ay M
ft)Q 10| ! K'ﬂ
0 \J o | ul 0 10
U] H
o [ [ | | o 0
a | rh O]
| Lt
2 EXE] \2.23 3 3
270 hso
80
| 4A130-06
30C 30P 30E
N T~ AR
AP ——APs —RPS
2.G1/8
1 —\A n
" A .
i i i
1
— 5618 + 233
» 119 !
O L S|
© G
vl A I 0 0]
ul] G/ | - n %
el . é’im. g
0 ! o | M n i 0
ol | I |9 i 1w
i i rf i1l
] Ll {
o 9.5 \2.23.3 3
270 3.0
18.0

98



s
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

4\/100 Series

Solenoid Valve, Air Pilot Valve

I Overall Dimension

| 3v1i10-M5 | 3v110-06
NC NO NG NO
A A A A
HANYVA= AR = HANVA= VAR =
PR PR PR PR
53.5 53.5
325 32.5
I 1 I
| I i 11
| ! | ! i |
I ! ‘t[élj 2-03.3 i | a1 ! to| o.pz.3
| N o N . | - | © - .
| ﬂf- | 0 | | EEF | o |
V4 T 1 T T T
BaE E NE S AT o S
St @ 2@3.3/[ | |c -0 1|0 Ao @33/ ! |- O o
_éﬁ)\_ a Q @I < %_r — a Q =
i ) 0 @ 0 O ) o| P ro
s S m o 3 E 9 [
7.7 13.0 2.0 7.7 =73.0
57.0 1B 57.0 he.d
| 3V120-M5 § 3v120-06
A A
32.5 PR
oTm e rm om :
| _ | _
| ‘ | | ‘ |
| ! | | ! |
L | ams g té]j 2-23.3 | a1 g 00| ops.a
| -| N . | - .
- 2sll ! | . 2sfl ! ;
| A | f ) A T
oG AT Jof @ NE PP T o @ e
PUL 2-93.3 bl N o1l Pk 2.23.3 iolsl @ Bt o
D % < -+ Dot s < AT
i Z.7.[ | | 7.7 HF !
e E o il | mum | F6) || E | |o e e
BRE 113 o [l BRE 118 o f s
gl ¥ il t
' ' ' 1
mm urnnn, T
27.0 13.0 2.0 27.0 AL 13.0
he.d hed
NG NO NG NO
§ 3A110-M5 4 A f 3A110-06 . 4 A
HANVASEARN = HANVASEARN
PR PR PR PR
G1/8 G1/8
i'@ 3-M5 il ™ 2.23.3 3618 i ™ o@3.3
1 | | L |
T 1 0 | 5 1 0 7 o
6)?/ o ABEE: $@Q 4 - I [of © N
P 2-3.3 i S oaTe1e i) 2-23.3 i —| 10 ol -P1|@
- = | ) @| P <! | o] > pee
— < 2 8l =8 < : 0 8 B @
= } = = < | py =
7.7 n3.0 2.0 z7 [ 1 = 13.0
27.0 18.0 27.0 18.0
A A
@3A120-M5 [ \[/}- 03A120-06 [ \[/}-
PR PR
G1/8 G1/8
ia 3-M5 Eﬂ[[; i"a 2-93.3 iaa.ews @[[; !'@ 2-093.3
L L |
1
7 L 0 r af . 0 iy o
bo/| et 2 | €5 g T of o 4519
e 233/ 1 |<|© Rl -i-1@ @33/ 1 |<|O Oilo
_é - | [u] @ <~ | <1 | a] @. =
R = 18] T 0 5 10 |
— 0 i ) N ! < [
i & iJ.'n & o ﬁi gul i & |J|'q & (U] | (L%
= s I == sl
7.7 13.0 0 7.7 s 0
27.0 h8.0 27.0 h8.o




ce 4\/200 Series

1509001:2008 Solenoid Valve, Air Piloted Valve
b é

A
Modet4V220.08

Pl

i

o
® , T s
. =

4A210-08 4v210-08 4Vv220-08

R

W

,Jm’ Ve ‘

\ L
ol

08

A
Modet 4V230C05_,

015-08MP2

o
O p =8

4Vv230C-08

4v210-08B

4v210-08

IOrdering Code

—n“m-_-w-n

4V: 5/2 (3) way solenoid valve 200 Series 10: Single coil 06:1/8"  Blank: Threaded DC12v  DC24V Blank: Without light terminal 1 F-20 F
4A: 5/2 (3) way air pilot valve 20: Double coil 08:1/4"  B:Sub-plated mounted ~ AC24V  50Hz/60Hz  LD: Brown with light terminal
3V: 3/2 way solenoid valve 30C: Mid-position closed (for 5/2,5/3 way only) ~ AC110V 50Hz/60Hz LD1: White with light terminal
3A: 3/2 way air pilot valve 30E: Mid-position exhausted NC: 3/2 way normal close  AC220V 50Hz/60Hz ~ W: Lead wire
30P: Mid-position pressed NO: 3/2 way normal open  AC380V  50Hz/60Hz
I Specification

Valve Type 5/2 way 5/3 way 5/2 way 5/3 way

Effective Cross Section Area | 14 mm? (CV=0.78) 12 mm? (CV=0.67) 16 mm? (CV=0.89) 12 mm? (CV=0.67)

Valve Type 3/2 way

Effective Cross Section Area 14 mm?(CV = 0.78) 16 mm?(CV = 0.89)

Port Size Inlet, Outlet, Exhaust Port = G 1/8" Inlet, Outlet= G 1/4", Exhaust Port = G 1/8"

Working Medium 40 Micron Filtered Air

Operation Internal piloted

Working-pressure 0.15~0.8 MPa

Max. Test Pressure 1.2 MPa

Ambient Temperature 5~50°C

Operating Voltage Tolerance + 10%

Power Consumption AC:55VA DC:48W

Connector Protection F Class, IP 65

Wiring / Connector Cable / Lead Wire or DIN Connector

Switching Frequency 5 Cycles / Sec.

Response Time 0.05 Sec.

100



I\ ®
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

4\/200 Series

Solenoid Valve, Air Piloted Valve

I Overall Dimension

| 4v210-06 | 4v210-08
AB AB
w 66.5 Mﬂ 66.5
40 40
1 1 |.ﬂ. I | I-n_
| ] e ¢ | g |2
—|5-G1/8 ﬁ : T % 2-93.2 =!=2-(31/a a1 N Q 2.93.2
m N3 2-p4.3 1/ s L3 | 2-24.3
- H 16—- - - ot '@__
0 b4 | o o9 o 0 b | 4o 0 0
4|9 L8| eldle 9 |9 REREEIPE
Lo< 108| o Pro o € L= 108| 9T of ISl 5
ot = s I & ot = s I ot
5.0 17.0][ o 35.0. 17.0 1
p2.g ¢ 22.9
| 4v220-06 | 4v220-08
AB AB
N\ [/ /= 880.5 66.5
RPS 4 RPS 40 -
| | . | | .
| |sc18 m! B o.g4.3 Q 2.¢3.2 i |28 g o.ga.3 % 2.g3.2
_/ = = Kacua = i
4TS A ofeld I Ao oo
o [ € PN PN o | @ | ol &g & 8
_ i o) = - i © S
& 10.5 | < ' 05| | < i S
1 T [ @ | \N
| [ g | |o o ol 112 & | o < o
a S ; L @ ! Ny | 9
o [ © ! N 0 \0? g 31 @ | N N \QK 0
| | | | | ||
35.0 —L17.0 35.0 170
22.0 22.9
| 4v230-06 | 4v230-08
30C 30P 30E 30C 30P 30E
e\? A B A B AB A B A B
AN YZA=E=ANAVAPZA= =AM 1A= =ANVEFA= = AN AVATF ==\ IR F7d=
RPS RPS RPS RPS BPS RPS
66.5 66.5
40 4
| | ® | | &
. I == :
i/5-G1/B o o.04.3 2.p3.2 _iée-eﬂ/s J o) o.ma3 2030
—— T 3-G1/4 ' F— T
W 0 S— e = h ! ;S
1D e = - QQ@’/ | Harg| o 0
8| % U P g |91 olag ald e
& 1 0 ). 1 [}
N 10.5 | <~ S t 70\5 | = TiT 3
| T [ | m —
of LIS AN 2 2 @Em o LIS g 1 1o I o
G Rk N8 81" BRI N8
| ||| | | ||
35.0 laz.o 35.0 L1700
22.d 22.9

101



ce
ISO9001:2008

I Overall Dimension

| 4v210-06B
AB
RPS B66.5
40
i
®
0 _ 3-G1/8
g Jlaﬁﬁﬁ )
m]q@%amaonewm 0 ]ﬁja
QU g © 7 1o
0 = za3 O [ 4 |C
22 29.0 0
35.0 <
| 4v220-068B
AB
A\ [/ 66.5
RPS 40
i
©
_fi=
o 2.918.0 Depth 1.4 E;_Eg
ol | [ @
aj o o |
O © ) feea.3 [‘1__6'3
2saly F@]] 0 4
o o
@
III:III
o2 35.0.
| 4v230-06B

0C 30P
A lfi A B

N [/ =N 77 =8N 7

B68.5

'__40_.

T
=]

@
_flomm
3-G1/8
Vi
03]
%m 5 -} |2-@18.0 Depth 1.4 Q__] %
T Y 0 |E
0 T $a-24.3 e
29.0|f i ol ]
LD' q
?} [(1)
I
TOICITI
22 35.0,

4\/200 Series

Solenoid Valve, Air Piloted Valve

| 4v210-08B
RS
RPS 66.5
40
i
@
g _—hﬁ 2.G1/8
o _g G1/4
| olg 221800 1.4 () ]@
0 G 2.04.3 9 | 0
55 29. o
5.
§ 4v220-088
=N\ [/ /= 565
RPS 40
i
©

. 2-G1/8
o
G1/4

2:218.0 Depth 1.4

ﬁ
1689.8
23
20
36.0

|

O @0

2-04.
Ny 4.3

29.0/h W

?I} ©
| 4v230-08B
N [/ SN 774 3T/

ol

= 2-218.0 Depth 1.4 O__
uife) 2
1 Al o
: 2-04.3
Iy 1]

29.0lh Imj@ﬂ

2-G1/8

188.8

OB

8.9
84.9

102



4V200 Series \,‘mi,@

Solenoid Valve, Air Piloted Valve VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| 4A210-06 | 4A210-08
AB AB
RPS G1/8 RPS G1/8
T T
5-G1/8 {,J 2-73.2 2-61/8 it 2-03.2
7 2-04.3 X 3-G1/4 2-094.
Y‘{; ] /L/ ﬁl@_ —'Q‘é; :l / N | é 3@.’
0 YT ol o 92 o 0 ﬁ¥ “Ta g o e
O ‘@ ol N @ o © o N - )
0 d Gl allo o | a Y | an 0
A< A o [ R 0 of [
0T < % 1 o T4 5 < >
ml [ a ] == m Y a
et B < - ) pit Se
10.5 %"7-9 o I 10.5 <o
35.0 20| Y 35.0 112%% @
| 4A220-06 | 4A220-08
AB AB
RAPs 2-6G1/8 RPS 2-G1/8
=T =T
5618 | LY 2-73.2 2:G1/8 ] 2.p3.2
o-@4.3 3-G1/4 2.pa.
¥ Ny IR n ant iy PR
. Y1 o9 41 0° 8 ﬁa/ 1 of o 7|0
© Ql © (- ©
5| @ 8o A a0 0|~ 8 o u]
P2y ~ P=Y f )
NV o ® &) 2 o o| 1
9 g © N 0 g g o 0 0
© © M
cu‘ r 0 N a rha 0 N
Ll L
10.5 17.0 10.5 ’I7.g
35.0 22.0 35.0 X
I 4A230-06 I 4A230-08
30C 30P 30E 30C 30P 30E
N7 -V R 77 NN -SRI
RPS RPS RPS RPS RPS RPS
2-G1/8 2-61/8
L il
5-G1/8 2-03.2 2-G1/8 2-93.2
2-04.3 3-G1/4 2-04.3]
; oY |2 = —
YQ;{ ¥ /| 0 N | i ¥ &/ 0 ]
Q & Y1 of o of [ ]| % P 1o < Ql’ Y| o
© ol I o© o ol o < @
? 47 He||” 1% U= N e
.0 .| 0 \=
9 6 o q® 9 g o 2
0 Q o N 0 0 9 G 0 g
g . o |0 N ] Al a8 N
I R w
10.5 17.0 10.5] 3
35.0 52.0 35.0 170

103



104

v 9
) =
o mmmm (L) u]] o al} all
Q@ => N g N N
L |- I I
o w [ 0€ee [g2 2 [oee EE v [Oee [ge 2 %D.mm 0'/2
S () " %7 @] ” % my 550 L i o_ - 90
+— @ BT s @ BT &+ -W@lmﬂ -+ &S - & - ﬂa
O 2] <1 ai PN H < ] PR -2 & [ L Q
O — | LET 0 Sv8 of VB o SSv
o - - - <
O r ST =) EZ 78
2 .Alﬂ SRS =] 789 oS [5e SR
m 9 | Y0
||||||||| R [N | N N P I | I = [(9] — i o P N N A o B Ly N I AT I O i 8
V ~ 10) v.S T 10 i I [u]
<t 2 913 2 9ls_tel o s o o [” [ 1ol S
= BN B B¢ Y B P i — y L=
. 06 o) SN B.L a sm,
S 5 B ¢ - = g .
N a I a _ N a N a
o a : : : RO
o= 0 N 0 0 % 0 _ % N 0 ol % 0 0
o @ 2 H_T. TSk > e ] Bl ] 22— B Doad _ e b P ie ]
n (@) A\\.. S " H o T T () A\\r I~ - & f\m o () v T
= 0 “ Q o & = o b ~ 0 g
m W £ EPE] W 8l SvL M £2 EPE] M B8l ©GSE
(@) ™ ) 2] o
S — — — —
a o o q
0 0 0 )
§ S E 8
| _
W [oeefe2 U 'oee = U oes e u Wo_mm e
Fora = T oF 0 N —j5 0
P A TR o[BI -OHE Do Fae - [T el RS EeH 5y
|©|A al |@ & = D I Py WD_ - ~ & rLWE
o Ve 0 Sv8 R o Sov
Sy =] =72 Z8
Oce [0¢ =B aEE] Oce [0 SRS
’ i . o - _Jo
s N R ; i = o BTEM BT
o] RIES o 1B o - RS I ES
RIS o i e PE 2 Citl 45 o S
: - ] ) : )
.° RN s.a.a o RN IS a 0@
£ 5= 5 @ g8 £ 5= g g
% m m Q a Q , Q a Q d
o 5 < I o
o ~ O ] M O Q N ] = O 9
o &) ISEPN ) ul o N o o 4]
— — T m —r R | R | m L - g | - R
— —_—— L ] —— | 1 - —_ i I P U -
S s 9 4 BECARCAT S OO+ m o0y m T B ARCAT
o~ P o~ | B— I S S
m W W £ 8L L2 W 8L SvL .Mm £ 8L L2 % 8L GGE
Ay @) —_— —_— —_— —_—
U = —



4\V300 Series

Solenoid Valve, Air Piloted Valve

Tads Gl

A

e 48 e
e

b B

L
3

.
4A310-10

4V310-10B

o5

4v310-10

7 \°

\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

e
T

o
o , ¢

R

© 4V330-10

IOrdering Code

4V: 5/2 (3) way solenoid valve 300 Series  10: Single coil 08:1/4"  Blank: Threaded DC12v  DC24V Blank: Without light terminal 1 F-20 F
4A: 5/2 (3) way air pilot valve 20: Double coil 10:3/8"  B:Sub-plated mounted ~ AC24V  50Hz/60Hz LD: Brown with light terminal
3V: 3/2 way solenoid valve 30C: Mid-position closed (for 5/2,5/3 way only) ~ AC110V 50Hz/60Hz LD1: White with light terminal
3A: 3/2 way air pilot valve 30E: Mid-position exhausted NC: 3/2 way normal close  AC220V  50Hz/60Hz W: Lead wire
30P: Mid-position pressed NO: 3/2 way normal open  AC380V 50Hz/60Hz
Specification
Valve Type 5/2 way 5/3 way 5/2 way 5/3 way

Effective Cross Section Area

25 mm?(CV = 1.40) 18 mm?(CV = 1.00)

30 mm?(CV = 1.68)

18 mm?(CV = 1.00)

Valve Type

3/2 way

Effective Cross Section Area

25 mm?(CV = 1.40)

30 mm*(CV = 1.68)

Port Size

Inlet, Outlet, Exhaust Port = G 1/4"

Inlet, Outlet= G 3/8"

Exhaust Port = G 1/4"

Working Medium

40 Micron Filtered Air

Operation Internal piloted
Working-pressure 0.15~0.8 MPa
Max. Test Pressure 1.2 MPa
Ambient Temperature 5~50°C
Operating Voltage Tolerance + 10%

Power Consumption AC:55VA DC:48W
Connector Protection F Class, IP 65

Wiring/Connector

Cable / Lead Wire or DIN Connector

Switching Frequency

5 Cycles / Sec.

Response Time

0.05 Sec.

105



2-94.3
O
O
10)
4
<
[
(0
2-94.3
4

a

3

a A\J
|T—o0os 0Gl

106

Q

3
A
RPS

s
@
o
¢
K4
=
7.0
i
0
any
1 @l;.
3
=
//PMLLF“
frm
&
s
|
s
%Lﬂ
[
Wik
S 3

)

v
=

b,
n
o
O
Q@
=
4

()
=
g
O
]
-+
b Ovz 08z 0 ova 7’28 f i
5—. - ove v'es
o SYEL N 5881 .
- ova g | U ev@e\ [0ve | ves 8403
o — p 3 evagac [aR =<} 'e8
A L Iu|7 ||||| 5ull-m |||||| 4 |||||| o M RS
= © © 9 o0 |-B-—- I _ 1 4 (0] | I | N
) Blo e N 8o e s>k o
< N haad m ..RSO —
V < |m4 [ N o
© T a T mb_ ! % Im M_
] 1
> g N mﬁ ;
< < \J
S o o s 5
o — o a Q'S o a ml=ig 51Z o KN 0
o) © o W — O a O'St B LL
1 | A A S = | A | R PR/ I\ Y] W S | IR, - 1 H
c I e k. @ - s B o6 g s
— 0" e N 07 ™M -—f-—-—B- +-——-
[
) o o © m o I o
- > a = g v're > ? o _ -
o < 0 < 2 S W 8 6
— 3 — T — G
(Vp) 0 )
0 0
g N 0
8 o N
p_ I 2
00S 0SL 0'0S 7’69 IF al
; oo 7 S0 Ny 00S 69
f=CE o o.H8; o olE I = gerEl Poo i in
m : 0 5 =5 0q=r @ i
ECIEE] EC v - 1
g [ oze v'E8
SveL N 8'881 IDuT
a : : 8702
ove | > evoa\ [0vg 28 A,
Y % R EvrZES\ [ovg ; ves
TEH-—t-—1——- -1 TEHE-— T A== — 0 10
© 5 © o 0 JEN =| IR | PP PR o
)] N 0
c 8o 8o - - A, ©
RSl —g ¥ g © -1 93 L
m T _mD_ T -ai | m N
8 ' T - a % |
e N < m T
O ~| ~ I@.m
o S o 5 : g
— ; ; | I~ <
N (o) © A 0 oGy 67 © 10 EisiZ 517 1~ Q
— ) o O 4y 0 0 A
o = o H, H 1. - o M ||||| —H®-Q@ T i S ol oSy
8 3 cE-[ioe S o . 2 Tl edr]—
fox] () o o e N
@) 2 = oov = ) g
v a S = = Ay



4\V300 Series

Solenoid Valve, Air Piloted Valve

I Overall Dimension

| 4v310-08B
AB
A7 s
RPS 40
pia il
Bd T |
ml o [ g []eew
: < * : &
2200 Depth 1.4| 6
| 0 A=)
| @@53 24F
4]
iE @ 2-[215.5% Pas) q
: | g [
570 =0 =
40.0
| 4v320-088
AB
'<——
i . pi
Bd T |
Lﬁlﬁj! ! T ! 3-G1/4
| i 2.4 L
! 2200 Deoth 14| €5
| o @%D 3“; (@]
| Q < ® |5
48 e 1o
iE - ™2-85.5 )
' 32.0 < i
. ’ g LLje
| _ [N
: 1
27.0 40.0
| 4v330-08B
30C 30P 30E
é? A B A B
A= L= INAVATFA= L= R
RPS RPS RPS
69
40
5 ! Fa
Bd LT |
o T [
i i_,_2+4 T 3-G1/4
i {8200 Depth 1.4
| g @@/D SdE
| o 3 9
iE @ 2-05.5 53
! 32.0 A |
. i g L]
11 11T
27.0 40.0

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

| 4v310-108
RPS 40

EEIE:

e
|
o ' l2cia
: 2.4 L
| s 7200 Depth 1.4 o
| o @@5 G3/8 g
1| [Sfmed [
| 225545 | &
27.0 320
40.0
| 4v320-108
AB
RPS 69
a0

ESIE:

i
|
L ! 2-61/4
| i
2200 Depth 1.4 -
| 1 GS/BQA;
| g @@ =iE
iE - @‘ 2.95.5 @
; 32.0 N i
, 3 i | o
| - [ D
: I
27.0 40.0
| 4v330-108
AT TN AT A= LA P
B9
40

ESIE

2-G1/4

__;h_______
207.8
@@@
. AN
24
/ .
N
o
] 0]
@
9]
O+ —B
45.0

71.9

o
N
(@]
N
[] = -
@]

107



ce 4\/300 Series

1509001:2008 Solenoid Valve, Air Piloted Valve

I Overall Dimension

| 4A310-08 | 4A310-10
AB AB
AP — . Al ey .
f T t T T T
! L 0 I | ILiJI i
J, 5-G1/4 ! g ! 2-094.3 3-G3/8 l 2-61/4 | 2-14.3 i 2-94.3
ody’ 1 a @ oy i L@
¥ | o4— 0 a N\ Y i
/A |8 v [otel of TS| [ I=! s a) o
g B EER 5 @ S 5
|5 C | a @ D 0 als o Q a } 0
@] 9.5 ¥ @] |
o L 1 b Q | o N = Q I
N 10! | fos) m @ N ls; | o o @;u a
- s 3 S L 1 e b G W
' 40.0 2dql|o ' 40.0 20.0[[0
27.0|9 27.0|9
| 4A320-08 | 4A320-10
AB AB
8s 2-61/8 "M" 2-61/8
L \| | ! A 1
I T ! T T T
I [ ] 1 [} m |
| |pGua | 0 | 2.04.3 3-63/8 ' | |2cima | : | 2.04.3
o | < 1 i h N '
| N I : |
e IR @ . nol|d @
< | o a b | o]
| ~ (@] @ o -
~ |2 ot = @) Eij o o | of @ o o
57/ 10 | N : ] (@] @ 0 | < : N @]
I |5 N L B @ 0 ! N L a } D
o . ss5 11 . o sk IT ..
0 | 0 n D) l 0 | o] n| & T 4
0 5 O T 0 < i 0 10 18 ' u] o i 0
E LT MEIRRIE | |® LT ST g
! i s ! ! ik
' 40.0 200 ' 40.0 20.q
27.0 7.0
| 4A330-08 | 4A330-10
30C 30P 30E 30C 30P 30E
»f\? A B A B e? A B A B
AN A NN N AN A ANV A AN A7/
2.61/8 | 2-G1/8
i [ I I g :
| [ | | [R] |
! ! | | ! |
P | L ] M |
| 5-G1/4 ! g | 2.p4.3 | |2cwa | q | 2-p4.3
! | N | : ! ] I
o)/ i i E A@H 3-638 @ﬁ:)/ ] ) | @
g s == =\ ¥ | g LED
a o MEERSIRAIE o Lt of [ §P|g
N> 10 | g U % ! 10 > 10 ! a " & 3
N o < @ < N } 0
B 9 | ls} g 2 ! o 0 o | s} ls Sai - a
T 0 T ) )
i o | q ~ ! o || i g g i o
\ 0 r | 0 | 0 | | 0
! wlu ! } |
40.0 20.Q 40.0 20.0
27.0 27.0

108



4V300 Series \ﬁ,op‘@

Solenoid Valve, Air Piloted Valve VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

I Overall Dimension

| 3v310-08 | 3v310-10
NC NO NC NO
CANYA= T VARN=" CANA= T VARN="
= =T PR &g R PR &g
40 40
i,
! | ! ! | |
| | @ | | ®
! ! N ! !
! 3-G1/4 ] ! < I 2-894.3 ! 3-638 ﬁ ! < | 2-84.3
1 2dl | o | | el | 1o |
O 0o ! - ' @ @@ 0o - '@
SR 0 | ¢ 0 o o | o
! N 0 1 10 ! < 0 1 10|
Q vl 0 0 ol 0 0 [l
o I A1415 Al B—Trg @5”’- 0 /?141.5 al B—g
T8 n i 0 19 +—18 N i ] s
2-04.3/ 40.0 20 2-04.3/ 40.0 20
27.0 27.0
| 3v320-08 | 3v320-10
A A
e \[/ @ = e \[/ | 59
PR -—40 - PR -—40
| | ® | I ®
: ra = = = 5
| | | |
! 3-G1/4 ! - ! 3-6G3/8 ! 2-94.3
1 2 | 2-94.3 1 2L | 4
& a2 N @ ] K
o 2-p4. v gIR o = 2.p4. (=1 o
& O 8 i L 8
@ T \ T
_i_ 10_5— T ! @ | _]I 105 T 1 @ 1
| _ | N | F@ﬁ I N
K | R | 9 A3
| | | ¢ | | | ¢
40.0 20. 40.0 20.0i
27.0 27.0
| 3A310-08 | 3A310-10
NC NO NC NO
CANVARCVARY! CANVARCVARY!
PR PR 18 . PR PR GUS .
HH HH HIH HH HIH HIH
J!_ 3-6G1/4 2-04.3 i iL. 2-04.3 LJ!:I 3-6G1/4 2-04.3 i EJ 2-094.3
cef o o K= ey e o
SZAre 0 | o 0 oA 0 [ 0
| < o i ] 10 | < o ! 0] 0
A U u] "A) 0 yl o Y 0 4] 0 0
R ol 0.5 4l o o2 ol 1T f10.5 g o
T lar o | 9 T la & | e
40.0 120.0 ' 40.0 120.0
27.0 27.0
| 3A320-08 | 3A320-10
A A
HH HH HK HH HH HH
i 3-G1/4 2-84.3 i EJ 2-094.3 JII:I 3-638 2-04.3 i a] {J 2-04.3
T t T T © T
o~ i T @ o Y N @
S=are gl | o 0 Fo gl | )
| [w] 1 © 10 i < ol 1 10
A |1 | o 0 N 0 "‘Jj 0
\TJ@D JIos 8 D g ‘U@D JEhes g D E
rTi:l % g' l'i‘l q I'!'I ((‘3'; I'_]i:l % 8 r!‘| q r!'| 8
! 40.0 20.d ' 40.0 20.0
27.0 27.0

109



ce
ISO9001:2008

o
N
odel: 4A41 4‘51!]' %

pressiins

e S
P
o

4A410-15

4v410-15B

4\/400 Series

Solenoid Valve, Air Piloted Valve

4V420-15

s =0
B B
e e
i Y
ML’A\:IG’:’&E‘
Frest oaMPs : o - ® S
@ P e R
4V430C-15
4V410-15

IOrdering Code

_ll_“--_ﬂ

4V:5/2(3) way solenoid valve 400 Series  10: Single coil 15:1/2"  Blank: Threaded DC12v  DC24V Blank: Without light terminal 1 F-20 F
4A: 5/2(3) way air pilot valve 20: Double coil B: Sub-plated mounted AC24V  50Hz/60Hz  LD: Brown with light terminal
3V: 3/2 way solenoid valve 30C: Mid-position closed (for 5/2,5/3 way only)  AC110V 50Hz/60Hz  LD1: White with light terminal
3A: 3/2 way air pilot valve 30E: Mid-position exhausted NC: 3/2 way normal close  AC220V  50Hz/60Hz ~ W: Lead wire
30P: Mid-position pressed NO: 3/2 way normal open  AC380V 50Hz/60Hz

Specification

Valve Type 5/2 Way 5/3 Way

Effective Cross Section Area 50 mm? (CV=2.79) 30 mm? (CV=1.68)

Valve Type 3/2 Way

Effective Cross Section Area

50mm? (CV=2.79)

Port Size

Inlet, Outlet, Exhaust Port = G1/2"

Working Medium

40 Micron Filtered Air

Operation Internal piloted
Working-pressure 0.15~0.8 MPa
Max. Test Pressure 1.2 MPa
Ambient Temperature 5~50°C
Operating Voltage Tolerance + 10%

Power Consumption AC:55VA DC: 48 W
Connector Protection F Class, IP 65

Wiring / Connector

Cable / Lead Wire or DIN Connector

Switching Frequency

5 Cycles / Sec.

Response Time

0.05 Sec.

110



111

2.04.3
/1
2.z4.3
" S
0
Q
N
o
0
u

oo
10
i)

o2l | (PO

[@)p4=]

4

T T Bk

I

(=

S'LEGGS

| 4A420-15

| 4v410
=3
34.0

| 4v430-15
e
=
RPIS
I
=t

0

of
90
[t

| 3v410-15
il
|
4
A4
Ezile]
34.0)

I Overall Dimension

o)
e
=
0
)

0l
=13
=g
e
0|5 _ ;
Oz | _ ez
[ORE /%m SZ__[oig d
E|$ X yo—=o ‘
2 e e Ao
o |3 eESISNel=15) e S O 1S
Zz | T 0
o8 <
o (& L m
Qlz S oo EH=E1 o Ny [eN=I=]"
= = 10 | g IFEEeR N —] B ==t s
= |5 S ST\ o.mm_/.__ | S S22\ |0 mmHD 514 I S cS@-2\[08g 1SS <o
5 o
3 o X T o i Mﬁ e ) mAWR L @1 @ﬂﬁ 4@ ©
= F-—-—t-—-—-— —1—- -t - —-—-— - o e e e —~N— 140 3
3 o ~ n o—? Wﬂ, 0 H\\Ym - _ DN S [ Q
E] £ G A T4
i QU
LN a L g LN q 7o)
— < _ 5 — " p —
- 7 m oES | 908 | > w OE9 g ) mw W m [eNSISM =4S S
~N smH= o A @-IWQD m Jm O] N
o 1 j ] )
w 5 H/A@ Au_ __HWBMW M U @Awl o M uv/ A@ ol M
S [ —
<~ =T = OZS A @N=I=) o~
5
()
Ul
= . B¢ 8
© N N
1 _ 9__
= i o=z (078 0=z |OEE [\ 2&
O N ] g AN L
L (KX Um w+mw@ T 1900 A o E P
-+ o 7
(@) D98 066 a0 CERNCH] NAIHH senv
5— loR! o M
o 2 < 0)
7, REECEN 0 g i) OBEL ! -
e o — S c@2 EEEI RS S S@2\ [08 ; 186 SEEENEEE NS m al =~
&
o m— A AN o A N clﬁyr X A\ Q C//T o g-——1—{1—— |-|m
. og-—ft—+4+————- — O of —f—+—-—-—-F-—4—-H3 Fi—-—-—- —F—=30 — 4
abl 0 X o0 i B g o’ o Nk NA\\DH R S &
e S N =) ap TN L 1o < =) HO
> Im 8¢ % g 9 = IW 01S CYAL=]?
V9 o . ] . Y
o Q < 0]
O o q 2 A 0 N o
OE9 [6g _ § §
O 0 2 a [oE=s %n_ 0




n

v
=

o,
n
o
O
4
=
4

ce

Solenoid Valve, Air Piloted Valve

ISO9001:2008

I Overall Dimension

2-4.30

3-G1/2

3-G1/2

0ES 508 OES 55 0'Eg S/E
T (- I e 9
- &BF G001 oy 1118001
DT
= 0'/S 069
RCED 0B85l
Scoo Sc@e aE Scoe
S'90L 7\50 020 2 : 5 q - g =
o I.W \\ % 4’14080 0288 W £’ uadeq 023-g
9 Yl (8] o o o<_® o
S S XA N 4 L __Bol= | _ __11.9 = DAHVP F=aod | __l_=10| =
. : : eEE &I i iARECE
m > [t = m (&
g U] TS
o 09 L6 OSE06E b 09 O'LS
i ERCE] i
| 0 ; =
0 [aa) o : [o'a RO
E_I_J i ﬁ BN . ﬁ mm“ i -
— =hd [ HI J
1 T4+ -— I OHf - m. [ o —-—-—F-—-T714 1 el T~ 1" —"T-——-"T-—|%
g L* S Tk S & L 2 B e 1
S < 3 o2l es 3 osillyes
< > < <
(28 <t < <
g v
< Q A, Q
a o EEEIEEE < OES 908 o 0O'E9 S/E
i v ) = o 0
- [N Ve woF={n _ |M - . \m |m|. I
U £ H-O-© 4o o i I R g e S D3
[a)p4=; M =T o'es
g o8El
£'\\yde0 020G S'c@-2 F S'sgS S'sgS
ey £ 1Wdeq 0202 MH 77\ wdea 0205
4 3 o o q a
) o} 0 [ _ -
P | N 4= Ay 19 O er B - L - AR [ kA AN b =905
o g 1198 =i e o =B D139
Al/7 L y @ m L
sa - Oseloee o o8t ) a OoEl" OGS
CED S
! o0 o o X
LN — LN LN LN !
= — — 5ok —
- S B : e = 0
gk T g T — e . S i e
o
p— i p—
< (% > 052 > < ' SH=E=]
m < 062 <t < 062

112



GC Series 7\ °

Air Source Treatment Vi Iop
(3 or 2 Combination) PNEUMATIC EQUIPMENT

Cylinder series/ Gas source series/ Valve series/ Other serises

IOrdering Code ISymboI
mmm-ﬂn—mmmm TR R rT
GC: 3 Combination 200 Series 06 : PT 1/8  Blank: Semi-auto drain ~ F: Square type ~ 1: MPa Blank: 40 p  Blank: PT [@_‘_@ﬁl@i
GFC: 2 Combination 300 Series 08 : PT1/4 M: Manual drain C: Traditional type ~ 2: Psi W:5u G: PS i ! L ! !

! | |
GFR: Filter-regulator 400 Series 10 : PT3/8  A: Auto drain T: NPT et !
combination 15 : PT 1/2
GF: Filter

GR: Regulator
GL: Lubricator

*Note: No Auto Drain type is available on GC 200 Series.
**Note: Max. adjustable pressure is at 0.4 MPa on Low pressure type.

Specification

Working medium Air
Port Size PT 1/8 PT 1/4 PT 1/4 PT 3/8 PT 1/2 PT 3/8 PT 1/2
Filtration 40por5p
Adjustable pressure range 0.15 ~ 0.9 MPa
Maximum working pressure 1.0 MPa
Proof Pressure 1.5 MPa
Operating Temperature Range 5~60°C
Capacity of Filter Cup 10 CC 40 CC 80 CC
Capacity of Oil Cup 25 CC 75 CC 160 CC
Recommended Lubrication ISO VG 32 or Same Grade
Weight 580 g 1300 g 2358¢g
Filter GF 200-06 | GF 200-08 GF 300-08 GF 300-10 | GF 300-15 | GF400-10 | GF400-15
Components Regulator GR 200-06 | GR 200-08 GR 300-08 GR 300-10 | GR300-15 | GR400-10 | GR400-15
Lubricator GL 200-06 GL 200-08 GL 300-08 GL 300-10 | GL300-15 | GL400-10 | GL400-15

113



ce
ISO9001:2008

IOveraII Dimension

Air Source Treatment
(3 or 2 Combination)

GC Series

|GC 200 30 147
“L” Bracket m ”I ””I
LT , [Py s
[}
@} B (T
1 - u |
o | g -i-g
m[ ! | @ @ | g
| | == T <
I ! : P i 1 v
06:PT1/8 U] U m 7 0
08:PT1/4 ! o | |
| |
I
| | — |
| ! 5.5 |
50
M5X0.8 o
A F
|GC 300
IGC 400 “L" Bracket
¥
U]
Dimension
GC300-08 71 41.5 35 PT1/4 | PS1/8 188 143 6.5 64 188
GC300-10 71 41.5 35 PT 3/8 PS1/8 188 143 6.5 64 188
GC300-15 71 415 35 PT 1/2 PS1/8 188 143 6.5 64 188
GC400-10 85.5 50 40 PT 3/8 PS1/4 248 166.5 8.6 84 12 216
GC400-15 85.5 50 40 PT 1/2 PS 1/4 248 166.8 8.6 84 12 216

114



ce AL, BL Series

ISO9001:2008 Lubricator

il 2

N

=7 AL2000
il
ST AL2000 BL (2000 ~ 4000)
I Ordering Code
| BL__J 3000 _
AL: Small Q 1500: G 1/8"
; 2000: G 1/4"
& 3000: G 3/8"
BL: Medium . 4000: G 1/2"
1LI
| Specification
Operating Fluid Air
Port Size G1/8" | G 1/4" |  Gcua | G3/8" | G2
Range of Adjustable Pressure 1.5 MPa
Proof Pressure Resistance 5~60 °C
Operating Temperature Range ISO VG 32 or Same Grade Oil
Capacity of Filter Cup 25 cc 90 cc
Weight 0.17 KG 0.25 KG
Body Aluminum Alloy Die-casting Forming
Material Container Cup PC
Protective Cover - Iron
I Overall Dimension
| AL a0 240 | BL
85 .55 1 11.5 BLEOODGA
BL3000:G3B"
AL1500:G1/81 rm | BLACO0:GT/2
AL2000:G1/4"

=]

—r—

115



Push-in Connectors

ISO9001:2008 (€ 2 —
Pneumatic Fittings

B Hi% / Application
HAFEERENSNABIERZD  RECHENER  THTSHAER.

One-touch tube joint is for the application of air pressure tubing. However, it applies to other application depend upon the user condition.

B 5/ Characteristics

1RERE BRI, FET8 ; 1.Quick installation,simple and flexible,space-saving.
QRRBE  BEIOSHHERE 2.The tube fitting comes in a wide variety of models to meet all your needs in

pneumatic piping.
3.Even after installation, the direction of tubing can be changed freely.

3RERELR  BHERRIEEER ;

4EBRAKBERIGH , KREBMEHSE 4.The release ring adopts the ellipse design to make it more convenient and
S TSRS ZIERR | labor-saving for disconnection.
BREMEBEOT 5.All taper pipe threads are pre-coated with Teflon with fine seal performance.

6.All fittings are equipped with the internal hexagonal holes.It is easy for them
to be mounted in the narrow places.

6IELIHFANBI BT RBARE,

B BARESHY/ Specification m 5138/ Structure Chart
PUE/Nylon Tube
{ERFAA/ Fluid =&, AF/ Air, Vacuum [B188/Polyurethane Tube
{EFAIE/ISEE)/ Pressure Range | 0~1.0MPa 1&HH/Sleeve (POM) 1%/ Ring(ZnDC)Coliar(ZnDC)
%/ Negative Pressure -100KPa(10Torr) o et e o
MEL Max Pressure 1.5MPa
{EFIREC/E/ Temerature Range | -10~80°C E49B/Seal (NBR)
1EFRE/ Applicable Tube fE22RPU / Nylon(PA) Polyurethane (PU) 13k /Resin Body(PBT)

EHE8/0-Ring(NBR)

TN\ ROEZE
W FRe/PTFE
B BS{#/ Product Code System VANM 5% & Caution |
EERARGEEEEIRRTIRPRNERLER IR,
FiERERLNSEN  HIESERNRE.

WiRHERY  WIRRERSESERBERAR.

A P C 8 e 0 1 Please pay attention to the caution and warming before usage.

@ @ @ @ Please insert the tube to the bottom when connecting the fittings
and tubes.Air leaking or tube falling may happened if not connect
well.

@ ZE5S/Series: & : RBESA . KBRS, A 5 £ Warnind |

nothing : indicates black series, A : grey series. OERRANK  BEEBASE RS R R ENASEEE.
@ ®BS/Type MR WEREREERINNIR , BERERFAR.
® SEHME/ Tube outer diameter If use waterfuid, Please check and confirm to comply with

specitication otherwise, breakage, air leakage, falling would happen.

AHIE/ Metric Size Z 3%/ Inch Size
£8/Code 4 6 8 10 12 16 TP i T I i 0 i ' 71
e mm| ® | o6 | o8 | o010 | o12 | @16 | @532 | ®3/16 | ©1/14 | ®5/16 | ©3/8 | 172

@ BYBRARRF/Thread Type and size

4 &ll/ Metric Size

f£S/Code M5 M6 M8 M10 M12 M12A M14 M16 M20
B8UThread|  \Msx08 | M6x1 | M8x1 | MIOxl | M12x1.25 | MI12x15 | MI14x15 | MI16x15 | M20xL5
S55°H#EEIREY 55 Taper Pipg Thread 55°GERLY/ 55°G - Thread

f£2/Code| 01 02 03 04 06 Code | GO1 G02 GO3 Go4 GO6

@eyrhead| R18 | R4 | R3/8 | R12 | R3/4 size | G1/8 | G4 | G638 | G2 | G3/4
F—AF IR UNF EH60° HEEL/ American Standand taper pipe thread(NPT)

f£8/code u10 NO1 NO2 NO3 NO4 NO6

@ayThread]  10-32UNF NPT1/& |  NPTL/4 |  NPT3/8 | w~eT12 | NPT3/4

X' ALFATHEMREIIMEESRQURANTRES  WELBSANHAER , 55 LTHA.
XNote:Our company may provide any combination form of various outside diameter of air pipe and thread type.For special requirements,clients may contact our

company.

116



Push-in Connectors \ﬁai,@
Pneumatic Fitti ngs VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Pc | R sl | oailcea ] s | e
PCAMS | 4 | M5 | 35 |208)| 10| 2 |99 |148

2NEHIE PC4-01 4 | R1/8 | 75 |203] 10| 3 |99 | 148
: PC4-02 4 | Ri/4a | 95 |184] 14| 3 |99 |148
Stiaight JT—Q%- PC6-M5 | 6 | M5 | 35 |215] 12| 2 | 118|158
s %u PC6-01 6 | RL/8 | 75 |21 | 12| 4 |118] 158

il PC6-02 6 | Ri/a | 95 | 228 14| 4 | 118158

i ’ PC6-03 6 | R3/8 | 105|208 17| 4 | 118] 158

: 4 PC6-04 6 | R/2 | 135|248 21| a | 118|158

' PC8-01 8 | RS | 75 |26 | 14| 5 [ 138173

< | }\ PC8-02 8 | R4 | 95 |25 | 14| 6 | 138173

I i PC8-03 8 | R3/8 | 10522 | 17| 6 | 138173

: PC8-04 8 | Ri/2 | 13526 | 21| 6 | 138|173

PC10-01 | 10 | R1/8 | 7.5 | 286 17| 5 | 168 | 19.6

PC10-02 | 10 | Ri/4a | 95 304 17 6 | 168|196

PC10-03 | 10 | R3/8 | 105 274 17| & | 168 | 19.6

PC10-04 | 10 | R1/2 | 135|267 21| & | 168 | 196

PC12.01 | 12 | Ri/8 | 7.5 |316] 21| 5 | 198222

PC12:02 | 12 | Ri/4 | 95 [331] 21| 6 | 198 222

PC12.03 | 12 | R3/8 | 105 301 21| & | 19.8 | 222

PC12-04 | 12 | Ri/2 | 135331 21| & | 198|222

PC16-03 | 16 | R3/8 | 105381 24 | 8 |27 |25

PC16.04 | 16 | Rij2 | 135 |351] 24 | 10 |27 |25

HE o
Poc MODEL D R A L H ARA X C

POC4-MS | 4 | M5 | 35 |208| 10| 2 |99 | 148
Rl =pt:] POC4-01 | 4 | R1/8 | 75 |203| 10| 3 9.9 | 14.8
. POC4-02 | 4 | R1/4 | 95 |184| 14 | 3 |99 | 148

Hex.Holed Straight _en_ POC6-M5 | 6 | M5 EV0 DU I T L) 118 158
R POC6-01 | 6 | Ri/8 | 75 |21 | 12| 4 [118[ 158

== S5O POC6-02 | 6 | Ri/4a | 95 [228] 14| 4 [118 158

1l POC6-03 | 6 | R3/8 | 105208 17 | 4 | 118|158

) POC6-04 | 6 | R1/2 | 13.5 | 248 | 21| 4 |11.8 158

. POC801 | 8 | RL/B | 75 |26 | 14| 5 138 | 173

POC8-02 | 8 | Ri/4 | 95 |25 | 14| 6 | 138173

J POC8B03 | 8 | R3/8 | 105 |22 | 17| 6 |13.8 173

Ne POC804 | 8 | R/2 | 135[26 | 21| 6 138173

POC10-01 | 10 | R1/8 | 75 [286| 17| 5 16.8 | 19.6

POC10-02 | 10 | R1/4 | 95 [304 | 17| 6 | 168 | 19.6

POC10-03 | 10 | R3/8 | 105 274 | 17| 8 168 | 196

POC10-04 | 10 | R1/2 | 135|267 | 21| & | 168|196

—)- POC12-01 | 12 | Ri/8 | 75 316 21| 5 198 | 22.2

POC12-02 | 12 | Ri/4 | 95 [331] 21| 6 | 198 222

. POC12-03 | 12 | R3/8 | 105 [301] 21| 8 | 198 | 222

POC12:04 | 12 | Ri/2 | 135331 21| 8 198 [ 22.2

POC16-03 | 16 | R3/8 | 105|381 24 | & |27 |25

POC16-04 | 16 | Ri/2 | 135 [351[ 24 | 10 |27 |25

PCF

. PCFA-M5 | 4 .
RBXEE PCF4-GO1 | 4 | G1/8 | 85 | 243 | 14 | 99 | 148
Bulkhead Female PCF4-G02 | 4 | Gl/4 | 11 | 268 | 17 | 99 | 148
) PCF6-M5 | 6 | M5 | 55 | 223 | 12 | 118 | 158
Straight == PCF6-GO1 | 6 | G1/8 | 85 | 253 | 14 | 118 | 158
4 PCF6-G02 | 6 | Gl/4 | 11 | 27.8 | 17 | 118 | 158

. PCF6-GO3 | 6 | G3/8 | 12 | 285 | 21 | 118 | 158

, | PCF6-G04 | 6 | G1/2 | 14 | 30.5 | 24 | 118 | 158

" i { |PcF8-G01 | 8 | G1/8 | 85 | 265 | 14 | 13.8 | 17.3

e PCF8-G02 | 8 | Gi/4 | 11 | 29 17 | 138 | 173

T PCF8-G03 | 8 | G3/8 | 12 | 30 | 21 | 13.8 | 17.3

i PCF8-GO4 | 8 | Gl/2 | 14 | 323 | 24 | 138 | 173

L PCF10-GO1| 10 | G1/8 | 85 | 291 | 17 | 168 | 196

PCF10-G02| 10 | Gl/4 | 11 | 316 | 17 | 168 | 196

PCF10-G03| 10 | G3/8 | 12 | 326 | 21 | 168 | 19.6

PCF10-G04| 10 | G1/2 | 14 | 358 | 24 | 168 | 196

PCF12-GO1| 12 | G1/8 | 85 | 316 | 21 | 198 | 222

PCF12-G02| 12 | Gl/4 | 11 | 341 | 21 | 198 | 22.2

PCF12-G03| 12 | G3/8 | 12 | 351 | 21 | 198 | 22.2

PCF12-G04| 12 | Gl/2 | 14 | 371 | 24 | 198 | 22.

117



Push-in Connectors
Pneumatic Fittings

ISO9001:2008 (€

PMF

(v

- . PMF4-GO1 | 4 : :
MR IRIR BB PMF4-G02 |4 | G1/4 |11 | 29.2 |14 |17 |MI12[14[9.9 | 148
4) Female Straight PMF4-G03 2 G3/8 ;25 3% 15 f% mi i; 99 1438
. PMF6-GO1 G1/8 | 8. 19 118158
Bulkhead Union == PMF6-G02 | 6 | G1/4 |11 [30.2 | 13.5 |17 [ MI14 |17 118158
PMF6-G03 | 6 | G3/8 |12 [31.2 |15 |19 |MI4 [17 [11.8 158
PMF8-GO1 |8 |G1/8 | 85|32 |10 |19 | MI16 |19 138|173
PMF8-G02 | 8 |Gl/4 |11 |35 |14 |19 |MI16 |19 |13.8|17.3
| [PMF8-GO3 |8 [ G3/8 |12 [36 |15 |19 |M16|19|13.8|17.3
PMF8-G04 | 8 | G1/2 | 14 [37.7 [19 |24 | M16 |19 [13.817.3
PMF10-GO1| 10 | G1/8 | 85 |31 |11 |22 | M20 |24 | 16.8 | 19.6

11

PMF10-G02| 10 | G1/4 | 11 | 36.2 | 14 24 | M20 | 24 | 16.8 | 19.6
PMF10-G03| 10 | G3/8 | 12 | 35 15 24 | M20 | 24 | 16.8 | 19.6
PMF10-G04| 10 | G1/2 | 14 | 39 19 24 | M20 | 24 | 16.8 | 19.6
PMF12-GO01| 12 | G1/8 | 8.5 | 31 10 24 | M22 | 27 | 19.8 | 22.2
PMF12-G02| 12 | G1/4 | 11 | 38.1 | 13 24 | M22 | 27 | 19.8 | 22.2
PMF12-G03| 12 | G3/8 | 12 | 38.1 | 15 24 [ M22 | 27 | 19.8 | 22.2
PMF12-G04| 12 | G1/2 | 14 | 41.5 | 19 24 | M22 | 27 | 19.8 | 22.2

i 8=
PM

— . PM4 4 M12 10.4 14 316 | 9.9 14.8
(RIREIE PM6 B M14 | 8.2 17 | 325 | 118 | 158
5) . PM38 8 M16 | 8 19 35.5 138 | 173
Bulkhead Union 1 o ] PM10 10 M20 10.4 24 40.2 16.8 19.6
== PM12 12 M22 14 27 | 45.7 | 19.8 | 22.2
tﬂxﬁ- S PM16 16 | M27 | 20 30 SN2 | 27 25
o
\ i ol
i ]
1
PL 23
L D R A E B H X C
. PL4-M5 | 4 M5 3.5 17.9 | 17 8 9.9 15.3
LBUIZR i@ PL4-01 4 R1/8 | 75 17.9 | 242 | 10 | 9.9 15.3
6) Male Elbow L PL4-02 4 R1/4 | 9.5 179 | 272 | 14 [ 99 15.3
PL6-M5 | 6 M5 3.5 PO IN1Y, 8 11.8 | 159
PL6-01 6 R1/8 | 7.5 20 265 | 12 [ 11.8 | 16.7
PL6-02 6 R1/4 | 9.5 20 29 14 | 11.8 | 16.7
PL6-03 6 R3/8 | 10.5 | 20 305 | 17 [ 118 | 167
PL6-04 6 R1/2 | 135 | 20 34 21 | 118 | 16.7
PL8-01 8 R1/8 | 7.5 235 | 30 14 | 13.8 | 191
PL8-02 8 R1/4 | 95 235 | 32 14 | 13.8 | 191
PL8-03 8 R3/8 | 10.5 | 235 [ 335 | 17 | 13.8 | 191
PL8-04 8 R1/2 | 13.5 | 23.5 | 37 21 [ 138 [ 191
PL10-01 | 10 | R1/8 | 7.5 268 | 338 | 17 | 16.8 | 21.2

PL10-02 10 | R1/4 | 9.5 26 S} I3 5TON| 17N 16 S| N21%2
PL10-03 ION[|RS7 NI BSOS | 892 6T M| 3 6 ORI WS 14748 BN1 6 | 2:1N2)
PL10-04 10 | R1/2 | 135 | 268 | 40.3 | 21 | 16.8 | 21.2
PL12-01 12 | R1/8 | 7.5 30.8 | 375 | 21 [ 19.8 | 244
PL12-02 12 | R1/4 | 9.5 30.8 | 395 | 21 | 19.8 | 244
PL12-03 12 | R3/8 | 10.5 | 30.8 | 40.5 | 21 | 19.8 | 244
PL12-04 12 | R1/2 13.5 | 308 | 435 | 21 19.8 | 244
PL16-03 16 | R3/8 | 10.5 | 32.5 | 43.5 | 24 | 27 25

PL16-04 16 | R1/2 | 135 | 325 | 473 | 24 | 27 25

118



7)

9)

Push-in Connectors

Pneumatic Fittings

GPL

LRUREN 1B
Male Elbow L
-

\

PLF

L BIPORLR i@
Female Elbow L

PLL

L BB 38
Male Long Elbow

DN

L

7 \°
\Illop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

OD
GPL4-01 4 R1/8 | 7.5 179 | 195 [ 10 [ 9.9 15.3
GPL4-02 4 R1/4 | 9.5 179 | 225 | 14 | 99 15.3
GPL6-01 6 R1/8 | 7.5 20.5 | 22 10 | 11.8 | 16.7
GPL6-02 6 R1/4 | 9.5 205 | 22.8 | 14 | 11.8 | 16.7
GPL6-03 6 R3/8 | 10.5 | 205 | 243 | 17 [ 118 | 16.7
GPL6-04 6 R1/2 | 135 | 205 | 27.8 | 21 | 118 | 16.7
GPL8-01 8 R1/8 | 7.5 233 | 269 | 12 | 13.8 | 191
GPL8-02 8 R1/4 | 9.5 233 | 24 14 | 138 | 19.1
GPL8-03 8 R3/8 | 105 | 233 [ 255 | 17 | 13.8 | 19.1
GPL8-04 8 R1/2 | 135 | 233 | 29 21 | 13.8 | 19.1
9 GPL10-01 | 10 | R1/8 | 7.5 27 289 | 17 | 168 | 21.2
GPL10-02 | 10 | R1/4 | 955 27 31 17 | 168 | 21.2
GPL10-03 | 10 | R3/8 | 105 | 27 31 W GEE [R
GPL10-04 | 10 | R1/2 | 135 | 27 31 21 | 16.8 | 21.2
GPL12-01 | 12 | R1/8 | 7.5 293 | 301 | 17 | 19.8 | 24.4
GPL12-02 | 12 | R1/4 | 95 29.3 | 322 | 17 | 19.8 | 24.4
GPL12-03 | 12 | R3/8 | 105 | 29.3 | 322 | 17 | 198 | 24.4
GPL12-04 | 12 | R1/2 | 135 | 293 [ 32.2 | 21 | 19.8 | 24.4
GPL16-03 | 16 | R3/8 | 105 | 33.5 | 33.7 | 20 | 27 25
GPL16-04 | 16 | R1/2 | 135 | 335 | 33.7 | 21 | 27 25
s D A B
o)
PLF4-M5 | 4 M5 5.5 | 17.9 | 15 10 | 9.9 15.3
PLF4-GO1 | 4 G1/8 | 85 | 179 | 232 | 14 | 9.9 15.3
PLF4-G02 | 4 G1/4 | 11 | 179 | 262 | 17 [ 9.9 15.3
PLF6-M5 | 6 M5 5.5 | 201 | 15 12 | 11.8 | 159
PLF6-GO1 | 6 G1/8 | 85 | 20 25 14 | 11.8 | 16.7
Fa= PLF6-G02 | 6 G1/4 | 11 | 20 28 17 | 118 | 16.7
A > { PLF6-GO3 | 6 G3/8 | 12 | 20 295 | 21 | 11.8 | 16.7
= {E PLF6-G04 | 6 G1/2 | 14 | 20 32 24 | 11.8 | 16.7
oL PLF8-GO1 | 8 G1/8 | 85 | 235 | 26.5 | 14 | 13.8 | 19.1
. PLF8-G02 | 8 G1/4 | 11 | 235 | 31 17 | 13.8 | 19.1
4 N\ L] PLF8-GO3 | 8 G3/8 | 12 | 235 | 325 | 21 | 13.8 | 19.1
B T PLF8-G04 | 8 G1/2 | 14 | 235 | 35 24 | 138 | 19.1
: i e PLF10-GO1| 10 | G1/8 | 85 | 26.8 | 275 | 17 | 16.8 | 21.2
PLF10-G02| 10 | G1/4 | 11 | 26.8 | 343 | 17 | 16.8 | 21.2
PLF10-GO3| 10 | G3/8 | 12 | 26.8 | 358 | 21 | 16.8 | 21.2
PLF10-G04| 10 | G1/2 | 14 | 268 | 383 | 24 | 16.8 | 21.2
PLF12-GO01| 12 | G1/8 | 8.5 | 30.8 | 31 24 | 198 | 24.4
PLF12-G02| 12 | G1/4 | 11 | 30.8 | 37.5 | 21 | 19.8 | 24.4
PLF12-GO3| 12 | G3/8 | 12 | 30.8 | 39 21 | 19.8 | 24.4
PLF12-G04| 12 | G1/2 | 14 | 30.8 | 415 | 24 | 19.8 | 244
PLF16-G03| 16 | R3/8 | 12 | 33 40.5 | 24 | 27 25
PLF16-G04| 16 | R1/2 | 14 | 33 425 | 24 | 27 25
RIS
MODEL D R A 3 B H X C
PLL4-M5 4 M5 3.5 179 | 295 | 8 9.9 15.3
PLL4-01 4 R1/8 | 7.5 179 | 367 | 10 | 9.9 15.3
PLL4-02 4 R1/4 | 95 179 | 39.7 | 14 | 9.9 15.3
L~ PLL6-M5 6 M5 3.5 20.1 | 315 | 8 11.8 | 159
. PLL6-01 6 R1/8 | 7.5 20 41 12 | 11.8 | 16.7
f__:'____,g{ PLL6-02 6 R1/4 | 9.5 20 435 | 14 | 11.8 | 16.7
L. fo) s PLL6-03 6 R3/8 | 10.5 | 20 45 17 | 11.8 | 16.7
i PLL6-04 6 R1/2 | 135 | 20 485 [ 21 | 11.8 | 16.7
PLL8-01 8 R1/8 | 7.5 235 | 46 14 | 13.8 | 19.1
Nl PLL8-02 8 R1/4 | 95 23.5 | 48 14 | 138 | 19.1
' PLL8-03 8 R3/8 | 105 | 235 | 495 | 17 | 13.8 | 19.1
e PLL8-04 8 R1/2 | 135 | 23.5 | 53 21 | 13.8 | 191
' PLL10-01 10 | R1/8 | 7.5 26.8 | 53.8 | 17 | 16.8 | 21.2
I[ H\_ PLL10-02 10 | R1/4 | 95 268 | 559 | 17 | 16.8 | 21.2
8 PLL10-03 10 | R3/8 | 105 | 26.8 | 569 | 17 | 16.8 | 21.2
PLL10-04 10 | R1/2 | 135 | 26.8 | 603 | 21 | 16.8 | 21.2
PLL12-01 12 | R1/8 | 75 30.8 | 61.1 | 21 | 19.8 | 24.4
PLL12-02 12 | R1/4 | 95 30.8 | 63.1 | 21 | 19.8 | 24.4
PLL12-03 12 | R3/8 | 105 | 308 | 64.1 | 21 | 19.8 | 24.4
PLL12-04 12 | R1/2 | 135 | 30.8 | 67.1 | 21 | 19.8 | 24.4
PLL16-03 16 | R3/8 | 10.5 | 33 74 24 | 27 25
PLL16-04 16 | R1/2 | 135 | 33 785 | 24 | 27 25

119



ISO9001:2008 (€

GPLL

L BUINKAR 3@
10)  Male Long Elbow

PLM

Push-in Connectors

BE

MODEL

Q

Pneumatic Fittings

LBUBREY i@
11) Male Elbow L

PD

=

GPLL4-01 | 4 ] ;
GPLL4-02 | 4 [ R1/4 | 95 [ 179 | 35 14 | 99 | 153
GPLL6-01 | 6 | R1/8 | 7.5 | 20 36 10 | 118 | 16.7
GPLL6-02 | 6 | R1/4 | 95 | 20 37.3 | 14 | 11.8 | 16.7
GPLL6-03 | 6 | R3/8 | 105 | 20 38.8 | 17 | 118 | 16.7
GPLL6-04 | 6 | R1/2 | 13.5 | 20 423 | 21 | 11.8 | 16.7
GPLL8-01 | 8 | R1/8 | 7.5 | 23.5 | 429 | 12 | 13.8 | 19.1
GPLL8-02 | 8 | R1/4 | 95 | 23.5 | 40 14 | 138 | 19.1
GPLL8-03 | 8 | R3/8 | 105 | 235 | 415 | 17 | 138 | 19.1
GPLL8-04 | 8 | R1/2 | 135 | 23.5 | 45 21 | 13.8 | 19.1
GPLL10-01 | 10 | R1/8 | 75 | 26.8 | 489 | 17 | 168 | 21.2
GPLL10-02 | 10 | R1/4 | 95 | 26.8 | 51 17 | 16.8 | 21.2
GPLL10-03 | 10 | R3/8 | 105 | 26.8 | 51 17 | 168 | 21.2
GPLL10-04 | 10 | R1/2 | 135 | 26.8 | 51 21 | 16.8 | 21.2
GPLL12-01 | 12 | R1/8 | 75 | 308 | 53.7 | 17 | 19.8 | 24.4
GPLL12-02 | 12 | R1/4 | 95 | 30.8 | 55.8 | 17 | 19.8 | 24.4
GPLL12-03 | 12 | R3/8 | 10.5 | 30.8 | 55.8 | 17 | 19.8 | 244
GPLL12-04 | 12 | R1/2 | 13.5 | 30.8 | 55.8 | 21 | 19.8 | 24.4
GPLL16-03 | 16 | R3/8 | 105 | 33.5 | 61.3 | 20 | 27 25

GPLL16-04 | 16 | R1/2 | 135 | 335 | 643 | 21 | 27 25

IPAN A=
12) Branch Tee

D
PLM4 4 M12 | 313 | 175|148 | 14| 33|99 153
PLM6 6 M14 | 381 | 19 15.80) 17 [id:2:( |3k | 1657
PLM8 8 M16 [ 435|228 | 173 |19 /33| 13.8 | 19.1
PLM10 10 | M20 | 514 | 276 | 196 | 24 [ 4.3 | 16.8 | 21.2
PLM12 12 | M22 [ 56.1 | 29.6 | 22.2 | 27 | 4.3 | 19.8 | 244
PLM16 16 | M27 | 62.6 | 32.5 | 25 A || Bl | 2 25
BS

MODEL D R A E B H X C
PD4-M5 4 M5 385 18 218 | 8 9.9 15.3
PD4-01 4 R1/8 | 7.5 18 243 | 10 | 9.9 585
PD4-02 4 R1/4 | 9.5 18 27.3 | 14 | 9.9 15.3
PD6-M5 6 M5 35| 203 | 238 | 8 11.8 | 16.7
PD6-01 6 R1/8 | 7.5 20.3 | 268 | 12 | 11.8 | 16.7
PD6-02 6 R1/4 | 9.5 203 | 293 | 14 | 11.8 | 16.7
PD6-03 6 R3/8 | 10.5 | 20.3 | 30.8 | 17 | 11.8 | 16.7
PD6-04 6 R1/2 | 135 | 203 | 34.3 | 21 | 11.8 | 16.7
PD8-01 8 R1/8 | 7.5 235581830 14 | 138 | 191
PD8-02 8 R1/4 | 9.5 235 | 32 14 | 13.8 | 19.1
PD8-03 8 R3/8 | 10.5 | 23.5 | 335 | 17 | 13.8 | 19.1
PD8-04 8 R1/23 IR 35582385137, 28 1SS N IR TO]:
PD10-01 10NIpERTY/8N||IS7255 26.8 | 33.8 | 17 | 168 | 21.2
PD10-02 10 | R1/4 | 9.5 26.8 | 359 | 17 | 16.8 | 21.2
PD10-03 10 | R3/8 | 105 | 26.8 | 369 | 17 | 16.8 | 21.2
PD10-04 10 | R1/2 | 135 | 26.8 | 403 | 21 | 16.8 | 21.2
PL12-01 1251} ERT/85il| 8755 26.8 | 343 | 21 | 198 | 244
PD12-02 128 piSR1Y/45]}IN15 30.8 | 395 | 21 | 198 | 244
PD12-03 12 | R3/8 | 10.5 | 30.8 | 40.5 | 21 | 19.8 | 24.4
PD12-04 12 | R1/2 | 13.5 | 30.8 | 435 | 21 | 19.8 | 24.4
PD16-03 16 | R3/8 | 10.5 | 32.5 | 43.5 | 24 | 27 25
PD16-04 16 | R1/2 | 13.5 | 325 | 46.5 | 24 | 27 25

120



Push-in Connectors
Pneumatic Fittings

ISO9001:2008 C€

PB
MODEL

o

5 = PB4-M5 | 4 : . 2 :
R =i® PB4-01 | 4 | R1/8 | 75 | 18 | 243 | 10 | 99 | 153
13) BranchTee PB4-02 | 4 | R1/4 [ 95 |18 | 273 [ 14 | 99 | 153
PB6-M5 | 6 | M5 | 35 | 203 | 238 | 8 | 11.8 | 16.7

PB6-01 | 6 | R1/8 | 7.5 | 203 | 26.8 | 12 | 11.8 | 16.7

PB6-02 | 6 | R1/4 | 95 | 203 | 293 | 14 | 11.8 | 167

PB6-03 | 6 | R3/8 | 105 | 20.3 | 30.8 | 17 | 11.8 | 16.7

H PB6-04 | 6 | R1/2 | 135 | 20.3 | 343 | 21 | 118 | 16.7

PB8-01 | 8 | R1/8 | 7.5 | 235 | 30 | 14 | 138 | 19.1

PB8-02 | 8 | R1/4 | 95 | 235 | 32 | 14 | 138 | 191

PB8-03 | 8 | R3/8 | 10.5 | 23.5 | 33.5 | 17 | 13.8 | 19.1

PB8-04 | 8 | R1/2 | 135 | 23.5 | 37 | 21 | 13.8 | 19.1

PB10-01 10 | R1/8 | 7.5 26.8 | 33.8 | 17 16.8 | 21.2
PB10-02 10 | R1/4 | 9.5 26.8 | 359 | 17 | 16.8 | 21.2
PB10-03 10 | R3/8 | 105 | 26.8 | 369 | 17 | 16.8 | 21.2
PB10-04 10 | R1/2 | 13.5 | 26.8 | 40.3 | 21 | 16.8 | 21.2
PB12-01 12 | R1/8 | 7.5 30.8 | 37.5 | 21 | 19.8 | 24.4
PB12-02 12 | R1/4 | 9.5 30.8 | 395 | 21 | 198 | 244
PB12-03 12 | R3/8 | 10.5 | 30.8 | 40.5 | 21 | 19.8 | 244
PB12-04 12 | R1/2 | 135 | 30.8 | 43.5 | 21 | 19.8 | 244
PB16-03 16 | R3/8 105 | 325 | 435 | 24 | 27 25

PB16-04 16 | R1/2 | 13.5 | 325 | 46.5 | 24 | 27 25

PX
MODEL D R A F B H X C

'J == PX4-M5 4 M5 B85 142 | 39.7 | 8 e 158
— PX4-01 4 R1/8 | 7.5 14.2 | 422 | 10 | 9.9 55,3
PX4-02 4 R1/4 | 9.5 142 | 452 | 14 | 99 1583

ke ) AFLEGUC z PX6-M5 6 M5 BAS) 15 42 8 L | ISE
PX6-01 6 R1/8 | 7.5 15 45 17280 S 11N SHIINNTISTO

PX6-02 6 R1/4 | 9.5 iS5 475 | 14 | 11.8 | 15.9

PX6-03 6 R3/8 | 10.5 | 15 49 1v/anliwiv =S Rilaw1'5%0

PX6-04 6 R1/2 | 135 | 15 5% || 238 1 304 || ISE)

PX8-01 8 R1/8 | 7.5 19.7 | 499 | 14 | 13.8 | 19.1

PX8-02 8 R1/4 | 9.5 19SS TN | R4 8] 1S 2R 1o

PX8-03 8 R3/81|10:5 1§11 19.7 |""534" | 17 ") 13:8°|" 1951

PX8-04 8 RA/288 | ] SRSHRINTION7 S 61N 2/ SNy ] SESHI NN ON]E

PX10-01 10 | R1/8 | 7.5 20.5 | 56 17321 6285im21%2

PX10-02 10 | R1/4 | 9.5 2(0F5 N SS5S N W) ] 5788 ) 8] 6 SRIND D)

PX10-03 10 | R3/8 | 105 | 205 | 59.1 | 17 | 16.8 | 21.2
PX10-04 10N} NR1728 ] S131SHI{ 82 0:SHIN6 225 M| IF2 1% |51 678N 121102
PX12-01 12 | R1/8 | 7.5 22 615 | 21 | 198 | 244
PX12-02 12 | R1/4 | 9.5 228 | 643 | 21 | 198 | 244
PX12-03 12 | R3/8 105 HEN2 2SI SIS w21 198 | 244
PX12-04 12 | R1/2 | 135 | 22.8 | 68.3 | 21 | 19.8 | 244
PX16-03 16 | R3/8 105 | 24 715 | 24 | 27 25

PX16-04 16 | R1/2 | 135 | 24 L9558 In24miin2 . 25

i\\\\\

PH
MODEL
- R PHA-M5 | 4 M5 | 35 |17 | 8
NI AtESL PH4-01 | 4 R1/8 | 7.5 [235 | 10 | 225 [99 | 153
15) Universal Elbow PH4-02 | 4 R1/4 | 95 [26.3 | 14 | 259 [99 | 15.3
PH6-01 | 6 R1/8 | 7.5 |235 | 10 | 241 [118 | 16.7
PH6-02 | 6 R1/4 | 95 |263 | 14 | 262 [11.8 | 167
PH6-03 | 6 R3/8 | 10.5 |31.9 | 19 | 29.5 [11.8 | 16.7
PH6-04 | 6 R1/2 | 13.5 | 386 | 24 | 325 |11.8 | 16.7
PH8-01 | 8 RI/8 | 75 |235 | 10 | 261 |13.8 | 19.1
PH8-02 | 8 RI/4 | 95 |263 | 14 | 292 |138 | 19.1
PH8-03 | 8 R3/8 | 105 |31.9 | 19 | 30 [138 | 191
PH8-04 | 8 R1/2 | 13.5 |386 | 24 | 33 [13.8 | 19.1
PH10-02 | 10 | R1/4 | 95 |263 | 14 | 32 168 | 212

PH10-03 10 R3/8 105SHE3TONIES1ONS[E3BES N 1116 SN IR2/192
PH10-04 10 R1/2 135 |38.6 [ 24 [ 356 |16.8 | 21.2
PH12-02 12 R1/4 9.5 263 | 14 | 352 |19.8 | 244
PH12-03 12 R3/8 310588371 OSSO RN {88373 W |11 0 SR 474
PH12-04 12 R1/2 135 |38.6 | 24 | 388 |19.8 | 244

121



Push-in Connectors

16)

17)

18)

Pneumatic Fittings

PHF

EBEKIEL
Female Universal
Elbow

PKB

r \°
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

B RIE
Branch Triple

PKD

R R RE
Reduced Branch
Triple

OD
PHF4-MS | 4 | M5 3.5 | 5510 19.5 | M5 9.9 | 15.3
PHF4-01 4 [ R1/8 |75 [ 85[14]295| G1/8 [ 9.9 | 153
PHF4-02 4 [R1/4 195 [ 11 [17343]G1/4 99 [153
PHF6-M5 | 6 | M5 35 |55 10 | 19.5 | M5 11.8 | 16.7
PHF6-01 6 | RL/8| 7.5 | 8514295 G1/8 | 11.8 | 16.7
PHF6-02 6 | R1/4[ 95 [11 [17|343|G1/4 [11.8 [ 167
PHF6-03 |6 | R3/8 | 105 |12 | 21 | 40.4 | G3/8 | 11.8 | 16.7
PHF6-04 | 6 | R1/2 | 135 |14 [ 24| 475 G1/2 | 11.8 | 16.7
PHF8-01 8 |R1/8 |75 |85 14295 G1/8 | 13.8 | 19.1
PHF8-02 8 | R1/4 |95 [11 |17 343 G1/4 | 13.8 | 19.1
PHF8-03 8 | R3/8| 105 |12 | 21 | 404 | G3/8 | 13.8 | 19.1
PHF8-04 8 | R1/2 | 13514 | 24 | 475 | G1/2 | 13.8 | 19.1
PHF10-02 | 10 | R1/4 | 95 | 11 | 17 | 34.3 | G1/4 | 16.8 | 21.2
PHF10-03 | 10 | R3/8 | 10.5 | 12 | 21 | 40.4 | G3/8 | 16.8 | 21.2
PHF10-04 | 10 | R1/2 | 135 [ 14 | 24 | 475 | G1/2 | 16.8 | 21.2°
PHF12-02 | 12 | R1/4 [ 9.5 |11 |17 | 34.3 | G1/4 | 19.8 | 24.4"
PHF12-03 | 12 [ R3/8 | 10.5 | 12 [ 21| 40.4 | G3/8 | 19.8 | 24.4
PHF12-04 | 12 | R1/2 | 135 | 14 | 24 | 475 | G1/2 | 19.8 | 24.4

oD D i 5
PKB4-01 | 4 | R1/8 | 7.5 | 19 10 | 36 | 63.5 [ 9.9 | 153
PKB4-02 | 4 | R1/4 | 9.5 | 19 14 | 36 | 66.5 | 9.9 | 153
PKB6-01 | 6 [ R1/8 [ 75 | 203 ]| 12| 42| 678 | 11.8 | 16.7
PKB6-02 | 6 | R1/4 |95 | 203 | 14| 42| 69.8 | 11.8 | 16.7
PKB6-03 | 6 | R3/8 | 105 | 203 | 17 | 42 | 72.3 | 11.8 | 16.7
PKB8-01 | 8 | R1/8 [ 75 | 243 | 14 | 48 | 69.3 | 13.8 | 19.1
PKB8-02 | 8 | R1/4 [ 95 | 243 | 14 | 48 | 71.3 | 13.8 | 19.1
PKB8-03 | 8 | R3/8 | 105 | 243 | 17 | 48 | 72.8 | 13.8 | 19.1

2 DI RZ IR E SSERS N e N B VAT IS G e e ] =3
MODEL
PKD6-4-01 [6 [4[R1/8|12/19 [36|643|7.5 [16.7]153[11.8[9.9
PKD8-4-02 [8 [4[R1/4|14/20 [42|709[9.5 [19.1]/153[13.8[9.9
PKD8-6-02 |8 [6|R3/8|14|20.3(42/70.9/9.5 [19.1]16.7[13.8|11.8
PKD10-8-03/10|8[R1/2|17|23.9(48[92.1/10.5/21.2/19.1[16.8|13.8

122



ISO9001:2008 C€

CAS

HEAMH
19) Cartridge

PU

Push-in Connectors

Pneumatic Fittings

HiE

200 Union Straight

PG

4 | : ; ;s ;
CAS06 6 7.9 2.6 10 12.3 9.4 L
CASO08 8 OB\ 35 12 14.1 DL AlE
CAS10 10 10.3 4 15 15.4 14.2| 16.8
CAS12 12 12,3 4.7 17.6 18.1 16.8| 19.8
MODEL R 3 € .
PU04 4 334 1583 9.9
PU06 6 35.5 16.7 11.8
PU08 8 39.5 i)l 13.8
PU10 10 46.2 25192, 16.8
PU12 12 50.6 244 19.8
PU16 16 51 25 27

HREE
21) Diff.Diam.Union
Straight

PG6-4 4 : . . 3 £

PG8-6 8 6 39 19.1 16.7 13.8 11.8
PG10-8 10 8 46.2 | 21.2 IO} 16.8 13.8
PG12-10 12 10 49.8 | 24.4 21.2 19.8 16.8

123



Push-in Connectors v‘?ﬁiﬁ
Pneumatic Fittings

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

PV E— e I = L

. PV04 17.9 sz
LB @ PV06 20.1 16.7 11 8
22) Union Elbow PV08 8 235 3.3 19.1 138
PV10 10 26.8 43 21.2 168
PV12 12 30.8 43 244 19.8
PV16 16 325 5.1 25 27

e |
PE

= PEO4 4 17.9 3.3 15.3 9.9
TRI=i& PE0O6 6 20.3 3.2 16.7 11.8
23 . PEO8 8 23.5 3.3 19.1 13.8
) Union Tee - PE10 10 26.8 43 21.2 16.8
PE12 12 30.8 4.3 24.4 19.8

PE16 16 51 5.1 25 27

PEG
MODEL D1 D2 E L d Cl c2 X1 X2

PEG6-4 6 | 4 [20 [40.5]3.2]16.7 | 153 [11.8 9.9

s 42— )
TRAE=8 PEG8-6 8 | 6 |23 [47 [3.3[19.1 167 |13.8] 118
24)  Diff.Diam Union Tee PEGI0-8 | 10 | 8 [26.8(53.6| 4.3 | 21.2 | 19.1 | 16.8 | 13.8
sy PEG12-10 | 12 | 10 [30 [61.6] 4.3 | 24.4 | 21.2 | 19.8 | 16.8

124



ISO9001:2008 C€

PEW

TRURIR =18

Push-in Connectors

Pneumatic Fittings

25) Diff.Diam Union Tee
YRI=J&@

26) UnionY
YRURAR =8

27)

Diff .Diam UnionY

B8
MODEL
PEW6-4 6 4 |20.3]39.9] 32167 ]153[11.8]9.9
PEWS-6 8 6 [235/46 [ 33191167138 118
PEW10-8 10 8 [26.8]53.6] 43| 21.2]19.1 ] 16.8 ] 13.8
PEW12-10 | 12 10 [30.8[60 [ 43244212198/ 168
oD D B d
PYOA [ 4 35.9 14.2 15.3 9.9 3.3
PY06 6 38.5 15 16.7 11.8 3.2
PYO8 8 43.4 19.7 19.1 13.8 3.3
PY10 10 49 20.5 21.2 16.8 43
B e T PY12 12 556 | 228 | 244 | 198 4.2
Zi__’ﬂj 5 PY16 16 61 22.8 25 27 5.1
I I
A
1S
|
i
= )
BS D1 D2 B F Cl &2 X1 X2 d
MODEL
PW6-4 6 4 [38.2]14.7] 16.7 | 153 [ 11.8] 9.9 | 3.2
PW38-6 8 6 [429(19.2] 19.1 [ 16.7 [ 13.8] 11.8 [ 3.3
PW10-8 10 | 8 |49 |205| 21.2 | 19.1 | 16.8 | 13.8 | 4.3
PW12-10 | 12 10 |54.8(22 | 244 | 212|198 16.8 | 4.3




Push-in Connectors

Pneumatic Fittings

28)

29)

30)

PZA

+=r i
Cross

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

D d E & X
PZA04 4 3.3 15785 58 Oi9
PZA06 6 3.2 IS 16.7 11.8
PZA08 8 353 22.8 19.1 13.8
PZA10 10 4.3 2883 i) 16.8
PY12 12 4.3 29.6 24.4 19.8

)
PK

hi@
Union Triple

24.3

100 | 138 | 48

PKG

pkG6-4

PpAESabL]
Diff.Diam.Union Triple

PKG8-6

16.7 1138118 3.3

PKG10-8

126



Push-in Connectors

ISO9001:2008 (€ 2 e
Pneumatic Fittings

PP

PP4 4 28 5 3 15
-
S 0D PP6 6 33 7 3 17
31) Plug ]' PP8 8 37 9 4 18
PP10 10 42 11 5 205
ol | PP12 12 44 13 6 23
|
I
| { op2

PGJ |

. PGicsaam] 6 | 4 | 362 | 167 153 | 99
R EEEL _,_*m‘ PGJ8-6 8 6 375 | 191 167 | 11.8
32) E i PGJ10-8 10 8 43 21.2 19.1 | 13.8
Reducer Ll PGJ12-10 12 10 545 | 24.4 21.2 | 168
|
b |
|
!
FEEE
Lepz|
SE
PLJ \ o D] [ 5
oD
PLJO4 4 33 TE9 [ ReI0 5] 3:30 [0
R ER PLJO6 6 S v o e ] i e 1l
33 PLJO8 8 425 23.5 19.1 14 3.3 13.8
) Socket Elbow PLJ10 10 | 508 | 268 | 212 | 18 23 | 168
PLI12 12 | 545 | 308 | 244 | 206 | 43 | 19.8
PLI16 16 | 598 | 325 | 25 24 51 | 27

PYJ)

4 . 4. 0. 5 5 4
YRUIEFF =18 PYJ06 6 546 | 15 125 | 167 | 32 | 118
. PYJO8 8 60.1 | 19.7 | 14 191 | 3.3 | 138
34) Socket UnionY PYJ10 10 | 729 | 205 | 18 22ia3 16.8
PYJ12 12 | 781 | 228 | 206 | 244 | 43 | 198

127



Push-in Connectors

Pneumatic Fittings

PWJ

VLR B2 =18
35) Differ.Diam.Socket
UnionY

PHT-2

BEERA
36) Double Universal
Elbow

PHT-3

SEXER
37) Double Universal
Elbow

:f

=
— -
o]
|
— -+

A

L&

15

16

13

ne

r 4

‘\@

Vilo

P

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

MODEL D1 D2 L A P B X
PGJ6-4 6 4 53,7 | 14.7 12.5 15.3 9.9
PGJ8-6 8 6 604 | 19.2 14 16.7 11.8
PGJ10-8 10 8 723 | 20.5 18 19.1 13.8
PGJ12-10 12 10 77 22 20.6 21.2 16.8

PTHO04-01(2) 4 R1/8 | 7.5 14 15 38 23:5 111.5 | 12
PTHO04-02(2) 4 R1/4 ER 16.5 15 41.5 125%5) 11.5 14
PTHO06-01(2) 6 R1/8 | 7.5 14 15 38 235 13.5 )12
PTHO06-02(2) 6 R1/4 | 9.5 16.5 | 15 415 | 254 | 135 | 14
PTHO06-03(2) 6 R3/8 | 10.5 18.5 | 15.7 | 495 | 295 13WETEIS
PTH08-01(2) 8 R1/8 | 7.5 14.5 | 15 38 26.5 15 12
PTHO08-02(2) 8 R1/4 | 9.5 17.5 | 15 415 | 29 15 14
PTHO8-03(2) 8 R3/8 | 10.5 | 18.5 | 15.7 | 49.5 30 15 19
PTHO8-04(2) 8 R1/2 13.5 | 255 | 215 | 60 32.5 15 24
PTH010-01(2) | 10 | R1/8 | 7.5 18 19 44 30.5 19 12
PTHO010-02(2) | 10 R1/4 | 9.5 18.5 | 215 | 4438 32.5 19 14
PTH010-03(2) | 10 | R3/8 | 10.5 | 20.5 | 21.5 53 33 19 19
PTHO010-04(2) | 10 | R1/2 13.5 | 255 | 215 | 60 36 19 24
PTH012-02(2) | 12 R1/4 | 9.5 18.5 | 21.5 | 4438 335 2115514
PTH012-03(2) | 12 R3/8 10.5 | 22 21.5 53 35.5 215 | 19
PTH012-04(2) | 12 R1/2 13.5°] 255 | 21.5 [I'60 36.5 | 215 | 24
._ : @D R 4 6 OD
ALJ1)
PTHO04-01(3) 4 R1/8 | 7.5 14 15 15 53 23 50| R1175 0|81 2
PTHO04-02(3) 4 R1/4 | 9.5 1 6ESRIBINS 15 53158182 SH5N 1V 1R5 8172
PTH06-01(3) 6 R1/8 | 7.5 14 15 15 53 23.5 | 13.5| 12
PTH06-02(3) 6 R1/4 | 9.5 T 6ESHIBES 15 56.5 | 254 | 13.5 | 14
PTH06-03(3) 6 R3/8 | 10.5 | 18.5 | 15.7 | 15.7 | 65.3 | 29.5 | 13.5 | 19
PTHO08-01(3) 8 R1/8 | 7.5 14.5 | 15 15 53 26.5 | 15 12
PTH08-02(3) 8 R1/4 | 9.5 17858{B)S 15 56.5 | 29 15 14
PTHO08-03(3) 8 R3/8 | 105 | 18.5 | 15.7 | 15.7 | 65.3 | 30 15 1)
PTHO08-04(3) 8 R1/2 | 135| 255 | 21.5] 21.5 ] 81.5 | 325 | 15 24
PTH010-01(3) | 10 | R1/8 | 7.5 18 19 19 63 30.5 | 19 12
PTHO010-02(3) | 10 | R1/4 | 9.5 18NS |25 B2 RS RIN6 91BN A0 N 819 14
PTH010-03(3) | 10 | R3/8 | 10.5 | 20.5 | 21.5 | 21.5 | 78 33 19 19
PTH010-04(3) | 10 | R1/2 | 13.5 | 25.5 | 21.5 | 21.5 | 81.5 | 36 19 24
PTHO012-02(3) | 12 | R1/4 | 9.5 185 | 215 | 21.5 | 69.5 | 33.5 | 21.5 | 14
PTH012-03(3) | 12 | R3/8 | 10.5 | 22 215 | 21.5 | 78 35.5 | 21.5 | 19
PTHO012-04(3) | 12 | R1/2 | 13.5 | 255 | 21.5 | 21.5 | 81.5 | 36.5 | 21.5 | 24

128



Mini Tube Fittings

ISO9001:2008 (e : —
Pneumatic Fittings

PC-G H AAR X

PC4-G01 G1/8 2 19.3 | 10

14.8

X 4 3
RNEB PC4a-G02 | 4 | Gl/4 | 7 |21 [ 10| 3 |99 | 148
38) Sstraight o PC6-G01 | 6 | G1/8 | 55 |23 |12 | 4 [118] 158
: PC6-G02 | 6 [ Gl/a | 7 22 |12 | 4 |118] 158
PC6-G03 | 6 | G3/8 | 7 |185| 12 | 4 |118] 158
PC6-G04 | 6 | G1/2 | 85 |205] 12 | 4 |118] 158
PC8-GO1 | 8 | G1/8 | 55 |25 | 14 | 4 | 138 173
| [pcsGoz | & | Gi/a | 7 |266] 14 | 5 [138 173
PC8-GO3 | 8 | G3/8 | 7 | 205]| 14 | 5 |138] 17.3
PC8-G04 | 8 | G1/2 | 85 |22 |14 | 6 |138] 173
PC10-GOL | 10 | 61/8 | 55 |286] 17 | 4 168 | 196
PC10-G02 | 10 | G1/4 | 7 [291] 17 | 6 |168] 106
PC10-G03 | 10 | G3/8 | 7 | 252] 17 | 8 | 168 | 196
PC10-G04 | 10 | G1/2 | 85 | 266 17 | 8 | 168 | 19.6
PC12.GOL | 12 | G1/8 | 55 |31.2| 21 | 4 | 198 | 22.2
BRSO 12 cia| 7 |37 21| 6 108222
PC12-:G03 | 12 | G3/8 | 7 | 276 21 | 8 198 222
PC12:G04 | 12 | G1/2 | 85 201 21 | 8 | 19.8 ] 22.2
PC16-G03 | 16 | G3/8 | 7 3571 24 | 8 |27 1 25
PC16-G04 | 16 | G1/2 | 85 | 37.7] 24 | 10 |27 | 25

POC-G s : T |

N P04-GO1 4 G1/8 55 |[19.3 | 10 3 9.9 | 14.8
EENEE P04-G02 4 Gl/4 | 7 21 10 3 99 | 1438
39 : P06-GO1 6 G1/8 5.5 |23 12 4 11.8 | 15.8
) HexHoled Straight P06-G02 6 Gl/4 | 7 22 12 4 11.8 | 15.8
P06-GO03 6 G3/8 | 7 185 | 12 4 11.8 | 15.8
P06-G04 6 G1/2 85 | 205 | 12 4 11.8 | 15.8
P08-GO1 8 G1/8 55 | 25 14 4 138 | 17.3
P08-G02 8 Gl/4 | 7 26.6 | 14 5 13.8 | 17.3
P08-GO03 8 G3/8 | 7 205 | 14 5 13.8 | 17.3
P08-G04 8 G1/2 85 | 22 14 6 138 | 17.3
P010-GO1 | 10 | G1/8 55 | 286 | 17 4 16.8 | 19.6
P010-G02 | 10 | G1/4 | 7 29.1 | 17 6 16.8 | 19.6
P010-GO3 | 10 | G3/8 | 7 252 | 17 8 16.8 | 19.6
P010-GO4 | 10 | G1/2 | 85 [26.6 | 17 8 16.8 | 19.6
P012-GO1 | 12 | G1/8 | 5.5 |31.2 | 21 4 19.8 | 22.2
P012-G02 | 12 | G1/4 | 7 317 | 21 6 19.8 | 22.2
P012-GO3 | 12 | G3/8 | 7 276 | 21 8 19.8 | 22.2
P012-G04 | 12 | G1/2 | 8.5 |29.1 | 21 8 19.8 | 22.2
P016-GO3 | 16 | G3/8 | 7 35.7 | 24 8 27 | 25
P016-G04 | 16 | G1/2 | 8.5 |37.7 | 24 10 | 27 | 25

PL-G 28 2 )

. PL4-GO1 | 4 |G1/8| 55 179|247 10 [99 [153] 3.3

Ricke S gmmt PL4-GO2 | 4 |Gl/4| 7 |17.9 264 10 [99 [153[ 33
41) Male Elbow L PL6-GO1 | 6 |G1/8| 55 |20 |[245| 12 [11.8[16.7 3.2
PL6-GO2 | 6 |Gl/4| 7 |20 |28 | 12 [11.8]16.7 3.2

— PL6-GO3_| 6 |G3/8| 7 |20 |28 | 12 [11.8[16.7] 3.2

T PL6-G04 | 6 |G1/2| 85 |20 |295| 12 [11.8[16.7] 3.2

PL8-GO1 | 8 |G1/8| 55 |23.5[30 | 14 |13.8[19.1] 3.3

PL8-G02 | 8 |G1/4| 7 | 235|31 | 14 | 138191 33

PL8-GO3 | 8 [G3/8| 7 |235 315 14 |[138[19.1] 33

PL8-GO4 | 8 |Gl/2| 85 | 23533 | 14 |13.8(19.1 3.3

PL10-GO1 10 |G1/8| 5.5 | 26.8|32.8| 17 |16.8 | 21.2| 4.3
PL10-G02 10 |[G1/4| 7 2681343 | 17 |16.8]21.2| 43
PL10-GO3 10 |G3/8| 7 268 | 343 17 | 16.8 | 21.2 | 4.3
PL10-G04 10 |G1/2| 85 | 26.8(36.3| 17 [16.8]|21.2 | 4.3
PL12-GO1 12 |G1/8| 5.5 | 308|365 | 21 198|244 | 4.3
= PL12-G02 12 |G1/4| 7 30.8 1385| 21 | 198|244 | 43
PL12-GO3 12 |G3/8| 7 30.8(385| 21 [19.8|244 | 43
PL12-G04 12 |G1/2| 8.5 | 30.8 | 40 21 |19.8|244| 43
PL16-G03 16 |G3/8| 7 33 405 | 24 | 27 25 4.5
PL16-G04 16 |G1/2| 8.5 | 33 44 24 | 27 25 4.5

129



G Thread Fitting

Pneumatic Fittings

GPL-G

Vilo

7 \°

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

P

MOD

_. GPL4-GO1 | 4 | G1/8 | 5.5 |17.9 20 10 |99 | 15.3

L BB 58 GPL4-GO2 | 4 | G1/4 | 7 179 [21.5] 10 |9.9 | 153

42) MaleElbow L GPL6-GO1 | 6 | G1/8 | 55 [20.5]248]| 10 |11.8 | 16.7

GPL6-G02 | 6 | G1/4 | 7 20.5 | 22 12 | 11.8 | 16.7

) GPL6-GO3 | 6 | G3/8 | 7 20.5 | 22 12 | 11.8 | 16.7

= GPL6-G04 | 6 | G1/2 | 85 |205 |238| 12 |11.8 | 167

/1 ! GPL8-GO1 | 8 | G1/8 | 5.5 |23.3|255| 14 | 13.8 | 19.1

= 5[ GPL8-G02 | 8 | G1/4 | 7 233 |27.2| 14 |13.8 | 19.1

w i s GPL8-GO3 | 8 | G3/8 | 7 233 |232| 14 | 138 191

o ' - GPL8-GO4 | 8 | G1/2 | 85 |23.3 |247| 14 | 13.8 | 19.1

% GPL10-GO1 | 10 | G1/8 | 5.5 |27 |284| 17 | 168 | 21.2

6 GPL10-G02 | 10 | G1/4 | 7 27 | 294 17 | 168 | 21.2

! GPL10-G03 | 10 | G3/8 | 7 27 |29.7| 17 |16.8 | 21.2

r‘ GPL10-G04 | 10 | G1/2 | 85 |27 |27.7| 17 | 168 | 21.2

GPL12-GO1 | 12 | G1/8 | 5.5 |29.3|29.6| 17 | 19.8 | 24.4

GPL12-G02 | 12 | G1/4 | 7 29.3 |30.6| 17 | 19.8 | 244

, GPL12-G03 | 12 | G3/8 | 7 293 | 309 | 17 | 19.8 | 244

GPL12-G04 | 12 | G1/2 | 85 |29.3 |289| 17 |19.8 | 244

GPL16-GO3 | 16 | G3/8 | 7 335 [31.7] 20 |27 | 25

GPL16-G04 | 16 | G1/2 | 85 |335 27.2| 24 |27 | 25

PLL-G = : ;
oD

_ — PLLA-GO1 | 4 |G1/8] 55 |17.9] 37.2| 10 | 9.9 |153 | 3.3

L BUINKIR i@ PLL4-GO2 | 4 |Gl/a| 7 1179389 10 |9.9 [153 | 3.3

43) Male Long Elbow PLL6-GO1 | 6 |G1/8| 5.5 |20 |39 12 |118(16.7 | 3.2

- PLL6-G02 | 6 |G1/4| 7 |20 [42.5]| 12 |11.8|16.7 | 3.2

] PLL6-GO3 | 6 |G3/8| 7 |20 [425] 12 |11.8]16.7 | 3.2

N i ™ PLL6-GO4 | 6 |G1/2| 85 |20 |44 | 12 |11.8|16.7 | 3.2

4 0 PLL8-GO1 | 8 |G1/8| 55 | 23546 | 14 |13.8[19.1 | 3.3

PLL8-GO2 | 8 |Gl/4| 7 |235|47 | 14 |13.8]19.1 | 33

7 PLL8-GO3 | 8 |G3/8| 7 | 235|475 14 |13.8|19.1 | 33

g I 4 PLL8-G04 8 G1/2| 8.5 |23.5]| 49 U || BRIyt 3

PLL10-GO1 | 10 |G1/8| 5.5 | 26.8 528 | 17 |16.8 |21.2 | 43

PLL10-GO2 | 10 |G1/4| 7 | 26.8| 543 | 17 |16.8 [21.2 | 4.3

¥ PLL10-GO3 | 10 |G3/8| 7 | 26.8|54.3| 17 |16.8 [21.2 | 4.3

\% 4 [T~ PLL10-GO4 | 10 |G1/2| 85 | 268 (563 17 [16.8 212 | 43

: PLL12-GO1 | 12 |G1/8| 5.5 | 30.8 | 60.1 | 21 |19.8 | 24.4 | 4.3

’ ‘ PLL12-G02 | 12 |G1/4| 7 | 30.8 |62.1| 21 |19.8 |24.4 | 43

L PLL12-GO3 | 12 |G3/8| 7 |30.8|62.1| 21 |19.8|24.4 ]| 43

PLL12-G04 | 12 |G1/2| 8.5 | 30.8 | 63.6 | 21 |19.8 | 24.4 | 43

PLL16-GO3 | 16 |G3/8| 7 |33 | 725 24 |27 |25 | 45

PLL16-G04 | 16 |G1/2| 8.5 |33 |76 | 24 |27 |25 | 45

GPLL-G EE :

ViO D

. GPL4-GO1 | 4 | G1/8] 55 ] 17.9 | 325| 10 | 9.9 15.3

LBUSRE 5@ GPL4-G02 | 4 | G1/a| 7 [ 179 ] 34 10 | 99 153

44)  Male Elbow L GPL6-GO1 | 6 | G1/8| 55 | 205 | 39.3 | 10 | 118 | 167

GPL6-G02 | 6 | G1/4| 7 | 20.5] 365| 12 | 11.8 | 167

GPL6-GO3 | 6 | G3/8| 7 | 205 | 365 | 12 11.8 | 16.7

GPL6-G04 | 6 | G1/2 | 8.5 | 20.5 | 38.3 | 12 11.8 | 16.7

GPL8-GO1 | 8 | G1/8 | 5.5 | 23.3 | 41.5| 14 | 13.8 | 19.1

GPL8-GO2 | 8 | G1/4| 7 | 23.3 | 43.2| 14 | 13.8 | 191

GPL8-GO3 | 8 | G3/8 | 7 | 23.3| 39.2| 14 | 13.8 | 19.1

GPL8-G04 | 8 | G1/2 | 8.5 | 23.3 | 40.7 | 14 | 13.8 | 19.1

GPL10-GO1 | 10| G1/8 | 5.5 | 27 | 48.4| 17 | 16.8 | 21.2

GPL10-G02 | 10| G1/4 | 7 | 27 | 49.4| 17 168 | 21.2

GPL10-G03 | 10| G3/8 | 7 | 27 | 49.7 | 17 168 | 21.2

GPL10-GO4 | 10| G1/2 | 85 | 27 | 47.7 | 17 168 | 21.2

GPL12-GO1 | 12| G1/8 | 5.5 | 29.3 | 53.2 | 17 19.8 | 244

GPL12-G02 | 12| G1/4| 7 | 29.3 | 54.2| 17 198 | 24.4

GPL12-G03 | 12| G3/8 | 7 | 29.3 | 54.5| 17 19.8 | 24.4

GPL12-G04 | 12| G1/2 | 85 | 29.3 | 525 | 17 | 19.8 | 24.4

GPL16-G03 | 16| G3/8 | 7 | 33.5 | 59.3 | 20 | 27 25

GPL16-G04 | 16| G1/2 | 8.5 | 33.5 | 54.8 | 24 | 27 25

130



G Thread Fittings

ISO9001:2008 C€ —
Pneumatic Fittings

PD-G

. PD4-GO1 | 4 . ; . )
TS IR =8 PD4-G02 | 4 1G1/4| 7 |18 | 444 10 |99 [153] 3.3
46) Branch Tee PD6-GO1 | 6 |G1/8] 5.5 [203[45 | 12 [118]16.7 | 3.2
PD6-G02 | 6 |Gl/a| 7 [203 | 485| 12 | 118 16.7 | 3.2
PD6-GO3 | 6 |G3/8| 7 203|485 12 | 118167 3.2
PD6-G04 | 6 | G1/2 20350 | 12 |11816.7] 3.2
) PD8-GOL | 8 |G1/8| 55 |23.5|53.5| 14 |13.8|19.1| 3.3
o PD8-G02 | 8 |Gl/4| 7 |235|545| 14 |13.8|19.1] 3.3
| | Pp8-G03_| 8 |G3/8| 7 |23.5]55 | 14 | 13.8[19.1 | 3.3
b PD8-G04 | 8 |G1/2| 85 |23.5]565] 14 | 13.8[19.1] 33
PD10-GO1 | 10 |G1/8| 5.5 [26.8|59.6| 17 | 168 |21.2 | 4.3
PD10-G02 | 10 |Gl/4| 7 |26.8 | 61.1| 17 | 16.8 | 21.2 | 4.3
PD10-GO3 | 10 |G3/8| 7 |26.8 | 61.1| 17 | 168 | 21.2 | 4.3
PD10-G04 | 10 |G1/2| 8.5 |26.8 | 63.1] 17 | 16.8 | 21.2 | 4.3
PD12-GO1 | 12 |G1/8] 5.5 |30.8 | 67.3| 21 | 19.8 | 24.4 | 4.3
PD12-G02 | 12 |Gl/4| 7 |30.8 | 69.3| 21 | 198 | 24.4 | 4.3
PD12-GO3 | 12 |G3/8| 7 |30.8 | 69.3| 21 | 19.8 | 24.4 | 4.3
PD12-G04 | 12 |G1/2| 8.5 |30.8 | 70.8| 21 | 19.8 | 24.4 | 4.3
PD16-G03 | 16 1G3/8| 7 32373 | 24 |27 |25 | 45
PD16-G04 | 16 |G1/2] 8.5 |32.3 | 765] 24 | 27 |25 | 45
R — PB4-GO1 |4 | G1/8 | 5.5 24.8 | 3591099 |15.3 33|14
XU PB4-G02 |4 | GI/4|7 |265359|10/99 |153|3.3|14
48) Branch Tee PB6-GO1 |6 | G1/8 | 5524840512 11.8|16.7|3.2] 16
PB6-G02 |6 | Gl/4|7 |283 40512118 1673216
PB6-GO3 |6 | G3/8 |7 | 283|405 |12 1181673216
PB6-GO4 | 6 | G1/2 | 8.5]29.8 | 405 |12 |11.8|16.7|3.2| 16
PB8-GO1 | 8 | GI/8 |55 30 |47 |14 |13.8 1913318
PB8-GO2 |8 | Gl/4|7 |31 |47 |14 |13.8|1913.3|18
PB8-GO3 |8 | G3/8 |7 | 31.5|47 |14 |13.8|19.1 3.3 18
PB8-GO4 |8 | G1/2 |85 |33 |47 |14 |13.819.1|3.3|18
PB10-GO1 | 10 | G1/8 | 5.5 | 32.5 | 536 | 17 | 168 | 21.2 | 4.3 | 24
PB10-G02 | 10 | G1/4 | 7 | 34.3 |53.6 |17 | 168 |21.2 |43 |24
PB10-GO3 | 10 | G3/8 | 7 | 343 |53.6 | 17 | 16.8 | 21.2 | 4.3 | 24
PB10-G04 | 10 | G1/2 | 8.5 | 36.3 | 53.6 | 17 | 16.8 | 21.2 | 4.3 | 24
PB12-GO1 | 12 | G1/8 | 5.5 | 33.3 | 60 |21 |19.8 | 244 | 4.3 | 27
PB12-G02 | 12 | G1/4 | 7 | 385 |61.6 | 21 | 19.8 | 24.4 | 4.3 | 27
PB12-GO3 | 12 | G3/8 | 7 | 38.5 | 61.6 | 21 | 19.8 | 24.4 | 4.3 | 27
PB12-G04 | 12 | G1/2 | 85|40 |61.6| 21198244 |43 |27
PB16-GO3 | 16 | G3/8 | 7 | 405 | 64.5 | 24 |27 |25 |45 |31
PB16-GO4 | 16 | G1/2 | 8.5 | 44.5 | 64.5 | 24 | 27 | 25 | 4.5 | 31
PX-G s
MoDEL D G B A U | cald
Nr— PX4-GO1 | 4 | G1/8 | 5.5 | 14.2 | 42.7 | 10 | 9.9 | 15.3 | 3.3
PX4-G02 | 4 | G1/4 | 7 | 142 | 444 | 10 | 99 | 153 | 3.3
49) Branch Tee PX6-GO1 |6 | G1/8 | 5515 |43 [12]11.8] 167 | 3.2
i A PX6-G02 | 6 | Gl/a | 7 | 15 | 465 |12 | 11.8 | 167 | 3.2
gl===ze==s PX6-G03 | 6 | G3/8 | 7 | 15 | 465 | 12 | 118 | 16.7 | 3.2
9 F PX6-G04 |6 | G1/2 | 85|15 |48 |12 | 11.8 | 16.7 | 3.2
T PX8-GO1 | 8 | G1/8 | 5.5 | 19.7 | 499 | 14 | 13.8 | 19.1 | 3.3
PX8-G02 | 8 | G1/4 | 7 | 19.7 | 50.9 | 14 | 13.8 | 19.1 | 3.3
PX8-GO3 | 8 | G3/8 | 7 | 19.7 | 51.4 | 14 | 13.8 | 19.1 | 3.3
PX8-G04 | 8 | G1/2 | 85| 19.7 | 52.9 | 14 | 13.8 | 19.1 | 3.3
PX10-GO1 | 10 | G1/8 | 5.5 | 20.5 | 55 | 17 | 16.8 | 21.2 | 4.3
PX10-G02 | 10 | G174 | 7 | 20.5 | 56.5 | 17 | 16.8 | 21.2 | 4.3
PX10-G03 | 10 | G3/8 | 7 | 20.5 | 56.5 | 17 | 16.8 | 21.2 | 4.3
PX10-G04 | 10 | G1/2 | 8.5 | 20.5 | 58.5 | 17 | 16.8 | 21.2 | 4.3
PX12-GO1 | 12 | G1/8 | 5.5 | 22.8 | 61.3 | 21 | 19.8 | 24.4 | 4.3
PX12-G02 | 12 | G1/4 | 7 | 228 | 633 | 21 | 198 | 24.4 | 4.3
PX12-G03 | 12 | G3/8 | 7 | 22.8 | 63.3 | 21 | 19.8 | 24.4 | 4.3
PX12-G04 | 12 | G1/2 | 8.5 | 22.8 | 64.8 | 21 | 19.8 | 24.4 | 4.3
PX16-G03 | 16 | G3/8 | 7 | 22.1 | 68.5 | 24 | 27 | 25 | 4.5
PX16-G04 | 16 | G1/2 | 85| 22.1 | 725 | 24 | 27 | 25 | 4.5

131



G Thread Fitting \,‘mif

144 | 24 | 356 | 455 | 16.8 | 212
12 |17 | 352 |34 | 19.8 | 244
13 | 21373 ] 402198 244
144 | 24 | 388 | 455 | 19.8 | 24.4

PHF10-G04| 10 | G1/2
PHF12-G02| 12 | G1/4
PHF12-GO3| 12 | G3/8
PHF12-G04| 12 | G1/2

(¥a)

Pneumatic Flttlngs VILOP PNEUMATIC CO., LTD
Cylinder series/ Gas source series/ Valve series/ Other serises
PHF-G T ; :

s PHF4-GO1 | 4 | G1/8 | 559 | 14 | 225 | 29.5 | 9.9 | 15.3
SBECIRL PHF4-G02 | 4 | G1/4 | 7 |12 | 1725934 [ 9.9 [153
50) Female Universal PHF6-GO1 | 6 | G1/8 | 559 | 14241295 118 | 16.7_
PHF6-G02 | 6 | Gl/a |7 |12 |17 26234 [11.8] 167
Elbow PHF6-GO3 | 6 | G3/8 | 7 | 13 | 21 | 29.5 | 40.2 | 11.8 | 16.7
PHF6-GO4 | 6 | G1/2 | 8.5 | 144 | 24 | 32.5 | 45.5 | 11.8 | 16.7
PHF8-GO1 | 8 | G1/8 | 55| 9 14 1261 | 295 | 13.8 | 19.1
PHF8-G02 | 8 | G1/4 | 7 | 12 | 17| 29.2 |34 | 138 19.1_
PHF8-GO3 | 8 | G3/8 | 7 | 13 | 21|30 | 40.2 ] 13.8 | 19.1
PHF8-GO4 | 8 | G1/2 | 8.5 | 144 | 24 | 33| 455 13.8 | 19.1
PHF10-GO2| 10 | G1/4 | 7 | 12 | 17 |32 |34 | 16.8 | 21.2
PHF10-G03| 10 | G3/8 | 7 | 13 | 21| 335 402 | 16.8 | 21.2

8.

7

7

3

w

PH-G =

D B A P
. N PH4-GO1 |4 |G1/8[55|3 |10]22.5][23.5[14.4[9.9 |153
CAWAV=:EE S PH4-G02 |4 |G1/4 |7 [4 [11[259[26 [183[99 [153
51 i PH6-GO1 |6 |G1/8 5513 [10|24.1]23.5]14.4]11.8]16.7
)" Universal Elbow PH6-G02 |6 |Gl/4|7 |4 [14]26.2]26 [183]11.8]16.7
PH6-GO3 | 6 | G3/8|7 |45/19(295][31.5]22 [118]16.7
PH6-G04 |6 |G1/2|85]5 [24[325[36.6]28 [118]16.7
TI—FFEH_/A"— PH8-GO1 |8 |G1/8[5.5/3 [10]261|23.5|14413.8]19.1
! PH8-GO2 |8 |Gl/4|7 |4 |14|292|26 |183]138]19.1
| et PH8-GO3 |8 |G3/8 |7 |45[19[30 |31.5]22 [138[19.1
| D PH8-GO4 |8 |G1/2 /855 |24|33 |366]28 |13.8]19.1
=3 PH10-GO2 | 10 | G1/4 |7 |4 | 14|32 |26 | 183|168 212
2 PH10-GO3 | 10 | G3/8 | 7 | 45|19 33531522 |16.8 212
. PH10-GO4 | 10 | G1/2 |85|5 |24|356| 36628 |168] 21.2
7f\_\. PH12-G02 | 12 | G1/4 | 7 |4 | 1435226 |183|19.8|24.4
-6}} PH12-GO3 | 12 | G3/8 | 7 | 45|19 37.3|31.5[22 |19.8|24.4
e PH12-G04 | 12| G1/2 | 8.5|5 | 2438836628 |19.824.4
KB-G ns

P s | G L Al e d H X C
=T PKB4-GO1 | 4 | G1/8 | 64.2 | 36 | 55 | 3.3 | 12 [ 9.9 | 15.3
B TIE PKB4-G02 | 4 | G1/4 | 65.7 | 36 | 7 33 | 12 [ 99 [ 153
52) Branch Triple PKB6-GO1 | 6 | G1/8 | 68.6 | 42 | 55 | 3.2 | 14 | 11.8 | 16.7
: PKB6-G02 | 6 | G1/4 | 70.1 | 42 | 7 32|14 | 118 | 16.7

PKB6-GO3 | 6 | G3/8 | 71.6 | 42 | 7 32| 14 | 118 | 16.7

PKB8-GO1 | 8 | G1/8 | 87.8 | 48 | 55 | 3.3 | 14 | 13.8 | 19.1

PKB8-GO2 | 8 | G1/4 | 89.3 | 48 | 7 33| 17 | 138 | 19.1

PKB8-GO3 | 8 | G3/8 | 90.8 | 48 [ 7 33 | 17 [ 13.8 | 19.1

132



ISO9001:2008 C€

PKD-G

RERBYAIE
53) Reduced Branch
Triple

PHT-2-G

BES

G Thread Fittings

Pneumatic Fittings

REERS
54) Double Universal
Elbow

PHT-3-G

3202

REXERS
55) Double Universal
Elbow

MOBEL | [PED2iet IHE AT ST
PKD6-4-GO1 | 6 |4 | G1/8 36| 64.2 | 5. g } 819
PKD8-4-G02 |8 [4|G1/4[17[42[69.9|7 [19.1[153[13.8[9.9
PKD8-6-G02 |8 |6]|G3/8[17[42[714|7 [19.1]16.7[13.8[11.8
L PKD10-8-G03| 10 [ 8 | G1/2[20[48|91.17 [21.2[19.1]16.8[13.8
o
—'{-—\,
I
- |
A= |
e )|
: | ,.
G
¥l ¥l
I
BS
MODEL @ G LA S 2 I 2 2 SR o T S H
PTH04-G01(2) | 4 [ G1/8 [ 55 | 14 |15 [ 38 [ 235 | 115 [ 12
PTH04-G02(2) | 4 Gl/4 | 7.5 (157. 30 (N1 5 41150 8°25: 5511 SN 4
PTH06-G01(2) | 6 G1/8 | 5.5 14 i) 38 225 g E LY
PTH06-G02(2) | 6 Gl/4 | 7.5 WA || S 415 | 254 | 135 | 14
PTH06-G03(2) | 6 G3/8 | 7.5 19 1SS oSN 201 SHNNII SIS W] 9
PTH08-G01(2) | 8 G1/8 | 5.5 15 15 38 26.5 15 12
PTH08-G02(2) | 8 G1/4 | 7.5 183 | 15 415 | 29 15 14
PTH08-G03(2) | 8 | G3/8 [ 7.5 |19 | 157 | 4395 [30 [15 |19
PTHO08-G04(2) | 8 Gl/2 | 10 245 | 215 | 57 325 15 24
PTH010-G01(2)| 10 | G1/8 | 5.5 16.8 | 19 42.50|¥30:58|819 12
PTH010-G02(2)| 10 | G1/4 | 7.5 20 215 | 448 | 325 19 14
PTH010-G03(2)| 10 | G3/8 | 7.5 21 21851553 33 19 19
PTH010-G04(2)| 10 | G1/2 | 10 25 2155H|E60 36 19 24
PTH012-G02(2)| 12 | G1/4 | 7.5 215 | 215 | 448 | 335 | 215 | 14
PTH012-G03(2)| 12 | G3/8 | 7.5 22 Zas 1 38 355 | 215 | 19
PTH012-G04(2)| 12 | G1/2 | 10 26 21558156058/ M3 615N {217 58]i24
‘_>= PD 4 6 PD
UL
PTH04-G01(3) | 4 G1/8 | 55 | 14 15 15 53 23:50|01:1.5)112
PTH04-G02(3) | 4 G407 I7:38 ]S 15 56.3 | 25.5 | 11.5 | 14
PTH06-G01(3) | 6 G1Y/8IIRSESE|I14 15 15 53 23.5 1135 | 12
PTH06-G02(3) | 6 (G /A3 [ AL (DS 15 56.3 | 254 | 135 | 14
PTH06-G03(3) | 6 G37 81 |72 ML) 15.7 | 15.7 | 644 | 29.5 | 13.5 | 19
PTH08-G01(3) | 8 G1Y/BigN5*SNe]'S 15 15 53 26.5 | 15 12
PTHO08-G02(3) | 8 G1Y/ 47 oSN 8 3NN S 15 5683829 15 14
PTH08-GO03(3) | 8 G3/8H§E7250 19 15.7 | 15.7 | 644 | 30 85 19
PTHO08-G04(3) | 8 G1/2 | 10 | 245 | 215 | 215 | 82 1328 o YRI5 24
PTH010-G01(3)| 10 | G1/8 | 5.5 | 16.8 | 19 19 61:5.(1730:31]i[19 12
PTH010-G02(3)| 10 | G1/4 | 7.5 | 20 21958 | 9219 SHIN6 925 M I3 2351 )F19) 14
PTH010-G03(3)| 10 | G3/8 | 7.5 | 21 21050 21525 | 7,554 N33 19 19
PTH010-G04(3)| 10 | G1/2 | 10 | 25 21550 | B2 55N N8 2 36 19 24
PTH012-G02(3)| 12 | G1/4 | 7.5 | 21.5 | 21.5 | 21.5 | 69.3 | 33.5 | 215 | 14
PTH012-G03(3)| 12 | G3/8 | 7.5 | 22 21555 |15 25 57,545 53551 )2 1=5H]iF19
PTH012-G04(3)| 12 | G1/2 | 10 | 26 215 | 215 | 82 36.5]215] 24

133



Mini Tube Fittings \,‘i]\o',@

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Pneumatic Fittings

B 455/ Characteristics

LSRN RREERL, 1.Pneumatic mini tube fitting
2RI IR EIELA40% , RLITHEEI/ B, 2.40% Size of standard tube fitting achieved miniaturization succefully
JRHEFANIRANBER , SREH/NE , IRENERAE 3.0val sleeve, disassembling conveniently though miniaturization

(= %DWF/Q

1] EFHMZ/Tube outer dia.

o6mm EFMB/Tube outer dia.
e R1/8 D ©6mm
/NEY/mini. \R1/8 AR /standard

m BEARS#/ Specification

{ERFA/ Fluid =5/ Air
{FRENEEL/ Pressure Range 0~0.8MPa

%/ Negative Pressure -750mmHg(10Torr)
{EREE6E/ Temerature Range 0~60°C

B 2438 / Structure Chart
| A S Cautio

#£18/Sleeve(POM) EEARSEEF AR EIRFRNERLERIRFR
EiERERANSHE , BESERDE,
WRBERY VTRt RERSESEREFAR.

Please pay attention to the caution and warming before usage.
&3 /Back —Ring(POM) Please insert the tube to the bottom when connecting the fittings and tubes.
Air leaking or tube falling may happened if not connect well.

PUE /Nylon Tube
fe & &/Polyurethane Tube

{§%/Collar(Brass)

% K /Lock Claws(Stainless)

FHE/ Seal (NBR)
3% 3L/Metal Body (Brass)

A g
Egm/()-l(ulg(NBR) A L

#3L F {&/Resin Body(PBT)
WIEARANK , BREWASFRNBATRRHRENS
EEER. AR, Wl REERLOMR , BESRER
BRR.

If use waterfuid, Please check and confirm to comply with specitication

FEHBO-Ring(NBR) otherwise, breakage, air leakage, falling would happen.

B BISds# / Product Code System

A P C 3 - 01 C

@ @ ® @ ®
@ R5US/ Series: T : BBES , A: WBEKJ.nothing: indicates black series, A: grey series.
@ BE/Type
® SEHME/ Tube outer diameter @ BREABXKRT/Thread Type and size
t8/Code| M3 M5 | Me o1 02
@1/Thread| M3X0.5 | M5X0.8 | M6X1 R1/8 | R1/4

® B/ Mini Tube Fitting

134



ISO9001:2008 C€

PC-C

Mini Tube Fittings

Pneumatic Fittings

: PC4-M3C 6.4
IR EIE D PC4-M5C 4 [Msxo.8] 35 | 169 | 156 | 80 | 11 8.0
56) Straight t—t—h PCA-M6C M6X1 | 45 | 182 | 158 | 80 | 11 9.0
a7 i ! PC6-M5C MSX0.8| 3.5 17.8 | 16.1 10.0 12.5 | 10.0
| . = PC6-M6C o IMexi| 39 [187 [163 | 100 | 125 | 100
“ i PC6-01C RI/8 | 80 | 191 | 168 | 100 | 12.5 | 10.0
R
PU-C
PUAC 4 | 25.2 8.1 12
B& PU6C 6 263 10.7 124
57) ] . —
Union Straight -
L
e,
_I J -
58) HiZER® \
Diff.Diam.Union Straight — —
T
PM_C [ oD M ® C A E ®isH G
1 PMA4C 4 |mioxi| 252 | 8.0 | 12.0 [ 7.0 | 135 | 120 | 3.0
59) RARELE = - PM6C 6 |M12x1| 269 | 100 | 126 | 71 | 152 | 140 | 40
. {1\
Bulkhead Union i ~
S 11l ) B -A_Lfe;]n.
! i
ga"\@ /D
BE
PV'C [ mopeL P E i € £ 2 3
. PV4C 3 18.3 8.1 120 | 14.2 3.2 6.0
0) (i1 = PV6C 6 21.8 10.7 124 | 164 3.2 7.0

Union Elbow

l.ﬂ.|
|
|
l2-D)|
2-0p

135



Mini Tube Fittings AN

Pneumatic Fittings P

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

PL-C 85, o0 R4

— PL4-M3C M3X0.5| 3.0 136 | 16.6 8.1 12 16 8.0
V3B Y 1
L&ﬁ?.ﬁ_@ %: PL4-MSC 4 |M5X0.8| 3.5 156 | 17.4 8.1 12 16 8.0
61) Male Elbow | i PL4-M6C M6X1 | 45 | 166 [ 176 | 81 | 12 | 16 | 9.0
{r Hi gllgl PL6-M5C M5X0.8| 3.5 15.3 | 20.0 | 10.7 | 124 | 16.7 8.0
A L PL6-M6C 6 M6X1 4.5 173 | 2011 | 10.7 | 124 | 16.7 9.0
o PL6-01C R1/8 8.0 18.3 | 20.2 | 10.7 | 124 | 16.7 | 10.0
— : ; :
62) TRI=ig s PEGC 6 10.7 124 | 164 3.2 7.0
Union Tee - -
s ],[
B -
==

i ¥
I N
-« -

EP-D

N . EPD4-M3C 4 M3X0.5 3 81 14.7 12 8 31
TRIS IR =@ — EPD4-MSC 4 |Msx08| 35 | 81 | 147 | 12 8 315
I EPD4-M6C 4 M6X1 4.5 8.1 14.7 12 9 137285
A
BranCh tee ;+_ 2| __a o EPD6-MSC 6 MSX08| 3.5 10.7 16 .4 124 8 345
6 9
Ec2 ®

AT EPD6-M6C M6X1 | 45 | 107 | 164 | 124 355
! i EPD6-01C R1/8 | 8 | 107 | 164 | 124 | 10 | 373
=
T

Ho @

-;ﬂ/ ~

EP-B

e EPBO4-M3C | 4 [M3X05| 3 | 81 | 147 | 12 8 |17.8 | 153
TR =8 1 L EPBO4-MSC | 4 |MSX08| 35 | 81 | 147 | 12 8 | 183 | 158
i EPB04-M6C | 4 | Mex1| 4.5 | 8.1 | 147 | 12 9 |188 | 168
Male tee i T EE[ EPBO6-MSC | 6 |MSx08| 3.5 | 107 | 164 | 124 | 8 |209 | 17
il EPB06-M6C 6 |M6X1| 45 | 107 | 164 | 124 9 | 214 18

6 10

% | wt EPBO06-01C RI/8 | 8 | 107 | 164 | 124 212 | 19.8
2-% ,_;

136



ISO9001:2008 (€

Speed Controllers

Pneumatic Fittings

SLESTRIAABETREN . AFRATRINZESRBLIZSITHARCINTTHIEIER  RAREERR , FRESE.

SL series , designed with one-way throttie structure, are used to adjust the motion speed of cylinder or other actors. By using quick

connection design, they are fast fordisassembly.

SL-R

NHERRELBTRR
65) Elbow

-

SL-G

AHIEERER T
66 ) Elbow

SA

N EERDRE
67 ) Union

SiEEm
Lea

BE/MODEL

JR &/ Control Out PR AZY/ Control In

SL4-MS SL4-MSB 4| MS | 35]|8) 20 |149]99 | 29 319
SL4-01 SL4-01B 4 |R1/8| 7.5 [10|22.3|14.9| 99 | 37.5 | 443
SL4-02 SL4-02B 4 |R1/4[11.2|14| 24 |149| 99 | 43.7 | 513
SL6-MS SL6-MSB 6 | MS | 35| 8 |21.7|154|11.8| 29 319
SL6-01 SL6-01B 6 |R1/8| 7.5 |10[229]154|11.8| 37.5 | 44.3
SL6-02 SL6-028 6 |R1/4|11.2 /14249154 |11.8| 43.7 | 51.3
SL6-03 SL6-03B 6 | R3/812.3/19|266|154|11.8| 484 | 553
SL6-04 SL6-04B 6 |R1/2| 15 |24 [29.6|154|11.8| 52.7 | 59.5
SL8-01 SL8-018 8 |R1/8| 7.5 |10[253]|17.3|13.8| 37.5 | 44.3
SL8-02 SL8-02B 8 |R1/4111.2|14|284|18.3|13.8| 43.7 | 51.3
SL8-03 SL8-03B 8 | R3/8[12.3|19[29.3|18.3/13.8| 484 | 55.3
SL8-04 SL8-048 8 |R1/2| 15 |24 |32.3|18.3|13.8| 52.7 | 59.5
SL10-02 SL10-028 10| R1/4|11.2|14| 32 | 20.5]|16.8| 43.7 | 513
SL10-03 SL10-038 10 | R3/8{12.3{19|32.5|20.5|16.8| 484 | 553
SL10-04 SL10-048 10| R1/2| 15 |24 |35.5|20.5]|16.8 | 52.7 | 59.5
SL12-02 SL12-02B 12| R1/4(11.2{14| 32 |21.6]|19.8| 43.7 | 51.3
SL12-03 SL12-03B 12| R3/8|12.3(19|353|21.8|19.8| 48.4 | 553
SL12-04 SL12-04B 12| R1/2| 15 |24 |36.3| 223|198 52.7 | 59.5

%5/ MODEL

FRZControt Out, (RAZY ControlIn

SL4-GO1 SL4-G01B 4 |G1/8| 6.0 | 10 |22.3| 14.9| 9.9 | 37.5 | 443
SL4-G02 SL4-G02B 4 |G1/4| 83| 14 | 24 | 149/ 9.9 | 43.7 | 51.3
SL6-GO1 SL6-GO1B 6 |G1/8| 6.0 | 10 [229| 154|11.8| 37.5 | 443
SL6-GO2 SL6-G02B 6 |G1/4| 8.3 | 14 |24.9| 15.4|11.8| 43.7 | 51.3
SL6-GO3 SL6-G03B 6 |G3/8| 9.5 |19 |26.6| 154|11.8| 484 | 553
SL6-GO4 SL6-G04B 6 |G1/2| 13 | 24 |29.6| 154|11.8| 52.7 | 59.5
SLB-GO1 SL3-GO1B 8 |G1/8| 6.0 | 10 |25.3| 17.3|13.8| 375 | 44.3
SL8-G02 SL8-G02B 8 |G1/4| 83| 14 |28.4| 183138 43.7 | 51.3
SL8-GO3 SL8-G03B 8 |G3/8/9.5| 19 |29.3| 18.3|13.8| 484 | 553
SLB-GO4 SL8-GO4B 8 |G1/2| 13 | 24 |32.3| 18.3|13.8| 52.7 | 59.5
SL10-G02 SL10-G02B | 10 | G1/4| 8.3 | 14 | 32 | 20.5/16.8| 43.7 | 51.3
SL10-G03 SL10-GO3B | 10 | G3/8| 9.5 | 19 [32.5| 20.5/16.8| 48.4 | 553
SL10-GO4 SL10-GO4B | 10 | G1/2| 13 | 24 |35.5| 20.5/16.8| 52.7 | 59.5
SL12-G02 SL12-G02B | 12 |G1/4| 83 | 14 | 32 | 216/19.8| 43.7 | 513
SL12-G03 S112-G03B | 12 | G3/8| 9.5 | 19 |35.3| 21.8/19.8| 484 | 553
SL12-G04 SL12-GO4B | 12 [G1/2| 13 | 24 [36.3| 22.3|19.8 | 52.7 | 59.5

BE/MODEL @0

SA4 4 3.2 14 28 31 39.5 14.4 9.9
SA6 6 43 20 40.7 47.5 47.1 15.5 11.8
SA8 8 43 22 44.1 51.8 52 16.8 | 13.8
SA10 10 43 26 47.7 55.3 62.3 | 19.5 | 16.8
9 L g()}} « SA12 12 43 32 52 58 736 | 223 | 19.8
- F‘:L | Hirg
Bl
T T 7
@

137



ISO9001:2008 C€

B 4555/ Characteristics

LFEBATRAXESEES.

2. ZiBEAR =@ R ftikE.

3. ZBEX AR HEHERSIE.

4 SHMBNR R ERSE.

1.The hand valves are designed to turn on and off the airflow.
2.Two-way and three-way valves are available for all models.

3It exhausts the residue air after the close of three-way

control valve.
4 Multiple patterns with easy use.

HVFF
P EER
68) Union Straight

Hand Valves

Pneumatic Fittings

BARSH / Specification

{RFP4/ Valve type Zi& . =i/ Two-way, three-way
{EFA/ Fluid &/ Air-Vacuum

BE(EMAES/ Pressure range 0-1.0 MPa

HZ{EMEN/ Negative pressure -100Kpa(10 Torr)

{RIUERIES/ Max pressure 1.5 Mpa

BRRBRAKEE/ Temperature range| 0~60°C

1EAMYE/ Tube Material féfe/Nylon (PA) B2&BE/ Polyurethane (Pu)

‘
<

Lot

HVSS

Thread-Thread Straight

S BB iR R LR
70) Thread-Fitting Straight

&/ MODEL
Zi#Two-way Zi#Three-way
HVFF06-068 HVFF06-06 6 4.2 16.5 426 SIS 11.8 17.9
HVFF08-068 HVFF08-06 8 4.2 16.5 42.6 51.6 13.8 18.8
HVFF08-088B HVFF08-08 8 4.2 16.5 42.6 52 10336 18.8
HVFF10- 108 HVFF10-10 10 4.2 24185 47 63.3 16.8 21
HVFF12-108 HVFF12-10 12 4.2 8L 47 63.7 19.8 226
HVFF12-128B HVFF12-12 12 4.2 215 47 64.1 19.8 22.6
2 OD
= A B B dd R R
i 0 i) ee d
HVSS01-01B | HVSS01-01 | 65 | 165| 75| 7.5 |42.6 4.2 |R1/8|R1/8| 14 | 12
——— HVSS02-018 HVSS02-01 |66.5|16.5| 95| 75 |42.6 (4.2 |R1/4|RY/8| 14 | 14
Jii HVSS02-028 HVSS02-02 68 [165| 95| 95 [426|4.2 |RY/4|RI/4| 17 | 17
- HVSS03-028 HVSS03-02 |82.5|21.5| 10.5| 95 | 47 |4.2 |R3/8|R1/4| 17 | 17
g@ HVSS03-038 HVSS03-03 |[83.5|215| 10.5(10S | 47 |4.2 |R3/8(R3/8| 17 | 20
@._-—':,g; HVSS04-038 HVSS04-03 |87.5|21.5| 13.5( 95 | 47 |4.2 [R1l/2|R3/8| 21 | 21
Ll HVSS04-048 HVSS04-04 |90.5(21.5| 13.5/135| 47 |4.2 |Rl/2|R1/2| 21 | 21
e
~
iUE= oD
A B ®D Pd R
glwo-wa 22 ee-wa
HVSF01-06B HVSF01-06 |581|165| 7.5 |426| 6 |42|R1/8 (12| 118 [12.5|18.2
T HVSF02-068 HVSF02-06 |60.6|165| 95 |426| 6 |42|R1/4(14| 118 |12.5|18.2
ﬂi HVSF03-068 HVSF03-06 [62.1|165|10.5/426| 6 |42|R3/8|17|11.8 |12.5|18.2
HVSF01-08B HVSF01-08 | 59 [16S| 75 |426| 8 |4.2|R1/8|14| 138 (13.9|18.7
HVSF02-088 HVSF02-08 | 61 |165| 95 |426| 8 |42|R1/4|14| 138 139|187
HVSF03-088 HVSF03-08 | 625 |16.5|105|426| 8 |42|R3/8|17| 138 (13.9|18.7
HVSF02-108 HVSF02-10 |724|215| 95 | 47 |10|42|R1/4|17| 168 | 17 |21.2
HVSF03-108 HVSF03-10 | 734|215 |105| 47 |10|4.2|R3/8|17|168 | 17 [21.2
HVSF04-108 HVSF04-10 |769|215|135| 47 |10|42|R1/2(21|168 | 17 |21.2
HVSF02-128 HVSF02-12 |733|215|95 | 47 |12|42|R1/4|21|198|20.5|22.6
HVSF03-128B HVSF03-12 |743|215|105| 47 |12|42|R3/8|21|198 |20.5(22.6
HVSF04-128 HVSF04-12 |773 215|135 47 |12|4.2|R1/2|21|19.8 |20.5|22.6

138



Hand Valves

ISO9001:2008 (€ . cy:
Pneumatic Fittings

118/ MODEL
=8

HVFS s -
HVFS06-01B | HVFS06-01 | 581 | 165| 75 | 426

Py Ay, oA Al
2%5@&%&@@ =¥ HVFS06-02B | HVFS06-02 | 606 | 165| 95 | 426
71 Yy = R HVFS06-03B | HVFS06-03 | 621 | 165 | 105 | 426
) Flttlng Thread Stralght HVFS08-01B | HVFS08-01 59 | 165 75 | 426
HVFS08-02B | HVFS08-02 6l | 165| 95 | 426
= % HVFS08-03B | HVFS08-03 | 625 | 16,5 | 105 | 426

42| R1/8|12|11.8 | 18.2
42| R1/4|14|11.8 | 18.2
42| R3/8|17|11.8 | 18.2
42| R1/8 |14 |13.8 | 18.7
42| R1/4|14|13.8 | 18.7
42| R3/8 |17 [13.8 | 18.7
42| R1/4 |17 |16.8 | 21.2
42| R3/8|17[16.8 | 21.2
42| R1/2|21|16.8 | 21.2
42| R1/4|21[19.8 | 22.6
42 [R3/8|21|19.8 | 226
42| R1/2|21[19.8 | 22.6

HVFS10-02B | HVFS10-02 | 724 | 215| 95 | 47
HVFS10-03B | HVFS10-03 | 734 | 215|105 | 47
] HVFS10-04B | HVFS10-04 | 769|215 135| 47
HVFS12-02B | HVFS12-02 | 733|215 95 | 47
HVFS12-03B | HVFS12-03 | 743 | 215|105 | 47
HVFS12-048B | HVFS12-04 | 773 | 215|135 47

| %

BIRIRIB|IB|IB|x|c|eo|a|a

“*

HVSS 35/ MODEL

Zi@Two-way =iThree-way
ﬂﬁﬁ%ﬂzgﬁﬂ HVSS G01-GO1B | HVSS G01-GO1| 65 | 16.5| 5.5 | 5.5 [42.6| 4.2 [G1/8|G1/8| 14 | 14
Thread-Thread Straight

HVSS G02-G01B | HVSS G02-G01| 66.5 | 16.5 | 6.5 | 5.5 |42.6| 4.2 |G1/4|G1/8| 17 | 14
HVSS G02-G02B | HVSS G02-G02| 68 | 16.5| 6.5 | 6.5 |42.6| 4.2 |G1/4|G1/4| 17 | 17
HVSS G03-G02B | HVSS G03-G02| 80 |21.5| 7.5 | 6.5 | 47 | 4.2 |G3/8|G1/4| 20 | 17
< | HVSS G03-G03B | HVSS G03-G03| 81.5 | 21.5| 7.5 | 7.5 | 47 | 4.2 |G3/8|G3/8| 20 | 20
:gE’ HVSS G04-G03B | HVSS G04-G03| 83.2 | 21.5| 9.5 | 7.5 | 47 | 4.2 |G1/2|G3/8| 24 | 21

HVSS G04-G04B | HVSS G04-G04| 86.7 | 21.5| 9.5 | 95 | 47 | 42 [G1/2|G1/2| 24 | 24

Uz HE

Nim e =

SR HEE R AR R
73) Thread-Fitting Straight

#E/ MODEL

O d Y Vv

01-068 | HVSFGO01-06 | 581 | 165 | 55 | 426
HVSF G02-06B | HVSFG02-06 | 59.6 | 165 | 65 | 426 42| Gl/4 |14 (11.8 | 18.2
HVSF G03-06B | HVSFG03-06 | 61.1 | 165 | 7.5 | 426 42| G3/8|14|11.8|18.2

HVSF G 6
6
6
HVSF G01-088 | HVSFGO1-08 | 58.5 | 165 | 55 [ 426 | 8 |42 | G1/8 | 14 | 13.8 | 18.7
8
8

42| G1/8 (14 |11.8 [ 18.2

HVSF G02-08B | HVSFG02-08 | 60 | 165 | 65 | 426 42| G1l/4 |17 | 13.8 | 18.7
HVSF G03-088 | HVSFGO03-08 | 61.5 | 165 | 7.5 | 426 42| G3/8 | 17 | 13.8 | 18.7
HVSF G02-108 HVSF G02-10 | 70.9 [ 215 | 65| 47 |10 |42 | G1/4 | 17 | 16.8 | 21.2
HVSFGO03-10B | HVSFG03-10 | 724 | 215 | 75| 47 [ 10 [ 42| G3/8 | 20 |16.8 | 21.2
HVSF G04-10B | HVSFGO04-10 | 759 [ 215 (95| 47 |10 (42 | G1/2 | 19 |16.8 | 21.2
HVSF G02-12B HVSF G02-12 | 709 [ 215 | 65 | 47 |12 |42 | G1/4 | 21 |19.8 | 22.6

| ——
HVSF G03- 128 HVSFGO03-12 | 719 | 215 | 75| 47 |12 |42 | G3/8 | 21 | 19.8 | 22.6

HVSF G04-128 HVSFGO04-12 | 754 | 215 | 95 | 47 |12 (42| G1/2 |24 [19.8 | 22.6

HVFS =

B5/ MODEL
- awis fcaw HVFS06-GO1B | HVFS06-GO1 | 581 | 165 | 55 | 426
&S IR i i [P 1 i

6 42| G814 118182

HVFS06-G02B | HVFS06-G02 | 506 | 165 | 65 | 426 | 6 |42 | G1/4 [ 14 [11.8 | 18.2

Fitting-Thread Straight HVFS06-GO3B | HVFS06-G03 | 61.1 | 165 | 7.5 | 426 | 6 |42 G3/8 | 14 11.8]18.2
HVFS08-GO1B | HVFS08-GO1 | 585 | 165 | 55 | 426 | 8 | 42 | G1/8 | 14 | 13.8 | 18.7

Jii HVFS08-G02B | HVFS08-G02 | 60 | 165 | 65 | 426 | 8 | 42 | G1/4 | 17 | 13.8 | 18.7

- Eg 1 [HVFS08-GO3B | HVFS08-GO3 | 615 | 165 | 7.5 | 426 | 8 | 42 | G3/8 | 17 | 13.8 | 18.7

4| |HVFS10-GO02B | HVFS10-G02 | 709 | 215 | 65| 47 |10 | 42 | G1/4 | 17 | 16.8 | 21.2

i _‘JEVJ HVFS10-GO3B | HVFS10-GO03 | 724 | 215 | 75| 47 |10 | 42 | G3/8 | 20 | 16.8 | 21.2
Le] HVFS10-G04B | HVFS10-G04 | 759 | 215 | 95 | 47 | 10 (42| G1/2 | 19 | 16.8 | 21.2
HVFS12-G02B | HVFS12-G02 | 709 | 215 (65| 47 |12 |42 | Gl/4 | 21| 19.8 | 22.6
> HVFS12-GO03B | HVFS12-G03 | 719 | 215 | 75 | 47 |12 | 42| G3/8 | 21 | 19.8 | 22.6

D HVFS12-G04B | HVFS12-G04 | 754 | 215 | 95| 47 |12 |42 | G1/2 | 24| 19.8 | 22.6

139



Check Valve \,‘i]\o',@

Pneu matic Fittings VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

B Hi& / Application

AT REIAFBEE—TAERNDANTS  BTHOLRRER—EENTRONTT | HRIFAT | RENEEHDBEER.

For fluids that only need to flow in one direction.It is necessary to maintain a constant pressure at the outlet.It can also be used to maintain
vacuum and low pressure piping.

B BEARESE/ Specification

{E R/ Fluid 5/ Air

{EEREFERE/ Pressure Range 0~0.9MPa

f2[E/ Negative Pressure -100KPa(10Torr)

{FHIREBEE/ Temerature Range 0~60°C

1ERRE/ Applicable Tube B RPU / Nylon(PA) Polyurethane (PU)

B BSH®E / Product Code System

PCVvC38-01 A
® ® ® @

@® BS/Type
@ SE&HM2/ Tube outer diameter

LI/ Metric Size
K&/Code 4 6 8 10 12
REHMB Tube outerdametermm 4 D6 8 @10 P12

@ BYERKXRRI/Thread Type and size

2#l/ Metric Size

K8/code M5 M6 01 02 03 04
#85/Thread M5x0.8 M6x1 R1/8 R1/4 R3/8 R1/2

@ 12#175;%/Control method

ASMBR—UBN BMES — @
ASMBS— DA il — o
B5MBE— I e——— =

A EXEETS

FEARLELEFAERLERIZSN. TEEPOME , MIRERNAROANRDAOEBER , NRAMIER  RIEKSSTRD.

Before using, you must read the sample notes for use. When connecting the check valve, check the direction of check valve and use it again, such as reverse
connection.The air is not flowing

AENIRINIFRISNTRIA | MKATRER  , FERBMGEI.

If the frequency of switching is high, the body may be hot and there is a risk of scalding.

140



Check Valve

ISO9001:2008 (€ . cy:
Pneumatic Fittings

PCVU

PCVU04 4 5 . .
=8 PCVU06 6 13 15.6 16 55.5 13.9 12.5
8

PCVUO08 14.8 183 18.2 58.5 11589 13.9

: PCVU10 10 24.8 20.3 20.3 355 11935 17
‘ﬁjq PCVU12 12 248 277) 222%7] 78.7 23 20.5
i
L1}

75) Union Straight

PCVC = or ]

N pcvca-ms | 4 | 10 | 149 | 10 | M5x0.8 | 4 33.3 | 11.9 | 10.5
76) Bi# e : pcvca-M6 | 4 | 10 | 149 |10 | mMex1 |45 | 338119 105
. < pcvca-01 |4 | 10 | 149 | 10 | R1/8 75 | 278 [ 119 ] 105
Straight z | PCVC6-01 |6 |12 |16 |12 | R1/8 7.5 | 38.7 | 13.9 [ 125
qu Pcvc6-02 |6 |12 |16 |14 | R1/4 95 [342[139]125
i = PCVC8-01 |8 | 14 | 182 | 14 | R1/8 7.5 | 411 | 159 | 13.9
Tl PCVC8-02 |8 |14 | 182 | 14 | R1/4 95 | 37.2 159139

9] e PCVC10-03 | 10 | 24.8 | 203 | 24 | R3/8 10.5 | 61.4 | 19.5 | 17

i s PCVC10-04 | 10 | 28 | 20.3 | 27 | R1/2 135 | 67.4 | 19.5 | 17
IMI PCVC12-03 | 12 | 248 | 22.7 | 24 | Rr3/8 105 | 646 | 23 | 205
— PCVC12-04 | 12 | 28 | 22.7 | 27 | R1/2 135 | 707 | 23 | 205

A

PCVF | i DEILE Lo lliat B e

PCVF01-01 | R1/8 G1/8 14 7.5 9 317
=l PCVF02-02 | R1/4 | G1/4 17 9.5 11 34.5
77) W’Jl‘.ﬁgﬂEL PCVF03-03 | R3/8 G3/8 24 105 12 54.1
Straight | - PCVF04-04 | R1/2 G172 27 135 15 63.1
=T
= ||
Ll D=
pre=t==te
b |l |
i ! A =

141



Metal Push-in Fittings v‘mi,@

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Pneumatic Fittings

MPC

T

N
| -

A MPC4-M5 | 19 3.8 M5 8 @4
WRINEIE MPC4-01 | 16 75| 7 10 | R1/8 | @8 o4
78) straight MPC4-02 | 18 25 | 9 14 | RI/A | @8 | o4
MPC4-03 19 25 95 | 17 R3/8 | o8 4

MPC6-M5 | 26 2 4 12 | ™5 012 | o6

MPC6-01 25 5 7 12 | R1/8 | @12 | w6

MPC6-02 20.5 5 9 14 R1/4 | @12 [ o6

MPC6-03 20.5 5 9.5 17 R3/8 P12 6

s | g MPC6-04 21 5 11 21 | R12 | @12 | o6

\ \‘\ i ] MPC8-M5 | 28 2 4 14 | M5 14 | o8
& | = MPC8-01 28.5 5 7 14 R1/8 | ol4 | o8
= f MPC8-02 28.5 6 9 14 | R4 | 014 | a8
5 i y MPC8-03 22 6 9.5 | 17 R3/8 | ©14 | o8

: MPC8-04 22 6 11 21 R1/2 | @14 | a8

MPC10-01| 30.5 5 7 17 R1/8 | @16 | @10

MPC10-02| 30 6 9 17 | R1/4 | @16 | @10

MPC10-03| 25 8 95 [ 17 R3/8 | ®16 | @10

MPC10-04 | 24 8 11 21 R1/2 | @16 | @10

MPC12-01| 31 5 7 19 R1/8 | @18 | @12

MPC12-02| 33 6 9 19 R1/4 D18 D12

MPC12-03| 31 10 9.5 | 19 R3/8 | @18 [ @12

MPC12-04| 24 10 11 21 R1/2 | @18 | @12

MPC14-02| 36 6 4 21 | R1/4 | ©21 | 014

MPC14-03| 36 8 95 [ 21 R3/8 | ®21 | o14

MPC14-04| 35 10 11 21 R1/2 | @21 | @14

MPC14-06 | 37 12 13 27 | R3/4 | @21 | o014

MPC16-02| 36 6 9 24 | R1/4 | @23 | @16

MPC16-03| 37 10 95 | 24 R3/8 | @23 | @16

MPC16-04| 37 12 11 24 | R1/2 | @23 | o016

MPC16-06| 37 12 13 27 | R3/4 | @23 | @16

MPOC

. MPOC4-M5 | 19 3.6 2 M5 ®8 @ 04
79) ke d=pi] MPOC4-01 18.5 7 2.5 R1/8 8 4
Hex.Holed Straight MPOC4-02 18.5 9 2.5 R1/4 o8 4
MPOC6-M5 | 26 3.6 2 M5 012 6
MPOC6-01 25 7 5 R1/8 12 6
! MPOC6-02 26 9 5 R1/4 012 6
bt MPOC6-03 27 9.5 5 R3/8 12 6
ol MPOC6-04 28 11.5 5 R1/2 012 6
MPOC8-01 28.5 7 5 R1/8 14 8
4 MPOC8-02 27.5 9 6 R1/4 014 8
MPOC8-03 28 9.5 6 R3/8 14 8
5 h MPOC8-04 29 11.5 6 R1/2 D14 »8
MPOC10-01| 33 7 5 R1/8 016 ®10
MPOC10-02| 30 9 6 R1/4 D16 10
MPOC10-03| 29 9.5 8 R3/8 D16 D10
MPOC10-04| 30 11.5 8 R1/2 D16 10
MPOC12-01| 31 7 5 R1/8 18 D12
MPOC12-02| 33 9 6 R1/4 18 ®12
MPOC12-03| 31 9.5 10 R3/8 018 012
MPOC12-04| 30 11.5 10 R1/2 018 012
MPOC14-02| 36 9 6 R1/4 ®21 D14
MPOC14 -03| 36 9.5 8 R3/8 021 014
MPOC14-04| 35 11.5 10 R1/2 21 14
MPOC14-06 37 13 12 R3/4 21 14
MPOC16-02| 36 9 6 R1/4 23 D16
MPOC16-03| 37 9.5 10 R3/8 D23 D16
MPOC16-04| 37 11.5 12 R1/2 23 16
MPOC16-06 | 37 13 12 R3/8 023 D16

142



etal Push-in Connerto

ISO9001:2008 C€

MPV

Pneumatic Fittings

LBUORLR 8
MPV4 /A 8 4

Male Elbow L MPV6 24 12 6
MPV8 26.5 14 @8
MPV10 31 @16 10
MPV12 32,5 18 12
MPV14 37 21 14
MPV16 37 23 16

MPL

MPL4-M5 18785 ‘ 18 3.6 8 M5 @8 >4

U hB 47 —3 MPL4-01 17.5 | 19.5 7 10 | R1/8 | o8 4
81) LRI — 18 MPL4-02 17.5 | 21.5 9 14 | R1/4 | @8 4
Male Elbow L MPL4-03 IESIN22 9.5 17 [ R3/8 | @8 o4
MPL6-M5 24 19 3.6 10 | M5 12 | 96

MPL6-01 24 22 7 10 | R1/8 | @12 | o6

MPL6-02 24 24 9 14 | R1/4| o012 | 6

MPL6-03 24 24.5 9.5 17 | R3/8 | ®12 | o6

MPL6-04 24 26.5 11.5 21 [ R1/2 | 012 | 6

MPL8-M5 26.5 | 21 3.6 12 | M5 ®l4 | @8

. MPL8-01 26.5 | 23 7 12 | R1/8 | ®14 | @8

] MPL8-02 26.5 | 25 9 14 | R1/4| o014 | o8

= el MPL8-03 26.5 | 255 9.5 17 | R3/8 | ®14 | @8

= g MPL8-04 265 | 27.5 11.5 21 | R1/2 | ®14 | o8

. al MPL10-01 | 31 24 7 14 [ R1/8 | @16 | @10

J MPL10-02 | 31 26 9 14 | R1/4 | ©16 | @10

MPL10-03 | 31 28 9.5 17 | R3/8 | @16 | @10

MPL10-04 | 31 30 11.5 21 | R1/2 | @16 | @10

J MPL12-01 | 325 | 27.5 7 17 | R1/8 | 018 | 12

MPL12-02 | 325 | 295 9 17 | R1/4 | 018 | @12

MPL12-03 | 32.5 | 30 9.5 17 | R3/8 | 018 | 12

MPL12-04 | 325 | 32 11.5 21 | R1/2 | o18 | o012

MPL14-02 | 35 34 9 21 | R1/4 | ®21 | o014

MPL14-03 | 35 345 95 21 | R3/8 | ®21 | o014

MPL14-04 | 35 37 11.5 21 | R1/2 | o21 | o014

MPL14-06 | 35 39 13 27 | R3/4| 021 | o014

MPL16-02 | 35 34 9 21 | R1/4| 923 | @16

MPL16-03 | 35 34.5 9.5 21 | R3/8 | ®23 | o016

MPL16-04 | 35 37 11.5 21 | R1/2 | ®23 | @16

MPL16-06 | 35 39 13 21 | R3/4 | ©23 | o016

143



Metal Push-in Fittings Vileh

Pneumatic Fittings X

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

M P E L1 L2 D2 D2

Gt MPE4 35 17.5 o8 4
TE=@& MPE6 48 24 12 6

82) Union Tee ot MPES 53 26.5 014 o8
- MPE10 62 31 16 10

THT MPE12 65 32.5 018 12

L MPE14 74 37 21 14
MPE16 74 37 23 D16

X

me
M PD MODEL L1 L2 L3 S T D1 D2

- — MPD4-M5 | 17.5 | 18 175 36 | 8 | M5 8 4
TR BN =18 MPD4-01 | 17.5| 19.5| 17.5]| 7 10 | R1/8 | @8 4
83) MPD4-02 | 175[ 21.5| 17.5| 9 14 | R1/4| @8 o4
Branch Tee ) MPD6-M5 | 24 | 19 | 24 | 3.6 | 10 | M5 12 6
MPD6-01 | 24 | 22 | 24 | 7 10 | R1/8| o012 6
MPD6-02 | 24 | 24 | 24 | 9 14 | R1/4 | @12 6
MPD6-03 | 24 | 245 | 24 | 95 | 17 | R3/8| o12 6
MPD6-04 | 24 | 26.5| 24 | 115 21 | R1/2| o012 6
MPD8-M5 | 26.5 | 21 | 26.5| 3.6 | 12 | M5 014 | 08
MPD8-01 | 26.5| 23 | 265 7 12 | R1/8| o014 | o8
MPD8-02 | 26.5| 25 | 26.5| 9 14 | R1/4| ©14 | @8
MPD8-03 | 26.5| 255 26.5| 9.5 | 17 | R3/8| @14 | @8
MPD8-04 | 26.5 | 27.5| 26.5| 11.5| 21 | R1/2| o14 | @8

MPD10-01| 31 | 24 | 31 | 7 14 | R1/8| @16 | ©10

MPD10-02| 31 | 26 | 31 | 9 14 | R1/4 | @16 | ©10

MPD10-03| 31 | 28 | 31 | 95 | 17 | R3/8| @16 | ©10

MPD10-04| 31 | 30 | 31 | 11.5]| 21 | R1/2| ®16 | ©10

MPD12-01| 32.5 | 27.5 | 32.5| 7 17 | R1/8| @18 | o12

MPD12-02| 32.5 | 29.5 | 32.5| 9 17 | R1/4| ©18 | o12

MPD12-03| 32.5| 30 | 325| 95 | 17 | R3/8| @18 | o12

MPD12-04| 32.5| 32 | 325| 11.5]| 21 | R1/2 | o18 | 12

MPB % B

. MPB4-M5 | 35 18 3.6 8 M5 o8 4
o TRURN =18 MPB4-01 | 35 | 19.5 | 7 10 | R1/8| o8 o4
MPB4-02 | 35 215 [ 9 14 R1/4| o8 4

Branch Tee — MPB6-M5 | 48 19 3.6 10 M5 12 6
STl MPB6-01 48 22 7 10 R1/8 | @12 6

! MPB6-02 | 48 24 9 14 R1/4| ®12 6

H MPB6-03 | 48 245 | 95 17 R3/8| 12 6

MPB6-04 | 48 265 | 115 [ 21 R1/2| o012 6

1 >—— F | MPB8-M5 | 53 21 3.6 12 M5 D14 o8

MPB8-01 53 23 7 12 R1/8| o14 o8

b S T I MPB8-02 | 53 25 9 14 R1/4 | @14 o8

bt MPB3-03 53 255 | 95 17 R3/8| 14 o8

A MPB8-04 | 53 275 | 115 21 R1/2| o14 o8

Pl MPB10-01| 62 24 7 14 R1/8| 16 10

2-9D1 MPB10-02 | 62 26 9 14 R1/4| ®16 10

MPB10-03 | 62 28 9.5 17 R3/8| @16 10

MPB10-04 | 62 30 115 | 21 R1/2| @16 10

MPB12-01| 65 275 | 7 17 R1/8| 18 12

MPB12-02| 65 295 [ 9 17 R1/4| o018 D12

MPB12-03| 65 30 95 17 R3/8| o018 D12

MPB12-04| 65 32 115 | 21 R1/2| @18 12

144



ISO9001:2008 C€

MPU

Bi&
86) Union Straight

MPG

R EI=B ]
87 ) Diff.Diam.Union
Straight -

MPCF

) S g=p]
88 ) Bulkhead Female
Straight

;

s ad s

e
i

[
1 SRS g SO o

etal Push-in Connerto

Pneumatic Fittings

MPU4 30 o8 o4
MPUG 40 ®12 6
MPU8 43 ®14 Y
MPU10 48 ®16 10
MPU12 48 ®18 o12
MPU14 56 21 o14
MPU16 56 23 016
J)
s & b}
MPG6-4 35 ®12 06 o8 o4
MPG8-4 37 ®l4 o8 o8 o4
MPG8-6 415 ®14 08 012 o6
MPG10-4 39.5 °16 010 o8 o4
MPG10-6 | 42 16 010 12 o6
MPG10-8 | 455 ®16 ®10 o14 o8
MPG12-6 | 44 ®18 ®12 ®12 6
MPG12-8 |  46.5 018 ®12 o14 08
MPG12-10|  46.5 018 012 16 10

MPCF4-M5
MPCF4-01 | 24 10 8 12 | Rcl/8 | ©8 | o4

== ! MPCF4-02 | 26 12 10 17 | Rcl/4 | ©8 | o4
Tinlgi] MPCF4-03 | 26 13 105 | 19 | Rc3/8| @8 | o4
L MPCF6-M5| 255 | 7 5 12 | M5 ©12 | 06
MPCF6-01 | 295 | 85 | 8 12 | Rcl/8 | @12 |6

‘ MPCF6-02 | 315 | 12 10 17 | Rcl/4 | ©12 | o6
| MPCF6-03 | 32 13 105 | 19 | Rc3/8 | o12 | o6

1 i 1 MPCF6-04 | 33 14 12 24 | Rcl/2 | @12 | o6

1| i N MPCF8-01 | 315 | 85 | 8 14 | Rc1/8 | ®14 |®8
i BN MPCF8-02 | 335 | 12 10 17 | Rcl/4 | ©14 | @8
MPCF8-03 | 34 13 105 | 19 | Rc3/8 | @14 | @8

i MPCF8-04 | 35 14 12 24 | Rcl/2 | 014 |08

A 2 MPCF10-01] 325 | 85 | 8 17 | Rcl/8 | ®16 |®10
MPCF10-02] 35 11 10 17 | Rcl/4 | ®16 | @10

[ MPCF10-03| 355 | 13 105 | 19 | Rc3/8 | @16 | @10

[ MPCF10-04| 36.5 | 14 12 24 | Rcl/2 | ©16 |®10
MPCF12-01] 32 85 | 8 19 | Rcl/8 | ®18 |12

MPCF12-02| 35 11 10 19 | Rcl/4 | ®18 | o012

MPCF12-03| 355 | 13 105 | 19 | Rc3/8 | @18 | 012

MPCF12-04| 365 | 14 12 24 | Rcl/2 | 18 |12

145



Metal Push-in Fittings v‘mi,@
Pneumatic Fittings

VILOP PNEUMATIC CO., LTD
MPFL

Cylinder series/ Gas source series/ Valve series/ Other serises

MPFL4-M5| 17.5 15 5 8 M5 8 4
89) L BYOREY — 18 MPFL4-01 | 17.5 | 20 8 14 | Rc1/8 | ©10 | o4
MPFL4-02 | 175 22 9 17 Rcl/a | @10 | o4
Female Elbow L r—“_—j MPFL4-03 | 17.5 23 10.5| 19 Rc3/8 | ®12 | @6
| [ MPFL6-01 | 24 24 8 14 Rcl/8 | @12 | @6
4 | MPFL6-02 | 24 21 95 17 Rcl/4 | ©12 | @6
MPFL6-03 | 24 22 105 | 19 Rc3/8 | ®12 | o6
MPFL6-04 | 24 23 125 | 21 Rcl/2 | ®14 | o8
MPFL8-01 | 26.5 19 8 14 Rcl/8 | ®14 | o8
MPFL8-02 | 26.5 21 95 17 Rcl/a | 14 | o8
MPFL8-03 | 26.5 22 10.5 | 19 Rc3/8 | ©14 | @8
MPFL8-04 | 26.5 23 12.5 | 24 Rcl/2 | @14 | o8
MPFL10-01| 31 22 8 14 Rcl/8 | @16 | ®10
MPFL10-02] 31 25 95 17 Rcl/4 | ©16 | o10
MPFL10-03] 31 26 105 | 19 Rc3/8 | @16 | ©10
MPFL10-04] 31 27 125 | 24 Rcl/2 | ®16 | 10
MPFL12-01] 325 25 8 14 Rcl/8 | 18 | o12
MPFL12-02| 325 275 95 17 Rcl/d | ©18 | o12
MPFL12-03] 32.5 285 105 | 19 Rc3/8 | ©18 | o12
MPFL12-04| 325 29.5| 125| 24 Rcl/2 | ®18 | o12
~ 3 MPH4-M5 | 18 10 19 | 36 | 8 M5 o8 | o4
90) CIWAVSEE:-S3 MPH4-01 | 21 15 25 | 7 12 | R1/8 | o010 | o4
Universal Elbow MPH4-02 | 23 18 29 | 9 15 | R1/4 | ®10 | o4
MPH6-M5 | 22 11 19 | 36 | 8 M5 o12 | 6
MPH6-01 | 24 15 25 | 7 12 | R1/8 | ©12 | ®6
MPH6-02 | 25 18 29 | 9 15 | R1/4 | ©12 | @6
MPH6-03 | 27 20 33| 95 | 19 | R3/8 | @12 | @6
MPH6-04 | 29 225 | 36 | 115 | 22 | R1/2 | @12 | @6
MPH8-M5 | 26 12 19 | 36 | 12 | M5 ©14 | o8
E [ MPH8-01 | 26 15 25 | 7 12 | R1/8 | o014 | ©8
MPH8-02 | 27 138 29 | 9 15 | R1/4 | 014 | ©8
MPH8-03 | 29 20 33| 95 | 19 | R3/8 | @14 | @8
MPH8-04 | 31.5 | 22.5| 36 | 11.5| 22 | R1/2 | ®14 | ®8
MPH10-01 | 28 16 25 | 7 12 | R1/8 | 016 | ®10
MPH10-02 | 29 19 29 | 9 15 | R1/4 | ®16 | ®10
MPH10-03 | 31 20 33 [ 95 | 19 [ R3/8| @16 | @10
MPH10-04 | 31 225 | 36 | 115 | 22 | R1/2 | ®16 | 10
MPH12-01 | 29 17 25 | 7 12 | R1/8 | 018 | 012
MPH12-02| 30 20 29 | 9 15 | R1/4 | 018 | 012
MPH12-03| 32 21 33 | 95 | 19 | R3/8 | o18 | @12
MPH12-04 | 33 225| 36 | 115 | 22 | R1/2 | @18 | o12
M P M M%J?EL L1 12 M D1 D2
— MPM4 30 17.5 M10 x 1 8 4
IRIRE & MPM6 40 24 M14 x 1 012 o6
91) Bulkhead Union W =cc= MPM3 43 265 | Ml6x1 | 014 o8
) ST ) MPM10 48 31 M18x 1 16 10
= MPM12 48 32.5 M20 x 1 18 12
2 | MPM14 56 38 M22 x 1 21 14
14 MPM16 56 38 M24 x 1 23 16
C ]

146



ISO9001:2008 (€

MPY

YRI=@
UnionY

92)

,_
—t
L
Ges
e o
Ll

MSL

BRETIRE

94
) Speed Controllers

etal Push-in Connerto

Pneumatic Fittings

MPY8 50 14.5 D12 o8
MPY10 52 17 D14 @10
MPY12 58 20 D16 @12
M%J?EL L ok P2
MPZA4 30 o8 D4
MPZAG6 48 ®12 D6
MPZAS8 53 D14 o8
MPZA10 62 D16 @10
MPZA12 65 18 12
M%?ﬂ 11 L2 H s T D1 D2
MSL4-M5 18 10 3.6 8 M5 D8 D4
MSL4-01 2231 its 7 %24 R1/8 @10 D4
MSL4-02 23 18 9 15 R1/4 D10 4
MSL6-M5 22 iy 3.6 8 M5 D12 D6
MSL6-01 24 15 7 1.2 R1/8 D12 o6
MSL6-02 25 18 9 15 R1/4 D12 o6
MSL6-03 27 20 9.5 19 R3/8 @12 o6
MSL6-04 29 22.5 11.5 22 R1/2 D12 o6
= MSL8-M5 26 12 3.6 12 M5 D14 o8
MSL8-01 26 15 Vi 12 R1/8 D14 o8
MSL8-02 27 18 9 15 R1/4 D14 o8
MSL8-03 29 20 9.5 19 R3/8 14 o8
MSL8-04 SIS 22.5 IS5 22 R1/2 D14 o8
MSL10-01 28 16 i 1% R1/8 D16 ®10
MSL10-02 29 19 9 15 R1/4 D16 10
MSL10-03 24l 20 9.5 19 R3/8 D16 @10
MSL10-04 31 2272215 1545 22 R1/2 D16 10
MSL12-01 29 17 i 2 R1/8 D18 D12
MSL12-02 30 20 9 155} R1/4 D18 ®12
MSL12-03 32 241! 9.5 19 R3/8 D18 D12
MSL12-04 33 22.5 11.5 22 R1/2 D18 ®12

147



Pneumatic Cylinders - V-Series

A-Series Pneumatic Stainless
Steel Round Body Air Cylinders

The A-Series non-repairable stainless steel round body
cylinders includes bore sizes from 7/16” to 2” and stroke
lengths from 1/2” to 18” to meet a broad range of
applications. These high quality cylinders are constructed
with stainless steel bodies and double rolled-in high strength
aluminum end caps with full flow ports. To minimize friction the
inside of the cylinder body is polished to a mirror finish and all
cylinders are factory lubricated for optimum performance and
long, reliable life. The high strength aluminum alloy piston is
securely threaded and sealed to a piston rod that is ground
and roller burnished 303 stainless steel (7/16” and 9/16”
bores) or ground and polished high strength steel ( 3/4” — 2"
bores) with roll-formed threads for exceptional strength. Low
friction wear compensating Buna N U-cup rod and piston
seals, sintered bronze rod guide bushing (except 7/16” and
9/16" bores), and end caps with slots all combine for smooth
breakaway even at low pressures.

Operation

Single-acting cylinders with spring return have one compressed
air port to extend the rod in the “push” direction. The internal
spring retracts in the “pull” direction.

A AN
TN/ N\ /1
YA

Air Port | |

Single-Acting Cylinder with Spring Return
(Force in Push Direction)

Mounting Options

AN nut.

7\
\Illop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Features

« Interchangeable with other common brands of round body
cylinders

. Available bore sizes: 7/16”,9/16”, 3/4”,7/8”, 1-1/16", 1-1/4",
1-1/2", 2"

- Excellent selection of stroke lengths
- Single-acting (spring return) and double-acting models
« Nose, pivot and double-end mounting options

- Type 304 stainless steel body with high-strength aluminum alloy
end caps

« Factory lubricated for long, maintenance-free operation

+ 250 psi operating pressure

- Models available with magnetic piston for position indication
« Made in China

- 1-year warranty

Double-acting cylinders have two compressed air ports. One
of the ports will extend the rod in the “push” direction and the
other port will retract the rod in the “pull” directon.

Air Port | Air Port

Double-Acting Cylinder
(Force in Push and Pull Direction)

Nose mount uses one AMB bracket and one

Pivot mount uses one APB or one APBP bracket.

Double end mount uses two AMB brackets and
two AN nuts.

148



Cylinders - V-Series \l'in‘i:@

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Cylinder Features

High-strength alloy Low friction Buna N “U”
piston cup piston seal

Piston rod joint
threaded and sealed
for extra strength

NN

Double rolled
assembly

, Type 304 stainless

/ steel body

High strength aluminum
alloy endcaps

Low friction Buna N “U”
cup rod seal

Factory lubricated for long
maintenance-free operation

Sintered bronze rod guide
bushing (except 7/16” and
9/16” single acting)

High-strength roll- /

formed rod threads

High-strength steel or
stainless steel piston rod

149



®

A-Series Pneumatic Cylinders 7/16 inch Bore Vlirl\q:

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/16 in. Bore, Single-acting, Spring Return, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinder

7/16 inch bore;

#10-32 port;

Single acting;

Spring return;

Front nose mount.

Part no. V07020SN

Mount Style Bracket | Nut
Part Number Stroke Length (in.) “A” (in) Weight (Ibs) Front Nose Mount AMB-3 | AN-38-24*
VO07005SN 05 225 0.1 Rear Pivot Mount - -
VO7010SN 1.0 319 0.1 Front - -
V070155N 15 418 01 Double End Mount =~ -
VO07020SN 2 507 0.1 * (1) Nut included with cylinder
304 SS cylinder body 0.15 5. in. piston area See end of 7/16” bore section for Accessories
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 15.0 Ib. Spring force = 1 Ib. relaxed, 2 Ib. compressed
Dimensions 2o 1

[04.7]
inches [mm] 410-32 ﬁﬂhROD
UNF—2A

3/8-24 fE=T
MOUNT\NGJ
NUT

A

0.50
[12.7] ~ 031 019 30.49
{ - [7e] 48T} [812.4]

0.38 0.38 ¥ M\ 410-32
[#9.7] [9.7] PORT
PILOT

150



A-Series Pneumatic Cylinders 7/16 inch Bore v‘a’Dia

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/16 in. Bore, Single-acting, Spring Return, Rear Pivot Mount

Stainless steel
Interchangeable;
Non-repairable cylinden

7/16 inch bore;

round body;

Part no. V07020SP

#10-32 port;
Single acting;
Spring return;
Rear pivot mount (pivot pin included).

Cylinder, 7/16 in bore, single acting, spring return, rear pivot mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.) “A” (in) Weight (Ibs) Front Nose Mount AMB-3 AN-38-24
Vo7005SP 05 269 0.1 Rear Pivot Mount APB-1 -
V07010SP 1.0 363 0.1 Front | AMB-3 | AN-38-24
Vo7015SP 15 457 0.1 BB LI Rear | AMB-4 | AN-716-24
V07020SP 2 551 01 Cylinder rod clevis ARC-10-32

304 SS cylinder body

0.15 5. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High-strength carbon-steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 15.0 Ib.

Spring force = 1 Ib. relaxed, 2 Ib. compressed

Dimensions
inches [mm]

See end of 7/16” hore section for Accessories
Note: Drive pin out for double end mounting

$0.19
- I——[¢4.7]
ROD
#10-32__ "
UNF—2A
3/8-24 /1
UNF—2A
80.16 L
[24.0] ~ [0

0.44
0.50 [11.2] "= _0.25
[12.7] 0.31 [6.3] 0.3
| [~ [7.9] K [7.9] 7/16-20
gl s @ UNF—2A
]L—U” R 50,44 * 0.74
[#9.6] PORT 0.25 || p o7 .0-50 :
PILOT [6.3] [12.7]

151



A-Series Pneumatic Cylinders 7/16 inch Bore

7\
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/16 in. Bore, Double-acting, Front Nose Mount

Part no. V07020DN

Stainless steel
Interchangeable;
Non-repairable cylinder
7/16 inch bore;
#10-32 ports;

Double acting;

Front nose mount.

round body;

Cylinder, 7/16 in hore, double acting, front nose mount Mount Style Bracket | Nut

Part Number | Stroke Length (in.) “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20*
V07005DN 05 262 0.1 Rear Pivot Mount - -
Vo7010DN 1.0 312 0.1 Front - -
V070150N 15 362 01 RIS —— -
V070200N 20 412 0.1 * (1) Nut included with cylinder
V07030DN 30 512 0.1 Cylinder rod clevis ARC-10-32
VO07040DN 40 6.12 0.2 See end of 7/16” bore section for Accessories
VO07060DN 6.0 8.12 0.2

304 SS cylinder body

Specifications

0.15 5. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High-strength carbon-steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 15.0 Ib.

Retract force at 100 psi=13.8 Ib.

Dimensions
inches [mm]

®0.19

7
e

#10-32
UNF—2A
7/16-20
MOUNTING |
NUT |
|
|
\
|
|
A 4
il
0.19 L
[12.7] 072 [4.8] $0.74
i [18.3] [218.8]
= of—————— Be =
¢Q44J UL $0.49 0.38
[611.0] #10-32 [612.4] [9.7]
PILOT | |- 0.38 PORIT | |
[9.7] (BOTH ENDS)

152



A-Series Pneumatic Cylinders 7/16 inch Bore

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/16 in. Bore, Double-acting, Rear Pivot Mount

Part no. V07020DP

Stainless

steel
Interchangeable;
Non-repairable cylinden
7/16 inch bore;

#10-32 ports;
Double acting;
Rear pivot mount (pivot pin included).

round body;

Vilop

Cylinder, 7/16 in bore, double acting, rear pivot mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20
V07005DP 05 3.06 01 Rear Pivot Mount APB-1 -
Vo7010DP 1.0 356 0.1 Front | AMB-4 | AN-716-20
Vo7015DP 15 4.06 01 Double End WMount Rear | AMB-4 | AN-716-20
V07020DP 20 456 0.1 Cylinder rod clevis ARC-10-32
V07030DP 30 556 0.1 See end of 7/16” bore section for Accessories

304 SS cylinder body

0.15 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High-strength carbon-steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 15.0 Ib.

Retract force at 100 psi = 13.8 Ib.

Note: Drive pin out for double end mounting

. . $0.19
Dimensions @47 i
inches [mm] #10— 32
UNF—2A
7/16—20 -y
UNF—2A -
(BOTH ENDS) i
|
|
|
|
A $0.16
4.0 =0
0.72 0.44 <_[ Pll\]l
0.50 [18.3] [11.2] =
[127I*w = ] 025
i [
60,44 I 1 é%‘ $0.74
[#11.1] |._0.38 #10-32 [818.8]
PILOT [9.7] PORT 025

(BOTH ENDS)

(BOTH ENDS)

153



A-Series Pneumatic Cylinders 9/16 inch Bore Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

9/16 in. Bore, Single-acting, Spring Return, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

9/16 inch bore;

#10-32 port;
Single acting;
Spring return;
Front nose mount.

Part no. V09020SN
Cylinder, 9/16 in hore, single acting, spring return, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.) “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20*
V09005SN 05 234 01 Rear Pivot Mount - -
V09010SN 1.0 315 0.1 Front - -
V09020SN 20 a7t 02 Double End Mount = == §
V09030SN 3.0 6.39 02 * (1) Nut included with cylinder

304 SS cylinder body

Specifications

0.25 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High-strength carbon-steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 25.0 Ib.

Spring force = 2 Ib. relaxed, 4 Ib. compressed

Cylinder rod clevis ARC-10-32

See end of 9/16” bore section for Accessories

Dimensions oa
inches [mm] #10-32___~f ROD
UNF—2A
7/16-20
MOUNTING !
NUT |
|
|
|
|
|
|
|
A Ein
0.50 0.38 0.19
[12.7] [9.7] [4.8) 00.62
i _W | [915.7]
E@ —— ] %
80.44 050 T\ #10-32
[811.1] [12.7] PORT
PILOT

154



A-Series Pneumatic Cylinders 9/16 inch Bore

Vilop

®

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

9/16 in. Bore, Single-acting, Spring Return, Double End Mount

Part no. V09020SD

Stainless steel round body;
Interchangeable;

Non-repairable

9/16 inch bore;

#10-32 port;
Single acting;
Spring return;
Double end mo

cylinden

unt.

Cylinder, 9/16 in bore, single acting, spring return, double end mount Mount Style Bracket | Nut

Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20
V09005SD 05 262 0.1 Rear Pivot Mount APBP-2 -
V09010SD 10 343 0.1 Front | AMB-4 | AN-716-20
V09020SD 20 505 02 Double End Mount = = 64 | 71620
V09030SD 30 667 02 Cylinder rod clevis ARC-10-32

304 SS cylinder body

0.25 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High-strength carbon-steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 25.0 Ib.

Spring force = 2 Ib. relaxed, 4 Ib. compressed

See end of 9/16” hore section for Accessories

. : $0.19
Dimensions —| [24.7)
inches [mm] 410-32 ROD
UNF—2A
7/16-20 |
UNF—2A -
(BOTH ENDS) !
|
|
|
|
|
|
|
A 0.38
~[9.7]
0.50 0.38 0.1 9__|> 0,51
[12.7]]_ [9.7] [4.8] !t I_ (70]
90,44 o — o 90.16 L 90.62
[611.1] [94.0] [815.7]
PILOT .D.
(BOTH #1%5% 0.25 BUSHING
ENDS) (6.3 =

155



A-Series Pneumatic Cylinders 9/16 inch Bore ~ Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

9/16 in. Bore, Double-acting, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

9/16 inch bore;

#10-32 ports;

Double acting;

Front nose mount.

Part no. V09020DN

Cylinder, 9/16 in bore, double acting, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.),  “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20
V09005DN 05 278 01 Rear Pivot Mount - -
V09010DN 10 328 01 Front - -
V090200N 20 P 01 Double End Mount = == -
V09030DN 30 528 02 * (1) Nut included with cylinder
V09040DN 40 6.28 02 Cylinder rod clevis ARC-10-32
V09060DN 6.0 8.28 02 See end of 9/16” bore section for Accessories
Specifications
304 SS cylinder body 0.25 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) 20.19
Extend force at 100 psi = 25.0 b, Retractforce at 100 psi = 222 b, = [-[#4.7]
ROD
. . #10-32
Dimensions UNF—2A
inches [mm] 7/16=20 [,
MOUNTING
NUT

050 0.75 0.19
. : 0.62
[12.7] i‘_ [19.0] L« 8]“ [ [315.7]
- i e—— B
: #10-32 0.50
[211.1] 0.38 \—PORT [12.7]

PILOT ™ T[9.7] (BOTH ENDS)
156



A-Series Pneumatic Cylinders 9/16 inch Bore ~ Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

9/16 in. Bore, Double-acting, Double End Mount

Stainless steel round
body; Interchangeable;
Non-repairable cylinder,
9/16 inch bore;
#10-32 ports;

Double acting;

Double end mount.

Part no. V09020DD

Cylinder, 9/16 in bore, double acting, double end mount Mount Style Bracket |Nut

Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20*
Vv09005DD 05 306 01 Rear Pivot Mount APBP-2 -
va90100D 1.0 3.56 0.1 Front | AMB-4 | AN-716-20
V0902000 20 4.56 01 LG T Rear | AMB-4 | AN-716-20*
V090300D 30 5.6 02 * (2) Nuts included with cylinder
va90400D 40 6.56 02 Cylinder rod clevis ARC-10-32
V09060DD 6.0 8.56 02 See end of 9/16” hare section for Accessories

304 SS cylinder body

Specifications

0.25 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High-strength carbon-steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) ?0.19
Extend force at 100 psi = 25.0 Ib. Retract force at 100 psi = 22.2 Ib. [¢4'7]——| I‘_
ROD
Dimensions #10-32 :
UNF—2A

inches [mm]

7/16-20

MOUNTING NUT
(BOTH ENDS)

A
0.50
(12.7] 0.75
| [19.0]
80.44 4::%§ I —
[211.1] -
PILOT $10-32
(BOTH 0.38
ENDS) %38 (80TH ENDS)

ol




A-Series Pneumatic Cylinders 9/16 inch Bore ~ Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

9/16 in. Bore, Double-acting, Double End Mount, Magnetic Piston

Stainless steel round body;
Interchangeable;
Non-repairable cylinder
9/16 inch bore;

#10-32 ports; Double
acting; Double end

mount; Magnetic piston.

Part no. V09020DD-M

Cylinder, 9/16 in bore, double acting, LU EN TS O | Mount Style Bracket | Nut
Part Number Stroke Length (in.),  “A” (in) Weight (Ibs) Front Nose Mount AMB-4 | AN-716-20
Vo9010DD-M 1.0 356 0.1 Rear Pivot Mount APBP-2 -
Vv09020DD-M 20 456 0.1 Double End Mount Front | AMB-4 | AN-716-20*
V09030DD-M 30 556 02 Rear | AMB-4 | AN-716-20*
Vv09040DD-M 40 6.56 02 * (2) Nuts included with cylinder
V09060DD-M 6.0 8.56 02 Cylinder rod clevis ARC-10-32
See end of 9/16” bare section for Accessories
304 SS cylinder body 0.25 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) ?0.19
Extend force at 100 psi = 25.0 Ib. Retract force at 100 psi = 22.2 Ib. [¢4'7]_’| ~
ROD
Dimensions #1 0-32_~ ]
UNF—=2A

inches [mm)] 7/16-20

MOUNTING NUT
(BOTH ENDS)

A
0.50 _ 0.38
[12.7] 075 o019 | [ [9.7] 50.62
] | [19.0] [+8) 17 T 0157
80.44 EH Q- &t 20.16
(1111 T X [93.9] 0.31
FI;’”C_)gg 0.3 PORT 0.25 E?JSHING e
EZNDS) — (g7 (BOTH ENDS) (6.3 —

158



®

A-Series Pneumatic Cylinders 3/4 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

3/4 in. Bore, Single-acting, Spring Return, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinder,

3/4 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Front nose mount.

Part no. V12020SN

Cylinder, 3/4 in hore, single acting, spring return, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-5 | AN-12-20*
V12005SN 05 269 0.1 Rear Pivot Mount - -
V12010SN 1.0 319 02 Front - -
V12015SN 15 138 0 Double End Mount Rear - -
V12020SN 20 4.88 03 * (1) Nut included with cylinder
V12030SN 30 6.57 03 Cylinder rod clevis ARC-14-28
V12040SN 40 8.26 04 See end of 3/4” hore section for Accessories
V12050SN 5.0 9.95 05
V12060SN 6.0 11.64 0.6
Specifications
304 SS cylinder body 0.40 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)
Extend force at 100 psi = 40.0 Ib. Spring force = 3 Ib. relaxed, 6 Ib. compressed _’I l‘_Eb‘DO(Szf]
. . ROD
Dimensions 1 f4—28 ]l
inches [mm] UNF—2A
1/2-20
MOUNTING i
NUT |
|
|
|
|
|
|
|
A - S
0.44 0.19 e 20.81

112 [48y*1 ‘//F'[¢206]
o P ., 16, .

& 62
[12.7] [15.7] PORT

159



A-Series Pneumatic Cylinders 3/4 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

3/4 in. Bore, Single-acting, Spring Return, Rear Pivot Mount

Stainless  steel round body;
Interchangeable;

Non-repairable cylinden

3/4 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Rear pivot mount (pivot pin included).

Part no. V12020SP

Cylinder, 3/4 in hore, single acti i rn, rear pivot mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.))  “A” (in) Weight (Ibs) Front Nose Mount AMB5 | AN-12-20
V12005SP 05 813 02 Rear Pivot Mount APB-2 -
V12010SP 10 397 02 Front | AMB-5 |  AN-12-20
V120155P 15 482 03 Double End Mount " "1 g5 | avsets
V12020SP 20 566 03 Cylinder rod clevis ARC-14-28
V12030SP 30 7.35 04 See end of 3/4” bore section for Accessaries
V12040SP 40 9.04 05 Note: Drive pin out for double end mounting
V12050SP 50 1073 05
V12060SP 6.0 1242 06
304 SS cylinder body 0.40 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) — |<—[¢ ¢% 245]
Extend force at 100 psi = 40.0 Ib. Spring force = 3 Ib. relaxed, 6 Ib. compressed ROD
1/4-28___—"
Dimensions NP
1/2-20

inches [mm] UNF—2A !

I

I

' A
0.50 0.62
[12.7] 044 [15.7]

1/8 NPT 0.34’1
PORT  [8.6]

160



®

A-Series Pneumatic Cylinders 3/4 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

3/4 in. Bore, Double-acting, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

3/4 inch bore;

1/8 NPT ports;

Double acting;

Front nose mount.

Part no. V120200N

Cylinder, 3/4 in bore, double acting, front nose mount

Part Number | Stroke Length (in.)| “A” (in) Weight (Ibs) Mount Style Bracket | Nut
V120050N 05 347 02 Front Nose Mount AMB-6 | AN-58-18*
V12010DN 10 397 0.2 Rear Pivot Mount _ _
V120150N 15 447 03 ot | 2 -
V12020DN 20 497 03 Double End Mount |~ - -
V120300N 30 597 03 * (1) Nut included with cylinder
V120400N 40 6.97 03 Cylinder rod clevis ARC-14-28
V120500N 50 797 04 See end of 3/4” bore section for Accessories
V12060DN 6.0 8.97 04
V12080DN 8.0 10.97 05
V12100DN 10.0 12.97 05
V12120DN 12.0 14.97 06

Specifications
304 SS cylinder body 0.40 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-freg life
High-strength carbon-steel piston rod Pressure rating 250 psi ED¢062453
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) LT RO.D
Extend force at 100 psi = 40.0 Ib. Retract force at 100 psi = 35.1 Ib. &{é: %2 —
Dimensions 5/8-18 .
. MOUNTING Iy
inches [mm] NUT :
2 | |
0.50 0.97 0.19 @L 0.86
12.7 24.7 4.8 20.
(12717 _TD [ [247) [4.8] ] o8,
?0.62 E\_[ @"_'_'_'_'_'_'& ‘@ @
[¢15.8] /)
Lot _| | 050 1/8 NPT 0.62 &02'3_16]

PORT
12.7 15.7
[ ] (BOTH ENDS) [ ]

161



A-Series Pneumatic Cylinders 3/4 inch Bore

7 \°
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

3/4 in. Bore, Double-acting, Rear Pivot Mount

Part no. V12020DP

Stainless steel round body;
Interchangeable;

Non-repairable cylinden

3/4 inch bore;

1/8 NPT ports;

Double acting;

Rear pivot mount (pivot pin included).

- yllder, 3 | ore,ohl a, rear plvt u Mount Style Bracket | Nut
art Numoer roKe Len, n. n, el S,
gth (in.) (in) ght (1bs) Front Nose Mount AMB-6 AN-58-18
V120050P 05 425 02 -
V120100P 0 s 0 Rear Pivot Mount APB-2 -
V120200P 20 575 03 Double End Mount ———"">° | AH418
: ' : ouRle End HouM Rear | AMB-6 AN-58-18
V12030DP 30 675 03 PT———
ylinder rod clevis ARC-14-,
40 7.75 03
A See end of 3/4” bore section for Accessories
V120500P 50 875 04 Note: Drive pin out for double end mounting
V12060DP 6.0 9.75 0.4
V12080DP 8.0 1175 05
V12100DP 10.0 13.75 05
V12120DP 120 15.75 06
Specifications
304 SS cylinder body 0.40 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi — I__[Q3 Q? 6 2453
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) 1/4-28 ] ROD
Extend force at 100 psi = 40.0 Ib. Retract force at 100 psi = 35.1 Ib. UNF—=2A
. . 5/8-18 "\l
Dimensions UNF—24 T
. (BOTH ENDS) !
inches [mm] !
80.25 -,
[#6.3]
A PN
0.97 0.62 0.28
0.75
[24.6] [15.7] "[7.1] [15.0]
BI_@""_-_____-“ #0.86
I_ [#21.8]
0.50 1/8 NPT 0.38
[12.7] PORT __0.34 [9.7]
(BOTH ENDS) [8.6]

162



A-Series Pneumatic Cylinders 3/4 inch Bore \ﬁﬁi:

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

3/4 in. Bore, Double-acting, Rear Pivot Mount, Magnetic Piston

Stainless steel round body;
Interchangeable;

Non-repairable cylinder,

3/4 inch bore;

1/8 NPT ports;

Double acting;

Rear pivot mount (pivot pin included);
Magnetic piston.

Part no. V12020DP-M

Cylinder, 3/4 in bore, double acting, rear pivot mount, Magnetic Piston Mount Style Bracket | Nut
Part Number | Stroke Length (in.),  “A” (in) Weight (Ibs) Front Nose Mount AVB-6 AN-58-18
V12010DP-M L 475 02 Rear Pivot Mount APB-2 -
V12020DP-M 20 575 03 Font | AVB-6 AN-56-18
V12030DP-M 30 6.75 03 Double End Mount Rear | AMB-6 AN58-18
V12040DP-M 40 17 03 Cylinder rod clevis ARC-14-28
V120500P-M 50 875 04 See end of 3/4” hore section for Accessories
V12060DP-M 60 9.7 04 Note: Drive pin out for double end mounting
V12080DP-M 8.0 1.75 05
V12100DP-M 10.0 13.75 05
V12120DP-M 120 15.75 06
Specifications
304 SS cylinder body 0.40 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High-strength carbon-steel piston rod Pressure rating 250 psi 80.25
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) — l‘_[ggg ]
Extend force at 100 psi = 400 Ib. Retract force at 100 psi = 35.1 Ib. &{ll‘lzgf ——
Dimensions et
5
90.25 -,
[#6.3]
A SIINNEE
0.50 0.97 0.62 0.28 0.75
[12.7]“ [24.6] [15.7] "[7.1] [15.0]
0.62 EBI_@"_'_'_'_'__" N ¢0.86
[15.8] [#21.8]
PILOT — I. 0.50 1/8 NPT 0.38
(BOTH [12.7] PORT | 0.34 [9.7]
ENDS) (BOTH ENDS) [8.6]

163



A-Series Pneumatic Cylinders 7/8 inch Bore

7 \°
\hlop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/8 in. Bore, Single-acting, Spring Return, Front Nose Mount

Part no. V14020SN

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

7/8 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Front nose mount.

Cylinder, 7/8 in. hore, single actin n, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)  “A” (in) Weight (Ibs) Front Nose Mount AMB-6 | AN-58-18*
V14010SN 1.0 340 03 Rear Pivot Mount - -
V14020SN 20 496 04 Front - -
V14030SN 30 652 04 Double End Mount = == §
Specifications * (1) Nut included with cylinder
304 SS cylinder body 0.60 sq. in. piston area Cylinder rod clevis ARC-14-28
High strength aluminum end caps Pre-lubricated for maintenance-free life See end of 7/8” bore section for Accessories
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)
Extend force at 100 psi = 60.0 Ib. Spring force = 3 Ib. relaxed, 6 Ib. compressed
. . ?0.25
Dimensions —~| —lo6.4]
. ROD
inches [mm] !
1/4-28 /
UNF—=2A
5/8-18 |
MOUNTING '
NUT I
|
|
I
|
|
i
A ass
050 | . 050 0.19
[12.7] [12.7] [4.8] $0.93
[¢23.6]
ﬁ@ ---------------- i i} 0.62 L@>
30.62 ;
15.7 1/8 NPT
[215.7] e PORT
PILOT

164



A-Series Pneumatic Cylinders 7/8 inch Bore

Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/8 in. Bore, Single-acting, Spring Return, Rear Pivot Mount

Part no. V14020SP

Stainless steel round body;

Interchangeable;

Non-repairable cylinden

7/8 inch bore;
1/8 NPT port;
Single acting;
Spring return;

Rear pivot mount (pivot pin included).

Cylinder, 7/8 in bore, single acting, spring return, rear pivot mount Mount Style Bracket | Nut

Part Number Stroke Length (in.) “A” (in) Weight (Ibs) Front Nose Mount AMB-6 AN-58-18
V14010SP 1.0 403 03 Rear Pivot Mount APB-2 -
V14020SP 20 559 04 Front | AMB-6 AN-58-18
V14030SP 30 715 04 Double End Mount Rear | AMB-6 AN-58-18

304 SS cylinder body

0.60 sq. in. piston area

Specifications

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 60.0 Ib.

Spring force = 3 Ib. relaxed, 6 Ib. compressed

Dimensions
inches [mm]

Cylinder rod clevis ARC-14-28

See end of 7/8” bore section for Accessories
Note: Drive pin out for double end mounting

90.25
— [ [#6.4]
1/4-28 1] ROD
UNF—2A
5/8—18/
UNF—2A “.*L
(BOTH ENDS) :
#0.25 -
[6.3]
A PIN
0.62 0.28
0.75
[15.7] "[7.1] [15.0]
T i 20.86 -
[621.8]
1/8 NPT 0.38
PORT 0.34 [9.7]
(BOTH ENDS) [8.6]

165



A-Series Pneumatic Cylinders 7/8 inch Bore

7 \°
\hlop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/8 in. Bore, Double-acting, Front Nose Mount

Part no. V14020DN

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

7/8 inch bore;

1/8 NPT ports;

Double acting;

Front nose mount.

Cylinder, 7/8 in bore, double acting, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.),  “A” (in) Weight (Ibs) Front Nose Mount AMB-6 | AN-58-18*
V14010DN 1.0 394 03 Rear Pivot Mount - -
V14020DN 2.0 4.94 03 Front - -
V14030DN 30 594 03 e | - -
V14040DN 40 6.94 04 * (1) Nut included with cylinder

304 SS cylinder body

Specifications

0.60 sq. in. piston area

Cylinder rod clevis ARC-14-28
See end of 7/8” bore section for Accessories

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 60.0 Ib.

Retract force at 100 psi=155.1 Ib.

Dimensions
inches [mm]

0.25
——I I—[¢6.4]
ROD
1/4-28
UNF—-2A

5/8-18 B
MOUNTING
NUT

097 010 | $0.93 o
[24.6] [4.8] ] }‘ [#23.6]
I_“g_@ ____________ _-& 0.63 Ji
oo s .

(BOTH ENDS)

166



7/8 in. Bore, Double-acting, Double End Mount

Part no. V140200D

Cylinder, 7/8 in hore, double acting, double end mount

Stainless
Interchangeable;

Non-repairable cylinder
7/8 inch bore;
1/8 NPT ports;
Double acting;
Double end mount.

304 SS cylinder body

Part Number | Stroke Length (in.), “A” (in) Weight (Ibs)
v14010DD 1.0 456 04
v14020DD 20 5.56 04
v14030DD 30 6.56 04
V14040DD 40 7.56 04

Specifications

0.60 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 60.0 Ib.

Retract force at 100 psi=55.1 Ib.

Dimensions
inches [mm]

0.50

[12.7]“
=
J

$0.62
[815.8]
PILOT

(BOTH ENDS)

steel

MOUNTING NUT w
(BOTH ENDS)

12.7]

| 050 48 npr
[ PORT

(BOTH ENDS)

A-Series Pneumatic Cylinders 7/8 inch Bore

Vilo}

P

®

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

round body;
Mount Style Bracket | Nut
Front Nose Mount AVB-6 AN-58-18*
Rear Pivot Mount APBP-3 -
Front | AMB-6 AN-58-18*
Double End Mount
Rear | AMB-6 AN-58-18*

*(2) Nut included with cylinder
Cylinder rod clevis ARC-14-28

See end of 7/8” bore section for Accessories

#0.25

6.
e

1/4-28 _—

UNF—2A
5/8—18

©
o
0

(9.7]

$0.93
[823.6]

167



A-Series Pneumatic Cylinders 7/8 inch Bore

7\
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

7/8 in. Bore, Double-acting, Double end Mount, Magnetic Piston

Stainless  steel

Non-repairable
7/8
1/8 NPT ports;
Double acting;

Magnetic piston.

round body;

Interchangeable;

cylinden,

inch bore;

Double end mount;

Cylinder, 7/8 in bore, double acti GRO OIS ET SO0 | Mount Style Bracket | Nut
Part Number Stroke Length (in.)| “A” (in) Weight (Ibs) Front Nose Mount AMB-6 | AN-58-18
V140100D-M 1.0 456 04 Rear Pivot Mount APBP-3 -
V140200D-M 20 5.56 04 Front | AMB-6 | AN-58-18*
Double End Mount
V14030DD-M 30 6.56 0.4 Rear | AMB-6 AN-58-18*
V14040DD-M 40 7.56 04 * (2) Nuts included with cylinder
Specifications Cylinder rod clevis ARC-14-28
304 SS cylinder body 0.60 5q. in. piston area See end of 7/8” bore section for Accessories
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)
Extend force at 100 psi = 60.0 Ib. Retract force at 100 psi =55.1 Ib.
#0.25
. . 6.4
Dimensions s
. 1/4—-28 __—"
inches [mm] UNF—2A
5/8-18 '
MOUNTING NUT H
(BOTH ENDS) |
[
A
0.50 0.97 0.62 0.28 0.38
[12_7]“ [24.6] [15.7] . "[7.1] ‘_[9_7]
"ﬁg—@——___—ﬁ}gi 20.25
30.62 #6.3]
[¢15.8] J 0.50 4 /8 NPT HOLE $0.93
PILOT [12.7] PORT 0.34 [823.6]
(BOTH ENDS) (BOTH ENDS) ~ [8.6]

168



A-Series Pneumatic Cylinders 1-1/16 inch Vilop

VILOP PNEUMATIC CO., LTD

Bo re C}lﬁler;erlesf Gas source series/ Valve series/ O‘hér serISes
1-1/16 in. Bore, Single-Acting, Spring Return, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinden
1-1/16 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Front nose mount.

Part no. V17020SN

Cylinder, 1-1/16 in hore, single acting, spring return, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in) “A” (in) Weight (Ibs) Front Nose Mount AMB-6 | AN-58-18
V17010SN 1.0 350 03 Rear Pivot Mount - -
V17020SN 20 5.06 05 Front - -
V17030SN 30 662 05 Double End Mount ==~ §
Specifications * (1) Nut included with cylinder
304 SS cylinder body 0.90 sq. in. piston area Cylinder rod clevis ARC-516-24
High strength aluminum end caps Pre-lubricated for maintenance-free life See end of 1-1/16” bore section for Accessories
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)
Extend force at 100 psi = 90.0 Ib. Spring force = 3 Ib. relaxed, 6 Ib. compressed
. . 30.31
Dimensions -
inches [mm] ROD
5/16—24
UNF—=2A
5/8-18
MOUNTING |
NUT i
A - J‘ :
— > 019 = 4 4o
‘ ’—\[12 7] —'I [4.8] ’/— [#28.4]
=1 —-—-—-—-—-—&%
80.62 A
(#15.8] 0.88 1/8ng$
PILOT - 0.50 [22.4]

(BOTH ENDS)

169



A-Series Pneumatic Cylinders 1-1/16 inch Bore Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/16 in. Bore, Single-acting, Spring Return, Rear Pivot Mount

Stainless

1/8 NPT port;
Single acting;
Spring return;

steel
Interchangeable;
Non-repairable cylinden
1-1/16 inch bore;

round body;

Rear pivot mount (pivot pin included).

304 SS cylinder body 0.90 sg. in. piston area
High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi =90.0 Ib.

Spring force = 3 Ib. relaxed, 6 Ib. compressed

ng, spring return, rear pivot mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.) “A” (in) Weight (Ibs) Front Nose Mount AMB-6 AN-58-18
V17010SP 1.0 422 04 Rear Pivot Mount APB-2 -
V17020SP 20 578 05 Front | AMB-6 AN-58-18
V17030SP 30 734 06 Double End Mount = " s | mvsete

Cylinder rod clevis ARC-516-24
See end of 1-1/16” bore section for Accessories
Note: Drive pin out for double end mounting

: : 0.31
Dimensions [W'Q]T 005
inches [mm] 5/16_2500 /_[é.S]

UNF—2A ﬁﬂ%’;w
5/8—18/ :
UNF—2A |
(BOTH ENDS) |
$0.25 |
6.3 T
s o8z |- : Pm]l\%ﬁ
- 0. 15.7 0.28
[12.7] “ [7.1] ... 038
| R A RNl
=4 —fofe
$0.62
0.62 1/8 NPT 0.75
(1577 - / PORT [08364] [F>?L1c§)f8] [18.0]

170



A-Series Pneumatic Cylinders 1-1/16 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/16 in. Bore, Double-acting, Front Nose Mount

Stainless steel round body;
Interchangeable;

1-1/16 inch bore;

1/8 NPT ports;

Double acting;

Front nose mount.

Cylinder, 1-1/16 in hore, d i Mount Style Bracket | Nut
Part Number | Stroke Length (in.), “A” (in) Weight (Ibs) Price Front Nose Mount AMB-6 | AN-58-18"
V170050N 05 362 04 $19.50 Rear Pivot Mount - -
V17010DN 1.0 412 0.4 $20.00 Front - -
V170200N 20 512 04 sogo | |Double End Mount = -
V17030DN 30 6.12 05 $23.50 * (1) Nut included with cylinder
V170400N 40 712 05 $24.50 Cylinder rod clevis ARC-516-24
V17050DN 50 8.12 06 $26.50 See end of 1-1/16” bore section for Accessories
V17060DN 6.0 9.12 06 $28.00
V17080DN 8.0 11.12 0.7 $32.50
V17100DN 10.0 13.12 0.8 $35.00
V17120DN 120 15.12 09 $38.50
Specifications
304 SS cylinder body 0.90 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High Strength carbon steel piston rod Pressure rating 250 psi <rZ>O.3 1
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) l®7'9]
- - =|= ROD
Extend force at 100 psi = 90.0 Ib. Retract force at 100 psi = 82.3 Ib. 5/16—24 / .
. . UNF—=2A
Dimensions s/8-18 /11
inches [mm] MOUNTING 1
NUT 1

|

|

|

|

|

|

b
1.06 A
0.50 . 0.19 . ®$1.12
[12.7] ] [26.9] [4.8] ] [28.4]
E‘@—& ————————————— = 2
90.62 | | |._0.50 1/8 NPT 0.88
[615.7] [12.7] N—PORT [22.4]
PILOT (BOTH ENDS)

171



A-Series Pneumatic Cylinders 1-1/16 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/16 in. Bore, Double-acting, Rear Pivot Mount

Stainless steel round body;
Interchangeable;

1-1/16 inch bore;

1/8 NPT ports;

Double acting;

Rear pivot mount (pivot pin included).

Part no. V17020DP

Cylinder, 1-1/16 in bhore, double acting, rear pivot mount Mount Style Bracket | Nut

Part Number | Stroke Length (in.)  “A” (in) Weight (Ibs) Front Nose Mount AMB-6 AN-58-18
Vv17010DP 1.0 484 04 Rear Pivot Mount APB-2 -
V17020DP 20 5.84 04 Double End Mount Front | AMB-6 AN-58-18
V17030DP 30 6.84 05 Rear | AMB-6 AN-58-18
V17040DP 40 7.84 05 Cylinder rod clevis ARC-516-24
V17050DP 50 8.84 06 See end of 1-1/16” bore section for Accessories
V17060DP 6.0 9.84 06 Note: Drive pin out for double end mounting
V17080DP 8.0 11.84 0.7
V171000P 10.0 13.84 08
V17120DP 12.0 15.84 09

Specifications
304 SS cylinder body 0.90 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) [zg g]
Extend force at 100 psi =90.0 Ib. Retract force at 100 psi = 82.3 Ib. ROD 0.95
WRENCH
Dimensions 5/16-24__— 1 FLATS
. UNF—2A
inches [mm)] 5/8-18 P
UNF—2A

(BOTH ENDS)

90.25
1y
01 = 1.19 g 0.62 N
[(12.7] (30.2] (157] | | _ o028 0.38
: (7.1
| [7.1] [9.7]
0062 _FH-Of— — ey
[#15.8] [¢28 4]
PILOT 1/8 NPT : 0.75
(BoTH | 0.62 PORT 034 [19.0]
ENDS) [15.7] (8oTH ENDS) (8.6]

172



A-Series Pneumatic Cylinders 1-1/16 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/16 in. Bore, Double-acting, Rear Pivot Mount, Magnetic Piston

Stainless steel round body,
Interchangeable;

1-1/16 inch bore;

1/8 NPT ports;

Double acting;

Rear pivot mount;

Magnetic piston (pivot pin included).

Part no. V17020DP-M

Cylinder, 1-1/16 i ting, rear pivot mount, magnetic piston /(7 &7i7/ Bracket | Nut

Part Number | Stroke Length (in),  “A” (in) Weight (Ibs) Front Nose Mount AMB-6 AN-58-18
Vv17010DP-M 1.0 484 04 Rear Pivot Mount APB-2 -
V17020DP-M 2.0 5.84 04 Double End Mount Front ~ AMB-6 AN-58-18
V17030DP-M 3.0 6.84 0.5 Rear  AMB-6 AN-58-18
V17040DP-M 40 784 05 Cylinder rod clevis ARC-516-24
V17050DP-M 50 8.84 06 See end of 1-1/16” bore section for Accessories
V17060DP-M 6.0 9.84 06 Note: Drive pin out for double end mounting
V17080DP-M 8.0 11.84 07
V17100DP-M 100 13.84 08
V171200P-M 12.0 15.84 09

Specifications
304 SS cylinder body 0.90 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) [2(38]
Extend force at 100 psi = 90.0 Ib. Retract force at 100 psi = 82.3 Ib. RCD 0.25
WRENCH
Dimensions 5/16-24_— ¢ FLATS
. UNF—2A
inches [mm)] 5/8-18 P
UNF—2A

(BOTH ENDS)

[ 50]" ~ 1.19 g
12.7 : 15.7
L [30.2] [15.7]
w067 - —r
[215.8]
PILOT 1/8 NPT
(BOTH —f |- (1)'56§ PORT
ENDS) [15:7] (BoTH ENDS)

173



A-Series Pneumatic Cylinders 1-1/4 inch Bore v‘i'Dif

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/4 in. Bore, Single-acting, Spring Return, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinder
1-1/4 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Front nose mount.

Part no. V20020SN

Cylinder, 1-1/4 in bore, single acting, spring return, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-7 | AN-34-16%
V20010SN 10 447 06 Rear Pivot Mount - -
V20020SN 20 6.28 08 Front - -
V20030SN 30 809 0 Double End Mount = == -
Specifications * (1) Nut included with cylinder

Cylinder rod clevis ARC-716-20

304 SS cylinder body 1.2 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life See end of 1-1/4” hore section for Accessories
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)
Extend force at 100 psi = 120.0 Ib. Spring force = 7.5 1b. relaxed, 15 Ib. compressed.
?0.44
1 1 [211.1]
Dimensions ROD r 0 55
inches [mm] '
WRENCH
7/16-20_—" 11" plpts
UNF—2A
3/4—16
MOUNTING
NUT
A
0.75 0.88 0.25
[19.0] [22.4] [6.3] 81.34
1 / [934.0]
E==:i0) — )
[~
$0.75 X
0.88 1 /8 NPT
[#19.0]= || 0.25 [22.4 PORT
PILOT [6.3]

174



A-Series Pneumatic Cylinders 1-1/4 inch Bore V‘ED

®

P

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/4 in. Bore, Single-acting, Spring Return, Double End Mount

Stainless  steel

1/8 NPT port;
Single acting;
Spring return;

Part no. v20020SD

Interchangeable;
Non-repairable cylinden
1-1/4 inch bore;

round body;

Double end mount.

Cylinder, 1-1/4 in bore, single acting, spring return, double end mount Mount Style Bracket | Nut
Part Number | Stroke Length (in) “A” (in) Weight (Ibs) Front Nose Mount AMB-7 | AN-34-16*
V20010SD 10 519 07 Rear Pivot Mount APBP-4 -
V20020SD 20 7.00 1.0 Front | AMB-7 | AN-34-16*
V20030SD 30 8.81 1.2 B S Rear | AMB-7 | AN-34-16*
Specifications * (2) Nuts included with cylinder

304 SS cylinder body

1.2 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 120.0 Ib.

Spring force = 7.5 Ib. relaxed, 15 Ib. compressed

Cylinder rod clevis ARC-716-20
See end of 1-1/4” hore section for Accessories

?0.44

“eon L[

. . 0.38
Dimensions 7 /1620 ——WRENCH
inches [mm] UNF=2A

3/4-16
MOUNTING
NUT
(BOTH ENDS)
A
0.88 0.78
0.75 [22.4] (1e.8] 1 0.41 0.50
[19.0] [10.4] [12.7]
0.75 'E'g | f’:} 7 $0.25
[19.0] [#6.4] $1.34
PILOT HOLE FOR :
(BB$H Al o2s 178 neT_oar || HOEFER [234.0]
ENDS) [6.3] PORT  [10.4]

175



A-Series Pneumatic Cylinders 1-1/4 inch Bore v‘fl\q:®

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/4 in. Bore, Double-acting, Front Nose Mount

Part no. V20020DN

Stainless steel
Interchangeable;
Non-repairable cylinden
1-1/4 inch bore;

1/8 NPT ports;

Double acting;

Front nose mount.

round body;

Cylinder, 1-1/4 in bore, double acting, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in) “A” (in) Weight (Ibs) Front Nose Mount AMB-7 | AN-34-16*
V20010DN 10 5.00 07 Rear Pivot Mount - -
V20020DN 2.0 6.00 07 Front - -
V200300N 30 700 08 LITIGELLT) p—— -
V20040DN 40 8.00 0.9 * (1) Nut included with cylinder
V20050DN 50 9.00 10 Cylinder rod clevis ARC-716-20
V20060DN 6.0 100 11 See end of 1-1/4” bore section for Accessories
V20080DN 8.0 120 12
Specifications
304 SS cylinder body 1.2 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi [¢®101 41‘5
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) RCD
Extend force at 100 psi = 120.0 b Retract force at 100 psi = 105.0 b 0.38
WRENCH
. . 7/16-20 FLATS
Dimensions UNF—2A
. 3/4—16
inches [mm] MOUNTING
NUT
A
| 1.62 0.25 .
0.75 (41.1] " [6.3] 1.34
[19.0] [834.0]
| L
EHpr-ag————— — &t ’
— 0.88
[619.01-0.25 1/8 NPT [22.4]
PILOT [6.3] 0.88 PORT
[22.4] (BOTH ENDS)

176



A-Series Pneumatic Cylinders 1-1/4 inch Bore

1-1/4 in. Bore, Double-acting, Double End Mount

7 \°
\lllop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

Stainless steel round body;
Interchangeable;
Non-repairable cylinden
1-1/4 inch bore;
1/8 NPT ports;
Double acting;
Double end mount.
Part no. V20020DD
Cylinder, 1-1/4 in hore, double acting, double end mount Mount Style Bracket | Nut
Part Number | Stroke Length (in) “A” (in) Weight (Ibs) Front Nose Mount AMB-7 | AN-34-16*
v200100D 1.0 572 08 Rear Pivot Mount APBP-4 -
V20020DD 2.0 6.72 09 Double End Mount Front | AMB-7 AN-34-16*
ounlie ch oun
Vv20030DD 30 17.72 1.0 Rear | AMB-7 AN-34-16*
Vv20040DD 40 8.72 1.0 * (2) Nuts included with cylinder
V200500D 50 9.72 11 Cylinder rod clevis ARC-716-20
Vv20060DD 6.0 10.72 12 See end of 1-1/4” bore section for Accessories
V20080DD 8.0 12.72 14
V20100DD 10.0 14.72 15
v20120DD 120 16.72 17
Specifications
304 SS cylinder body 1.2:5q. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi 20.44
— [#11.1]
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) ROD I.
Extend force at 100 psi = 120.0 Ib. Retract force at 100 psi = 105.0 Ib. : S)V.I%?NCH
7/16-20 FLATS
Dimensions o
3/4-16 ‘
inches [mm] MOUNTING NUT )

0.75

(BOTH ENDS)

0.88

[22.4]

1.62 0.78

[19.0]

[41.1]

0.75

[19.0]
PILOT-
(BOTH
ENDS)

O J{Q %’z

1/8 NPT PORT
0.25 (BOTH ENDS)
[6.3]

0.41
[10.4]

0.41
0.50

[10.4] [157]

$0.25

[#6.4]

HOLE FOR

PIVOT PIN



®

A-Series Pneumatic Cylinders 1-1/4 inch Bore \fiﬁi:

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/4 in. Bore, Double-acting, Double End Mount, Magnetic Piston

Stainless steel round body;
Interchangeable;
Non-repairable cylinden
1-1/4 inch bore;

1/8 NPT ports;

Double acting;

Double end mount;

Magnetic piston.

Part no. V20020DD-M

Cylinder, 1-1/4 in bore, double acting, double end mount, magnetic piston Mount Style Bracket | Nut

Part Number | Stroke Length (in) “A” (in) Weight (Ibs) Front Nose Mount AMB-7 | AN-34-16*
V20010DD-M 1.0 572 08 Rear Pivot Mount APBP-4 -
V20020DD-M 2.0 6.72 0.9 Front | AMB-7 | AN-34-16*

Double End Mount
V20030DD-M 30 7.72 10 Rear | AMB-7 | AN-34-16*
V20040DD-M 40 8.72 10 * (2) Nuts included with cylinder
V200500D-mM 50 9.72 11 Cylinder rod clevis ARC-716-20
V20060DD-M 6.0 10.72 12 See end of 1-1/4” bore section for Accessories
V20080DD-M 8.0 12.72 14
Vv201000D-mM 10.0 14.72 15
Vv201200D-M 120 16.72 17
Specifications
304 SS cylinder body 1.2 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi [ ¢(Z)101' 41‘5
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) RCD I_O =5
Extend force at 100 psi = 120.0 Ib. Retract force at 100 psi = 105.0 Ib. | W.RENCH
7/16-20 / FLATS

. . UNF—2A
Dimensions 3/4-16
R MOUNTING NUT
inches [mm] (BOTH ENDS)

A
0.88
[22.4]

0.75 1.62 0.78 . 0.41 0.50
[19.0] [41.1] [19.8] [10.4] [1'2_7]
0.75 E@ B — %Q E $0.25

[19.0] [96.4]
PILOT 1/8 NPT PORT HOLE FOR
(BOTH 0.25 (BOTH ENDS) 0.41 PIVOT PIN
ENDS) [6.3] [10.4]

178



A-Series Pneumatic Cylinders 1-1/2 inch Bore v‘irl\q:

®

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/2 in. Bore, Single-acting, Spring Return, Front Nose Mount

Part no. V24020SN

Stainless steel round body;
Interchangeable;
Non-repairable cylinden
1-1/2 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Front nose mount.

Cylinder, 1-1/2 in bore, single acting, spring return, front nose mount Mount Style Bracket |Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-7 | AN-34-16*

V24010SN 1.0 413 0.7 Rear Pivot Mount - -
V24020SN 20 5.82 09 Front - -
V24030SN 30 751 11 Double End Mount = == -
V24040SN 40 9.20 13 * (1) Nut included with cylinder

V24050SN 50 10.89 15 Cylinder rod clevis ARC-716-20

V24060SN 6.0 12.58 18 See end of 1-1/2” bore section for Accessories

304 SS cylinder body

Specifications

1.7 sq. in. piston area

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 170.0 Ib.

Spring force = 7.5 Ib. relaxed, 14 Ib. compressed

#0.44

Dimensions
inches [mm]

[611.1]
ROD B 038
WRENCH
271620~ Wl RER

UNF—2A
3/4-16
MOUNTING
NUT

A
0.88 0.25 lif
[22.4] [GBT*] $1.56
[#39.6]
{% 0.88 J:
[22.4] 1/8 NPT
0.25 PORT
[6.3]

179



A-Series Pneumatic Cylinders 1-1/2 inch Bore v‘?l\q:

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/2 in. Bore, Single-acting, Spring Return, Rear Pivot Mount

Stainless steel round body;
Interchangeable;

Non-repairable cylinden

1-1/2 inch bore;

1/8 NPT port;

Single acting;

Spring return;

Rear pivot mount (pivot pin included).
Cylinder cannot be double end mounted.

Part no. V24020SP

Cylinder, 1-1/2 in hore, single acti ing return, rear pivot mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-7 AN-34-16
V24010SP 1.0 4.81 07 Rear Pivot Mount APB-3 -
V24020SP 20 6.50 09 Front - -
V24030SP 30 819 " Double End Mount = = -
V24040SP 40 9.88 13 Cylinder rod clevis ARC-716-20
V24050SP 5.0 157 16 See end of 1-1/2” bore section for Accessories
V24060SP 6.0 13.26 18
304 SS cylinder body 1.7 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-freg life
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) [ ¢¢101 41‘5
Extend force at 100 psi = 170.0 Ib. Spring force = 7.5 Ib. relaxed, 14 Ib. compressed ROD I. 038
WRENCH
Dimens gt S
Imensions
3/4-16
inches [mm] UNF—2A |
|
|
|
|
|
|
90.37 :

o oo [

®0.75
[¢19.0] — : 1/8 NPT
PILOT [6.3] PORT [12.7]

NOT 0.62
. THREADED [15.7]

il
N
5
|
|
|
o\ |
s
&

180



A-Series Pneumatic Cylinders 1-1/2 inch Bore V?Di:

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/2 in. Bore, Double-acting, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinder

1-1/2 inch bore;

1/8 NPT ports;

Double acting;

Front nose mount.

Part no. V24020DN

Cylinder, 1-1/2 in bore, double acting, front nose mount

Part Number | Stroke Length (in.) ‘A” (in) Weight (Ibs) Mount Style Bracket | Nut
z:z;:gx 12 ::53 82 Front Nose Mount AMB-7 | AN-34-16
: : ' Rear Pivot Mount - -
V240200N 20 569 09 —— - -
V24030DN 30 6.69 09 Double End Mount fear - -
V24040DN 40 7.69 10
V24050DN 50 869 11 * (1) Nut included with cylinder
: ' : Cylinder rod clevis ARC-716-20
. . 12
zijzgzgx 3 g 1906699 13 See end of 1-1/2” bore section for Accessories
V24080DN 8.0 11.69 13
V24090DN 9.0 12.69 14
V24100DN 10.0 13.69 15
V24110DN 11.0 14.69 16
V24120DN 12.0 15.69 1.7
Specifications
304 SS cylinder body 1.7 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-freg life 00,44
High strength carbon steel piston rod Pressure rating 250 psi [21 T.. 1]
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) ROD r_
- . 0.38
Extend force at 100 psi = 170.0 Ib. Retract force at 100 psi = 155.0 Ib.
7/ws—2o/ ﬁV&ETgCH
. . UNF—2A
Dimensions 3/4-16
. MOUNTING !
inches [mm] NUT foad
|
A |
1150 0.25 ‘
[?_978] [38.0] r [6.3]" L) 6156
. $39.6
i | 1 [ ]
$0.75 ) \ B
[#19.0]-0.25_| 178 NPT 0.88
PILOT [6.3] 0.88 [22_4]

[22.3] (BOTH ENDS)

181



A-Series Pneumatic Cylinders 1-1/2 inch Bore  Vfilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/2 in. Bore, Double-acting, Rear Pivot Mount

Stainless steel round body;
Interchangeable;

Non-repairable cylinden

1-1/2 inch bore;

1/8 NPT ports;

Double acting;

Rear pivot mount (pivot pin included).
Cylinder cannot be double end mounted.

Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Mount Style Bracket | Nut
V24010DP 10 538 08 Front Nose Mount AMB-7 AN-34-16
V24020DP 20 6.38 09 Rear Pivot Mount APB-3 -
V24030DP 30 7.38 10 Double End Mount Front - -
V24040DP 40 8.38 11 Rear - -
V24050DP 50 938 1.1 Cylinder rod clevis ARC-716-20
V24060DP 6.0 10.38 19 See end of 1-1/2” hare section for Accessories
V24070DP 70 11.38 13
V24080DP 80 12.38 14
V24090DP 90 13.38 15
V241000P 10.0 14.38 15
V24120DP 12.0 16.38 1.7
304 SS cylinder body 1.7 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi [ fﬂ' _41‘5 .

Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) ROD_I | 0.38

Extend force at 100 psi = 170.0 Ib. Retract force at 100 psi = 155.0 b. 7/16-20 WRENCH
UNF—2A FLATS

Dimensions e oe ~

inches [mm]

$0.37
A [#9.5]
PIN
L0 0.38
0.75 [38.1] 081 = F[9.7]
[19.0] [20.6] 61,56
| [839.6]
0.75 | }
0.25 NOT
— == 1/8 NPT
[Qg,ng] (6.3] .Lo.ss / PORT 0_50’1 | THREADED

(22.4] (gotH enps)  [127]

182



®

A-Series Pneumatic Cylinders 1-1/2 inch Bore v‘?ﬁp

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

1-1/2 in. Bore, Double-acting, Rear Pivot Mount, Magnetic Piston

Stainless steel round body;
Interchangeable;

Non-repairable cylinder

1-1/2 inch bore;

1/8 NPT ports;

double acting;

Rear pivot mount;

Magnetic piston (pivot pin included).

Part no. V240200P-M Cylinder cannot be double end mounted.
Cylinder, 1-1/2 in bhore, double acting, rear pivot mount, magnetic piston
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Mount Style Bracket | Nut

V24010DP-M 1.0 538 08 Front Nose Mount AMB-7 AN-34-16
V24020DP-M 20 6.38 09 Rear Pivot Mount APB-3 -

- Front - -
V24030DP-M 30 738 1.0 Double End Mount
V24040DP-M 40 8.38 1.1 Rear - -
V240500P-M 50 9.38 11 Cylinder rod clevis ARC-716-20
V24060DP-M 6.0 10.38 12 See end of 1-1/2” bore section for Accessories
V24070DP-M 70 11.38 13
V24080DP-M 8.0 12.38 1.4
V24090DP-M 90 13.38 15
V24100DP-M 10.0 14.38 15
V241200P-M 12.0 16.38 1.7
304 SS cylinder body 1.7 sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-freg life
High strength carbon steel piston rod Pressure rating 250 psi $0.44

icti i one oF [ o [811.1]
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) ROD_.I I‘ 058
Extend force at 100 psi =170.0 Ib. Retract force at 100 psi = 155.0 Ib. 7/16-20 WRENCH
UNF—2A FLATS
i i 3/4-16
Dimensions e
ot

inches [mm]

$0.37
A [#9.5]
PIN
— 58 0.38
0.75 [38.1] 081 7 [T[97]
[19.0] [20.6] ] 51 56
| | [#39.6]
i _'_'_'—;I@-{B-
20.75 | —
0.25 NOT
- 1/8 NPT
o noy [6.3] | o8 /BN .50 ‘ | THREADED

183



®

A-Series Pneumatic Cylinders 2 inch Bore  Vilop

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

2 in. Bore, Single-acting, Spring Return, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

2 inch bore;

1/4 NPT port;

Single acting;

Spring return;

Front nose mount.

Part no. V32020SN

Cylinder, 2 in bore, single acting, spring return, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-11 | AN-114-12
V32010SN 10 541 15 Rear Pivot Mount - -
V32020SN 20 741 19 Front - -
V32030SN 30 866 23 Double End Mount |~~~ -
Specifications \ Cylinder rod clevis ARC-12-20

304 SS cylinder body See end of 2” hore section for Accessories

High strength aluminum end caps

3.1 sq. in. piston area

Pre-lubricated for maintenance-free life

Pressure rating 250 psi
Temperature range -20°F to 200°F (-28 to 93°C)
Spring force = 15 Ib. relaxed, 30 Ib. compressed

High strength carbon steel piston rod

Low friction Buna-N seals
Extend force at 100 psi = 310.0 Ib.

90.62
. . [#15.9]
Dimensions rod | |
0.50
inches [mm] 1/2-20 |~ WRENCH
1 1/4—12/ i
UNF—2A !
A T
0.88 [30.2] [7.9]
[22.4] ﬁégz]
I P -
1 Y & 1.25
== 143
1.37 B T 1/4 NPT
[349] | — 038 PORT
PILOT (9.7]

(BOTH ENDS)

184



A-Series Pneumatic Cylinders 2 inch Bore

2 in. Bore, Single-actin

Part no. v32020SD

7 \N°
\Illop
VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

g, Spring Return, Double End Mount

Stainless steel round body;
Interchangeable;

Non-repairable cylinder,

2 inch bore;

1/4 NPT port;

Single acting;

Spring return;

Double end mount.

Cylinder, 2 in bore, single acting, spring return, double end mount Mount Style Bracket | Nut

Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-11 | AN-114-12
v32010SD 1.0 6.34 17 Rear Pivot Mount APBP-5 -
v320208D 20 8.34 21 Front | AMB-11 | AN-114-12
V32030SD 30 959 26 Double End WMount Rear | AMB-11 | AN-114-12

304 SS cylinder body

Specifications

Cylinder rod clevis ARC-12-20

3.1s0. in. piston area See end of 2” bore section for Accessories

High strength aluminum end caps

Pre-lubricated for maintenance-free life

High strength carbon steel piston rod

Pressure rating 250 psi

Low friction Buna-N seals

Temperature range -20°F to 200°F (-28 to 93°C)

Extend force at 100 psi = 310.0 Ib.

Spring force = 15 Ib. relaxed, 30 Ib. compressed

Dimensions
inches [mm]

$0.62
[#15.9]
ROD r_
0.50
1/2-20
WRENCH
UNF—2A < ELATS
1 1/4—12_/
UNF—2A

(BOTH ENDS)

A
[1.19] 1.03
0.88 30.2 [26.2] 0.44 0.75
[22.4] I I_[H.z] [ [1e:0]
A ——— i . (&
[#9.5] \

1.57 EBSHWG $2.08
34.9 | |.038 1/4 NPT :
[PH.OT]‘ [9.7] s [?'45_2]—-| — [052.8]

(BOTH ENDS)

185



®

A-Series Pneumatic Cylinders 2 inch Bore \ﬁl\op

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

2 in. Bore, Double-acting, Front Nose Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinden

2 inch bore;

1/4 NPT ports;

Double acting;

Front nose mount.

Part no. V32020DN

Cylinder, 2 in bore, double acting, front nose mount Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-11 | AN-114-12
V320100N 1.0 569 16 Rear Pivot Mount - -
V320200N 20 6.69 1.7 Front - -
Double End Mount
V320300N 30 769 19 Rear - -
V32040DN 40 8.69 20 Cylinder rod clevis ARC-12-20
V32050DN 50 9.69 22 See end of 2” bore section for Accessories
V32060DN 6.0 10.69 23
Specifications
304 SS cylinder body 3.1sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life
High strength carbon steel piston rod Pressure rating 250 psi
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C)
Extend force at 100 psi = 310.0 Ib. Retract force at 100 psi = 279.3 Ib.
20.62
Dimensions [o15]
. 0.50
inches [mm] 1 /2-20 WRENCH
UNF—2A FLATS
11/4-12 /
UNF—2A - |
. |
r{a
L 1.92 031 (N N
48.9 . -
0.88 [45.9] [7-9]"
[ 20. 4] $2.08
| [#52.8]
81.37 [09378]—» I—- 1/4 NPT
[934.9]- “7°__|1.19|__ PORT
PILOT [30.3] (BOTH ENDS)

186



A-Series Pneumatic Cylinders 2 inch Bore \ﬁaio@

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

2 in. Bore, Double-acting, Double End Mount

Stainless steel round body;
Interchangeable;
Non-repairable cylinder

2 inch bore;

1/4 NPT ports;

Double acting;

Double end mount.

Part no. V32020DD

Cylinder, 2 in bore, double acting, double end mount Mount Style Bracket | Nut

Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-11 | AN-114-12
V32010DD 1.0 6.62 18 Rear Pivot Mount APBP-5 -
V32020DD 20 7.62 19 Front |  AMB-11 AN-114-12
V32030DD 30 8.62 2.1 DN Rear | AMB-11 AN-114-12
V3204000 40 962 22 Cylinder rod clevis ARC-12-20
V32050D0D 5.0 10.62 24 See end of 2” bore section for Accessories
V32060DD 6.0 11.62 25
V32070DD 70 12.62 27
V32080DD 8.0 13.62 28
v321000D 10.0 15.62 31
V3212000 12.0 1762 34
V321400D 14.0 19.62 37
Vv321600D 16.0 21.62 40
V32180DD 18.0 23.62 43

[#15.9]

304 SS cylinder body 3.1sq. in. piston area
High strength aluminum end caps Pre-lubricated for maintenance-free life 1/2-20
High strength carbon steel piston rod Pressure rating 250 psi UNF—2A
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) 1 l‘Jﬁ:: ;i
Extend force at 100 psi = 310.0 Ib. Retract force at 100 psi = 279.3 Ib. (BOTH ENDS)
Dimensions

inches [mm]

A
,[1.92],
48.8 1.03
5% oo
_GD'_'_'_'_' D
\ N
0137 \
0.38
[#34.9] — 1/4 NPT
por= 071 |1 qe| PORT [Cl)fg]
(BOTH ENDS) [30.2] (BOTH ENDS) :

187



®

A-Series Pneumatic Cylinders 2 inch Bore V?Di:

VILOP PNEUMATIC CO., LTD

Cylinder series/ Gas source series/ Valve series/ Other serises

2 in. Bore, Double-acting, Double End Mount, Magnetic Piston

Stainless steel round body;
Interchangeable;
Non-repairable cylinder,
2 inch bore;

1/4 NPT ports;

Double acting;

Double end mount;

Part no. V32020DD-M Magnetic piston.
Cylinder, 2 in bore, double acting, double end mount, magnetic piston Mount Style Bracket | Nut
Part Number | Stroke Length (in.)|  “A” (in) Weight (Ibs) Front Nose Mount AMB-11 | AN-114-12
V32010D0D-M 10 6.62 18 Rear Pivot Mount APBP-5 -
V320200D-M 20 762 19 Double End Mount Front | AMB-11 | AN-114-12
Vv32030DD-M 30 8.62 21 oubie Ena Moun Rear | AMB-11 AN-114-12
V32040DD-M 40 9.62 2.2 Cylinder rod clevis ARC-12-20
V32050DD-M 50 10.62 24 See end of 2” bore section for Accessories
V32060DD-M 6.0 11.62 25
V32070DD-M 70 1262 2.7
V32080DD-M 8.0 13.62 28
V32100DD-M 100 15.62 31
V32120DD-M 120 1762 34
V32140DD-M 140 19.62 37
V32160DD-M 16.0 2162 40
V32180DD-M 18.0 23.62 43
Specifications 00.62
304 SS cylinder body 310 sq. in. piston area [#15.9]
High strength aluminum end caps Pre-lubricated for maintenance-free life 1 /220
High strength carbon steel piston rod Pressure rating 250 psi UNF—2A
Low friction Buna-N seals Temperature range -20°F to 200°F (-28 to 93°C) 1 :J{l ‘;:;i
Extend force at 100 psi = 310 Ib. Retract force at 100 psi=279.3 Ib. (BOTH ENDS)
Dimensions
inches [mm]
A I} |
L45.4]
48. 1.03
[gﬁ] “ [26.2]
- |
et ————@
\
$1.37 L
[634.9] [%378]—— 1/4 NPT .
piLoT— 19| PORT [14.2] .
(BOTH ENDS) [30.2] (BOTH ENDS) ‘ BUSHING

188



Vilo

P

Let's make the machine automatic!

Contact us!

X sales@viloppneumatic.com

Xingye Avenue No.1, East 3rd Road
Panyu, GZ, GD China

& +86-186 2010 7348(Whatsapp)




	EN2.0
	0-1
	0-2
	Catelogs-Content

	DNC-1
	ADN-7
	TADN-12
	DN-15
	MA-21
	MAC-26
	MAL-29
	MALC-34
	TN-38
	CXS-42
	MGP-44
	SC,SU-49
	SDA-56
	CQ2-64
	TCQ2-82
	MSQ-85
	Grippers-89
	4V100-91
	4V200-95
	4V300-100
	4V400-105
	GC-108
	AL-110

	组合 1
	组合 2
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20


	AMRICAN CATALOG.pdf
	1
	Cylinders - A-Series

	2
	07.pdf
	07
	A07-DN
	A07-DP
	A07-SN
	A07-SP


	09.pdf
	09
	A09-SN
	A09-SD
	A09-DN
	A09-DD
	A09-DDM


	12.pdf
	12
	A12-SN
	A12-SP
	A12-DN
	A12-DP
	A12-DPM


	14.pdf
	14
	A14-SN
	A14-SP
	A14-DN
	A14-DD
	A14-DDM


	17.pdf
	17
	A17-SN
	A17-SP
	A17-DN
	A17-DP
	A17-DPM


	20.pdf
	20
	A20-SN
	A20-SP
	A20-DN
	A20-DD
	A20-DDM


	24.pdf
	24
	1-1-2 A24_部分1
	1-1-2 A24_部分2
	1-1-2 A24_部分3
	1-1-2 A24_部分4
	1-1-2 A24_部分5


	32.pdf
	32
	2 A32_部分1
	2 A32_部分2
	2 A32_部分3
	2 A32_部分4
	2 A32_部分5






